
Hardware, 
Covers & General

1758



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1759

DESCRIPTION FITMENT KNURLED PART # SUG. RETAIL SMOOTH PART # SUG. RETAIL
FOR BIG TWIN
Complete motor set 07‑16 FLHT/​FLHR/​FLHX/​FLTR 2401‑0764 $219.95 2401‑0765 $250.95
Complete motor set 07‑17 FXST/​FLST/​FXD 2401‑0762 211.95 2401‑0763 242.95
Complete motor set 06 FXD 2401‑0760 211.95 2401‑0761 247.95
Complete motor set 87‑94 FXR/​FLT DS‑190870 156.95 DS‑190870S 198.95
Complete motor set 89‑93 FXST/​FLST DS‑190869 183.95 DS‑190869S 213.95
Complete motor set 87‑88 FXST/​FLST ‑ ‑ DS‑190814S 145.95
Cam, primary, trans., inspection, derby cover set 89‑93 FXST/​FLST; 91‑93 Dyna DS‑190873 55.95 DS‑190873S 76.95
Cam, primary, trans., inspection, derby cover set 87‑88 FXST/​FLST DS‑190819 44.95 DS‑190819S 64.95
Cam, primary, trans., inspection, derby cover set 87‑94 FXR DS‑190818 49.95 DS‑190818S 69.95
Cam, primary, trans., inspection, derby cover set 84‑86 FLT; 84‑86 FXR/​FXRS DS‑190758 32.95 DS‑190758S 61.95
Cam cover set 99‑17 Twin Cam ‑ ‑ DS192396 33.95
Cam cover set 93‑99 Evolution Big Twin DS‑190398 17.95 DS‑190398S 21.95
Cam cover set 87‑92 Big Twin DS‑190866 16.95 DS‑190868 21.95
Derby cover set (button‑head Torx) 99‑17 Big Twin ‑ ‑ 2401‑0768 16.95
Derby, inspection and primary covers 89‑98 FXST/​FLST; 93‑98 FXDWG  

(inner and outer covers) DS‑190879 55.95 DS‑190879S 64.95
Engine case set 99‑04 Twin Cam ‑ ‑ DS192398 265.95
Front fork drain 84‑17 w/ 41mm tubes DS‑190710 5.95 ‑ ‑
Handlebar clamp (not pullbacks) 11/4” L 84‑17 models DS‑190717 6.95 DS‑190717S 9.95
Handlebar lever mount and master cylinder cover 96‑14 Big Twin (except 08‑14 Dressers) DS‑190716 28.95 ‑ ‑
Handlebar lever mount switch housing  
  and master cylinder cover 84‑95 models DS‑190720 18.95 ‑ ‑
Kicker cover 85‑86 FX/FL DS‑190741 12.95 DS‑190741S 18.95
Lifter base bolt kit 99‑17 Twin Cam ‑ ‑ DS192397 27.95
Lifter base bolt kit 84‑99 Big Twin Evolution DS‑190680 11.95 ‑ ‑
Motor mount set 91‑98 Dyna Glide, 91‑99 Softail DS‑190880 25.95 DS‑190880S 27.95
Oil pump socket‑head plug set 84‑94 FX/FL DS‑190783 26.95 ‑ ‑
Point cover set (button head) 84‑99 Big Twin Evolution DS‑190871 4.95 ‑ ‑
Primary cover set 07‑16 FLHT/​FLHR/​FLHX/​FLTR 2401‑0771 69.95 2401‑0772 78.95
Primary cover set 07‑17 FXST/​FLST/​FXD  

(except FXCW/C, FXSB/SE) 2401‑0769 62.95 2401‑0770 70.95
Rocker box mount w/ washers 84‑99 Big Twin Evolution DS‑190813 18.95 DS‑190813S 23.95
S&S Super‑B air cleaner and carb S&S carbs DS‑190795 8.95 ‑ ‑
Side cover set 07‑16 FLHT/​FLHR/​FLHX/​FLTR 2401‑0775 118.95 2401‑0776 136.95
Side cover set 07‑17 FXST/​FLST/​FXD 2401‑0773 110.95 2401‑0774 127.95
Triple tree pinch bolts FX 85‑E87 DS‑190743 7.95 ‑ ‑
Transmission mount (button head style) 89‑95 FXST/​FLST ‑ ‑ DS‑190373 27.95
Transmission side cover 87‑06 Big Twin DS‑190382 32.95 DS‑190382S 41.95
Transmission side cover 80‑86 Big Twin ‑ ‑ DS‑190394S 18.95
Transmission top cover 87‑99 Big Twin ‑ ‑ DS‑190395S 18.95
Transmission end cover and bearing support plate 89‑06 FXST/​FLST; 93‑05 FXDWG DS‑190881 39.95 DS‑190881S 43.95
 

CHROME SOCKET-HEAD BOLT SETS
•Socket-head bolt sets to meet virtually any custom need
•Complete motor sets for 07 and later Big Twin include bolts for primary, cam, cam sensor, derby, rocker box, transmission top, 
transmission side, lifter block and clutch covers

•Complete motor sets for 87-94 Big Twin include bolts for cam, primary, point, clutch, inspection and chain covers, lifter base,  
inner primary, top front and rear motor mounts, timing plug and header mount screws

•Complete motor sets for 04 and later XL include bolts for primary, cam, derby, lifter block, points cover, rocker box and engine case
•Complete motor sets for 86-03 XL include bolts for cam, primary, generator, sprocket, rocker box, top motor mount, lifter base, 
point or magneto cover

•Available in both knurled and smooth polished head styles
•Made in the U.S.A.

CHROME SOCKET-HEAD BOLT SETS continued on next page

2401‑0768 2401‑0770 2401‑0774



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1760

DESCRIPTION FITMENT KNURLED PART # SUG. RETAIL SMOOTH PART # SUG. RETAIL
FOR BIG TWIN
Complete motor set 07‑17 FXST/​FLST/​FXD 2401‑0562 $259.95 2401‑0563 $294.95
Complete motor set 07‑16 FLHT/​FLHR/​FLHX/​FLTR 2401‑0564 273.95 2401‑0565 301.95
Primary cover set 07‑17 FXST/​FLST/​FXD 2401‑0568 71.95 2401‑0569 78.95
Primary cover set 07‑16 FLHT/​FLHR/​FLHX/​FLTR 2401‑0570 74.95 2401‑0571 84.95
Cam cover set 99‑17 Twin Cam 2401‑0572 34.95 2401‑0573 42.95
FOR XL
Complete motor set 04‑17 XL 2401‑0566 253.95 2401‑0567 296.95
Primary cover set 04‑17 XL 2401‑0574 53.95 2401‑0575 64.95
Cam cover set 04‑17 XL 2401‑0576 44.95 2401‑0577 53.95
 

BLACK CHROME SOCKET-HEAD BOLT SETS
•Black chrome socket-head bolt sets, available in either knurled or smooth polished head styles
•Complete motor sets for Big Twin include bolts for primary, cam, cam sensor, derby, rocker box, transmission top, 
transmission side, lifter block and clutch covers

•Complete motor sets for XL include bolts for primary, cam, derby, lifter block, points cover, rocker box and engine case
•Made in the U.S.A.

2401‑0562 2401‑0565 2401‑0567

CHROME SOCKET-HEAD BOLT SETS (CONT)

2401‑0767

2401‑0778 2401‑0779 2401‑0780 2401‑0782 2401‑0783 2401‑0786

DESCRIPTION FITMENT KNURLED PART # SUG. RETAIL SMOOTH PART # SUG. RETAIL
FOR XL
Complete motor set 04‑17 XL 2401‑0766 $205.95 2401‑0767 $248.95
Complete motor set 91‑03 XL DS‑190874 247.95 DS‑190874S 282.95
Complete motor set 86‑90 XL DS‑190805 68.95 DS‑190805S 99.95
Cam, crankcase, sprocket cover and  
  rear master cylinder mount 91‑03 XL ‑ ‑ DS‑190878S 64.95
Cam, primary, sprocket cover and oil check screw 86‑90 XL DS‑190798 22.95 DS‑190798S 39.95
Cam cover set 04‑17 XL 2401‑0777 40.95 2401‑0778 47.95
Cam cover set 91‑03 XL DS‑190768 33.95 DS‑190768S 40.95
Cam cover set 86‑90 XL DS‑190875 13.95 ‑ ‑
Derby cover set (button‑head Torx) 04‑17 XL ‑ ‑ 2401‑0779 25.95
Handlebar clamp (not pullbacks) 11/4” long 86‑17 models DS‑190717 6.95 DS‑190717S 9.95
Handlebar lever mount and master cylinder cover 96‑03 XL DS‑190716 28.95 ‑ ‑
Handlebar lever mount switch housing  
  and master cylinder cover 86‑95 models DS‑190720 18.95 ‑ ‑
Lifter block kit 04‑17 XL 2401‑0780 13.95 2401‑0781 16.95
Motor mount set 91‑03 XL ‑ ‑ DS‑190877S 99.95
Point cover set (button‑head Torx) 04‑17 XL 2401‑0782 9.95 ‑ ‑
Point cover set (button‑head) 86‑03 XL DS‑190871 4.95 ‑ ‑
Primary cover set 04‑17 XL 2401‑0783 47.95 2401‑0784 57.95
Primary, sprocket cover and shifter 91‑03 XL DS‑190863 46.95 DS‑190863S 61.95
Rocker box mount w/ washers 86‑03 XL DS‑190813 18.95 DS‑190813S 23.95
Side cover set 04‑17 XL 2401‑0785 100.95 2401‑0786 116.95
Triple tree pinch bolts 86‑E87 XL DS‑190743 7.95 ‑ ‑
 



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1761

PART # DESCRIPTION SUG. RETAIL
FOR BIG TWIN MODELS
DS‑189995 Cam cover, 84‑99 (except Twin Cam) $22.95
DS‑189920 Motor case stud kit, 84‑99  

(except Twin Cam) 65.95
DS‑189831 Primary cover kits, 84‑86 45.95
 

PART # DESCRIPTION SUG. RETAIL
FOR BIG TWIN MODELS (CONT)
DS‑189860 Kicker cover for long studs, 85‑86 $24.95
FOR 09‑16 FLT MODELS
2401‑0909 Knurled 24.95
2401‑0910 Smooth 28.95
 

CHROME ACORN 
HARDWARE AND MOTOR  
MOUNT BOLT KITS
•Individual chrome acorn bolt and nut 
sets for specific applications

•Bolt kits include chrome-plated head 
allen screws, nuts and washers

DS‑189860

DS‑189920

DESCRIPTION APPLICATION
STAINLESS 
STEEL

SUG. 
RETAIL

CHROME 
STEEL

SUG. 
RETAIL

Motor set 07-17 FXST/​FLST - - 2401-0282 $162.95
Motor set 00-06 FXST/​FLST DS189370 $118.95 DS175000 144.95
Motor set 87-99 FXST/​FLST DS189018 146.95 DS189019 162.95
Motor set 07-17 FXD - - 2401-0281 184.95
Motor set 99-05 FXD - - DS175001 168.95
Motor set 07-08 FLT - - 2401-0283 183.95
Motor set 99-06 FLHT/​FLHR DS189372 135.95 DS175002 164.95
Motor set 91-98 FLT/​FXR DS189014 190.95 DS189015 162.95
Motor set 87-90 FLT/​FXR DS189016 123.95 - -
Motor set 84-86 FLT/​FXR - - DS189021 137.95
Side cover set 07-17 FXST/​FLST - - 2401-0275 87.95
Side covers, 
  cam, primary  
  w/ derby, outer  
  and transmission  
  covers 07-17 FXD - - 2401-0298 83.95
Side covers, cam,  
  primary w/ derby 
  and transmission 
  covers 07-16 FLT - - 2401-0297 86.95
Side cover set 00-06 FXST/​FLST - - DS175003 80.95
Side cover set 99-06 FLHT/​FLHR - - DS175005 80.95
Cam cover 99-17 Twin Cam - - DS175006 26.95
Primary set 00-06 FXST/​FLST, 

99-05 FXD DS189377 30.95 DS175007 36.95
Primary and  
  derby covers

06-17 FXD,  
07-17 FXST/​FLST - - 2401-0299 35.95

Primary and  
  derby covers 07-16 FLT - - 2401-0278 45.95
Primary set 99-06 FLHT/​FLHR DS189378 25.95 DS175008 34.95
Primary set 91-99 FXST/​FLST, 

91-98 FXD DS189379 29.95 DS175009 32.95
 

DESCRIPTION APPLICATION
STAINLESS 
STEEL

SUG. 
RETAIL

CHROME 
STEEL

SUG. 
RETAIL

Belt  
  sprocket bolts

07-17 FXST/​FLST/​
FXD/​FLT models 
requiring  
25/8” L bolts - - 2401-0307 $24.95

Belt  
  sprocket bolts

00-06 FXST/​FLST, 
00-05 FXD - - DS175011 19.95

Motor case 99-06 FLHT/​
FLHR/​FXD - - DS175016 29.95

Motor case 96-99 80”  
Big Twin - - DS-175028 33.95

Motor case L84-95 80”  
Big Twin - - DS-175029 43.95

Motor mount kit    
  (top, front and  
  rear post) 07-17 FXST/​FLST - - 2401-0280 81.95
Rocker box bolts 99-16 Twin Cam - - DS175021 25.95
Switch  
  housing bolts

96-17 Evo Twin 
Cam, Evo Big 
Twin, XL DS189390 $10.95 DS175022 16.95

Lifter base bolts 99-17 Twin Cam - - DS175023 22.95
Point cover bolt 99-17 Twin Cam - - DS175025 9.95
Timing 79-99 80”  

Big Twin - - 2401-0286 3.95
Transmission  
  side cover bolts 07-17 FXST/​FLST - - 2401-0276 33.95
Transmission  
  side cover bolts 07-16 FLT - - 2401-0277 30.95
Transmission  
  top cover w/  
  sensor mount 07-17 FXST/​FLST - - 2401-0303 11.95
 

BOLT KITS
•Kits feature polished stainless steel or polished chrome steel socket-head bolts
•Motor sets include cam cover, primary cover, transmission side cover, oil hose cover, 
lifter base, rocker box, front inner primary, washer, motor and transmission mount bolts

•Side cover sets include cam, primary, oil hose cover and transmission side cover
•Primary sets include primary, inspection and derby covers
•Made in the U.S.A.

PART # APPLICATION FASTENER TYPE SUG. RETAIL
COMPLETE MOTOR
DS-189712 For 99-06 FLT Polished chrome socket-head $202.95
DS189743 For 00-06 FXST/​FLST Polished chrome socket-head 245.95
DS-189710 For 99-05 Dyna Polished chrome socket-head 211.95
2401-0101 For 04-06 XL Polished chrome socket-head 184.95
CAM COVER
DS-189714 For 99-16 FLT, 99-17 Dyna, 00-17 FXST/​FLST Polished socket-head 17.95
UPPER AND LOWER MOTOR MOUNT
2401-0114 For 84-99 FXST/​FLST Chrome hex head 45.95
PRIMARY COVER
DS-189727 For 99-06 FLT Polished chrome socket-head 31.95
DS-189748 For 91-05 Dyna Polished chrome socket-head 50.95
FRONT BRAKE CALIPER
2401-0123 For 00-07 Big Twin (except Springer), 00-03 XL Knurled chrome socket head 16.95
REAR BRAKE CALIPER
2401-0124 For 00-07 Big Twin (except 06-07 FXST), 00-03 XL Knurled chrome socket head 12.95
ROCKER COVERS
2401-0099 For 86-17 XL models Chrome button-head 18.95
 

BOLT KITS
•Available as complete kits or individual parts in knurled chrome or 
polished chrome finish

•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
2401-0429 For 07-16 FLT $254.95
2401-0428 For 07-17 FXST/​

FLST (except 
FLSS/​FLSTSBS) 262.95

2401-0427 For 06-17 FXD 
(except H.O. 103”) 270.95

 

ALLEN BOLT KITS
•High-quality chrome-plated finish
•Kits include everything you need 
to mount rocker boxes, primary 
cover, lifter base, transmission 
covers, oil pump, air cleaner, cam 
cover, point cover timing plugs 
and motor mounts

•Fasteners for motor case and oil 
hose cover are also included

•Made in the U.S.A.

2401‑0427

DS‑189710

DS175003

2401‑0909



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1762

PART # DESCRIPTION FASTENER TYPE & SIZE
SUG. 

RETAIL
FRONT
2401-08891 For 86-17 Big Twin and XL w/ cast wheel 

(two required for dual disc) Chrome 5/16”‑18 x 7/8” Torx screw kit $25.95
2401-08901 For 86-17 Big Twin and XL  w/ cast wheel 

(two required for dual disc) Black chrome 5/16”‑18 x 7/8” Torx screw kit 28.95
REAR
DS190465 For 92-09 Big Twin and 92-09 XL models 

w/ spoked wheels; repl. OEM #43567-92 
(bolt) and #7778 (nut)

Chrome 3/8”-16 x 11/4” Torx screw  
and nut kit 25.95

DS-190466 For 92-17 Big Twin and 92-17 XL models 
w/ cast/​spoke wheels;repl. OEM #43567-92 Chrome 3/8”-16 x 11/4” Torx screw  kit 18.95

2401-08911 For 92-17 Big Twin and XL w/ cast wheels 
(except 06-17 FXD) Chrome 3/8”-16 x 1” Torx screw kit 32.95

2401-08921 For 92-17 Big Twin and XL w/ cast wheels 
(except 06-17 FXD) Black chrome 3/8”-16 x 1” Torx screw kit 36.95

1	 Parts baked after plating for relief of hydrogen embrittlement.

DISC BRAKE HUB  
MOUNTING BOLT KITS
•Grade 8 bolts
•Large-diameter button-head Torx® heads 
for increased load-bearing surface

•Parts baked after plating for relief of 
hydrogen embrittlement

•Made in the U.S.A.

2401‑0890 DS190465

PART # DESCRIPTION SUG. RETAIL
2402‑0026 7/16” ‑14 x 11/4” $10.95
2402‑0027 7/16” ‑14 x 11/2” 11.95
2402‑0028 7/16” ‑14 x 13/4” 11.95
2402‑0029 7/16” ‑14 x 2” 12.95
2402‑0030 7/16” ‑14 x 21/4” 12.95
2402‑0031 7/16” ‑14 x 21/2” 13.95
2402‑0032 7/16” ‑14 x 23/4” 14.95
2402‑0033 7/16” ‑14 x 3” 14.95
 

CHROME POLISHED SOCKET  
HEAD PULLEY BOLTS
•Available in eight lengths, 11/4” to 3”
•Handy when using spacers on belt pulleys  
to clear wider tires

•Sold in 5-pack
•Made in the U.S.A.

2402‑0026

PART # DESCRIPTION SIZE FASTENER TYPE
SUG. 

RETAIL
CHAIN AND BELT PULLEY MOUNTING KITS
DS-190665 For 84-98 FL/FX and XL cast wheel; repl. OEM #3769 7/16”-14 x 11/2” Polished socket-head $28.95
DS-190666 For 84-92 FL/FX and XL spoke wheel; repl. OEM #41197-73 7/16”-20 x 11/4” Polished socket-head and nuts 24.95
DS-190667 For 85-99 FXWG/​FXRS/​FXST spoke wheel; repl. OEM #s 7369, 7827 7/16”-20 x 11/2” Polished socket-head and nuts 24.95
2401-0121 For 93-96 Big Twin, 97-98 Dyna/​FLT w/ cast rear wheel, 97-99 FXST/​FLST,  

99 Dyna and 99-06 FLT w/ spoke or cast rear wheel; repl. OEM #3703A, 3899 7/16”-14 x 13/4” Polished socket-head 29.95
2401-0122 For 00-06 Softail/00-05 Dyna w/ spoke or cast rear wheel; repl. OEM #3737 7/16”-14 x 21/4” Polished socket-head 30.95
DISC BRAKE MOUNTING KITS
DS-190490 For 84-17 FLT/FX/​FXR and XL cast front wheel (two required for dual disc) 5/16”-18 x 7/8” Torx button head 9.95
DS-190491 For 84-17 FXST/​FLST and FXWG spoke front wheel 5/16”-18 x 7/8” Torx button head and nuts 13.95
DS-189701 For 92-17 Softail/​Dyna Glide and FLT spoke rear wheel; repl. OEM #43567-92 3/8”-16 x 7/8” Torx button head and nuts 15.95
DS-189702 For 97-17 Softail/​Dyna Glide and FLT cast rear wheel; repl. OEM #43562-92 3/8”-16 x 1” Torx button head 11.95
DS-190664 For 84-85 FLT models cast wheel front or rear (two required for dual disc);  

repl. OEM #1642 7/16”-14 x 13/4” Countersunk socket-head 15.95
DS-190663 For 86-91 FX/XL, rear spoke or cast wheel; repl. OEM #s 1605, 1604 3/8”-16 x 11/2” Countersunk socket-head and nuts 15.95
 

BELT PULLEY, SPROCKET AND 
ROTOR MOUNTING HARDWARE KITS
•Impressively chromed brake rotor, sprocket  
and belt mounting kits

•Available to fit virtually all H-D brakes, chain  
and belt drives

•Complete with all necessary hardware
•Made in the U.S.A.

DS-189701

DS-190490

DS-190665

DS-190667

PART # DESCRIPTION SIZE
SUG. 

RETAIL
2401‑0312 Socket head cap 

pulley bolts 7/16”‑14 x 11/2” $18.95
2401‑0313 Torx rotor bolts 5/16”‑18 x 3/4” 15.95
2401‑0314 Torx rotor bolts 3/8”‑16 x 3/4” 15.95
 

PULLEY AND ROTOR BOLTS
•Set off your new rotors or pulley with these 
beautifully chromed mounting bolts

•Available in packs of five
•Made in the U.S.A.

2401‑0312

2401‑0313

2401‑0314

CHROME DISC BRAKE  
ROTOR-TO-HUB KITS
•Front kits fit rotors with 3.25” bolt circle
•Made in the U.S.A.

2401‑0287
2401‑0295

PART # DESCRIPTION FASTENER TYPE & SIZE
SUG. 

RETAIL
FRONT
2401-0294 For 84-17 Big Twin w/ spoke wheel 5/16”-18 x 7/8” Torx bolts/ 

5/16”-18 nylon lock nuts $17.95
2401-0295 For 84-17 Big Twin w/ cast wheel  

(two required for dual disc) 5/16”-18 x 7/8” Torx bolts 12.95
2401-0296 For 84-17 Big Twin w/ cast wheel  

(two required for dual disc) 5/16”-18 x 7/8” socket-head bolts 7.95
REAR
2401-0287 For 92-17 Big Twin w/ spoke wheel  

except 06-17 FXD

3/8”-16 x 1”  Torx bolts/ 
3/8”-16 nylon lock nuts 20.95

2401-0288 For 92-17 Big Twin w/ cast wheel except 06-17 FXD 3/8”-16 x 1” Torx bolts 15.95
 



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1763

PART # DESCRIPTION SUG. RETAIL
2401-0894 For S&S V-Twin Engines $379.95
2401-0895 For 99-17 Twin Cam, 85-99 Evo Big Twin, 92-17 Sportster, 00-09 Buell 379.95
 

BIG POWER HEAD BOLTS
•Hardened stainless steel
•Stronger than stock hardware; 
tested at 180,000 PSI

•Vacuum quenched to  
reduce distortion

•Eliminate premature head bolt 
and head gasket failure

2401‑0894

PART # DESCRIPTION SUG. RETAIL
2401-0893 For 84-99 Evolution Big Twin; 

99-17 Twin Cam, 86-17 XL $69.95
 

HEAD BOLT KIT
•12-point bolts
•Complete kit

PART # DESCRIPTION SUG. RETAIL
0930‑0023 For 88”/95”/​100”/​106”/​107”/​110”/​111” motors $99.95
 

HEADBOLT KIT
•Includes eight 3.374” headbolts and eight .100” washers
•For use with S&S Twin Cam-style heads and custom 
applications that require equal length headbolts

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2401-0825 For 99-17 Twin Cam, 85-99 Evo Big Twin, 92-17 Sportster, 00-09 Buell $239.95
 

HEAD BOLT KIT
•Quality hex-head, hardened stainless steel bolts with a “show” corrosion-resistant finish
•Tensile strength rated @ 180,000 psi; superior and stronger than OEM and grade 8 fasteners
•Precision j-form threads for optimum engagement, to prevent galling and promote more 
consistent torque loading

•Wide underhead flange bolts and hardened chamfered washers provide even load distribution for 
optimum sealing of surfaces to prevent leaks

•Eliminates thread problems associated with chromed and soft stainless steel hardware
•Manufactured by ARP® to Feuling’s exact specifications
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2401‑0911 For 99‑17 Twin Cam, 84‑99 EVO Big Twin and 92‑17 XL models; repl. OEM #s 16480‑85A and 16478‑85A $67.95
2401‑0912 For 85‑91 Big Twin and 86‑91 XL models; repl. OEM #s 16480‑92 and 16478‑85A 67.95
 

ZINC-PLATED HEAD BOLT SETS
•12-point replacement head bolts

2401-0911

PART # DESCRIPTION SUG. RETAIL
POLISHED FRONT
2401-0422 For 08-17 Softail (except FLSTSB) and Dyna models $10.95
2401-0423 For 08-17 Touring models and H-D FL Trike 40.95
CHROME FRONT
DS175013 For 00-07 Twin Cam models (except Springers) (single disc; must order two kits for dual-disc applications) 29.95
DS-190688 For 93-99 single-disc models except Springers (must order two kits for dual-disc applications) 18.95
DS-190689 For 84-92 single-disc models except Springers (must order two kits for dual-disc applications) 22.95
POLISHED REAR
2401-0853 For 08-17 Touring and V-Rod models 13.95
CHROME REAR
2401-0284 For 06-07 FXST, 07 FLST models 25.95
DS175014 For 00-07 Twin Cam models (except 06-07 FXST models) 24.95
DS-190691 For 87-99 models 14.95
 

CALIPER MOUNTING BOLT KITS
•Socket-head kits replace OEM caliper 
mounting bolts and washers

•PART #s DS-190688 and DS-190691 include 
new bleeder screws

•Available with a chrome or polished finish
•Made in the U.S.A.

2401‑0284

2401‑0422
2401‑0423

2401‑0853

DS‑190688
DS‑190691

2401-0895



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1764

PART # FITMENT DESCRIPTION SUG. RETAIL
FOR BIG TWIN MODELS
DS‑189854 84‑95 Evo Big Twin Motor case studs $55.95
DS‑189945 93‑99 FXST Rear axle adjuster 14.95
 

CHROME STOCK HEX-HEAD HARDWARE KITS
•Individual chrome hex bolt and nut sets for specific applications

DS‑189854
DS‑189945

DS-189756 DS-189757
DS-189758

CHROME HEADBOLT KITS
•Available for a wide variety of 84-17 models
•Include four long and four short headbolts
•Made in the U.S.A.

APPLICATION
4 OUTSIDE 
BOLTS

SUG. 
RETAIL

4 INSIDE 
BOLTS

SUG. 
RETAIL

OEM HEADS
For 99-17 Twin Cam, 92-99 Evo  
  Big Twin and 92-17 XL (12-Point) 2401-0170 $119.95 2401-0171 $126.95
MERCH
All (12-Point) 2401-0170 119.95 2401-0171 126.95
TP ENGINEERING
All (12-Point) 2401-0170 119.95 2401-0171 126.95
 

APPLICATION
4 OUTSIDE 
BOLTS

SUG. 
RETAIL

4 INSIDE 
BOLTS

SUG. 
RETAIL

STD
All aluminum cylinders (12-Point) 2401-0170 $119.95 2401-0171 $126.95
REVTECH
All (12-Point) 2401-0170 119.95 2401-0171 126.95
S&S
96” V2 S&S heads (12-Point) - - 2401-0171 126.95
96” V2 H-D 88-06 heads (12-Point) - - 2401-0171 126.95
 

12-POINT POLISHED STAINLESS STEEL HEADBOLTS
•Large flange design reduces need for washers and provides a cleaner look
•Manufactured from 630 stainless steel
•Heat treated (aged) to 180,000 psi tensile
•Polished to a mirror finish
•Bolts are sold in packs of four
•Made in the U.S.A.

2401-0170

PART # DESCRIPTION SUG. RETAIL
DS‑189703 For 84‑99 Evolution, 86‑03 XL models $22.95
 

ROCKER COVER BOLT KIT
•Kit includes eight countersunk 
screws with dished washers and 
eight Genuine James paper washers

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2401‑0864 For 84‑99 (except Twin Cam) $49.95
 

MOTOR CASE 
STUD KIT
•Contain all necessary 
hardware to bolt 
together stock  
motor cases

•Available in cad plating
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190307 For 84‑99 80” Evolution Big Twin and 86‑03 XL models $39.95
 

ROCKER BOX MOUNTING KIT
•Kit contains all necessary hex-head bolts, Allen-head 
bolts and washers needed to install a pair of rocker 
boxes on a motor

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190699 For 84‑99 models (except Twin Cam) (1/4”‑20) $12.95
 

LIFTER BASE SCREW KITS
•Include eight chrome socket-head screws
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑189756 For 99‑17 Twin Cam, 93‑99 Evolution Big Twin and 92‑17 XL $106.95
DS‑189757 For L85‑92 Big Twin and 86‑91 XL 114.95
DS‑189758 For 84‑E85 Big Twin 27.95
 



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1765

PART # DESCRIPTION SUG. RETAIL
2401-0886 For 99-17 Twin Cam and 86-17 XL models $42.95
2401-08852 For 84-99 Big Twin models 33.95
 

PART # DESCRIPTION SUG. RETAIL
2401-08881 For 84-99 S&S special application cases $39.95
1	 For Big Twin engines with 4”, 41/8” and 43/8” cylinder bores only.
2	 For Big Twin engines with less than 4” bore cylinders only.

REPLACEMENT  
CYLINDER STUDS
•High-quality replacement 
cylinder studs provide increased 
strength and extended durability

•Meet or exceed OE standards
•Sold in 8-packs
•Made in the U.S.A.

2401‑0885

2401‑0886

2401‑0888

PART # DESCRIPTION SUG. RETAIL
2401-0128 For 99-17 Twin Cam motors $349.95
2401-0129 For 85-99 Evolution motors 349.95
 

CYLINDER STUD/​HEAD BOLT KITS
•Stop head and base gasket failure
•Stock replacement; reusable studs and head bolts recommended for 
all V-Twin engines

•Designed to exceed the needs of high-performance engines
•Precision J-formed threads prevent galling and promote more 
consistent torque loading

•Headbolts made from special alloyed stainless steel
•Manufactured by ARP® to Feuling’s exact specifications
•Kit includes eight cylinder studs, eight headbolts, moly assembly 
lubricant and thread sealant

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2401-0201 For 99-17 Twin Cam $129.95
2401-0203 For 85-99 Evolution Big Twin 119.95
 

CYLINDER STUD KITS
•Superior in strength and performance; 
designed to exceed needs of  
high-performance engines

•Stock replacement; reusable studs 
recommended for all V-Twin engines

•Precision J-form threads for optimum 
engagement, to prevent galling and promote 
more consistent torque loading

•Manufactured by ARP® to Feuling’s exact specifications
•Kit includes eight cylinder studs, moly assembly lubricant and thread sealant
•Made in the U.S.A.

PART # DESCRIPTION OEM # QUANTITY SUG. RETAIL
DS-189953 For 85-99 Big Twin 16837-85B 8 $81.95
DS-189952 For 86-17 XL 16832-86A 8 81.95
 

REPLACEMENT CYLINDER  
STUD SETS
•Heat-treated for strength and durability
•Equal or surpass original equipment

PART # DESCRIPTION SUG. RETAIL
2401-0578 For 99-17 Twin Cam: repl. OEM #16834-99A $103.95
DS-199771 For 80” Evolution 103.95
DS-199770 For XL Evolution 103.95
 

CYLINDER STUDS
•Made of U.S. milled-and-certified aircraft-quality materials
•Stud body is the same size as the major diameter of the stud thread,  
allowing for a stronger stud and stronger body

•The complete surface has been ground to remove all the imperfections of 
standard rough-milled material, which also removes notch sensitivity

•Threads are rolled under hydraulic force, creating the strongest possible thread
•A radius is ground on the last thread to reduce the potential of the stud failing 
at that point

•Sold in a matched set of eight 
•Made in the U.S.A.

DS‑199770

PART # DESCRIPTION SUG. RETAIL
DS-197019 For all 84-17 Evo Big Twin/​Twin Cam and  

86-17 XL models; repl. OEM #16715-83 $12.95
 

EXHAUST STUDS
•Sold in pack of six
•Course thread (#18) to fine thread (#24)
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2404-0649 T-Bolts $9.95
 

EXHAUST T-BOLT
•Measures 5/16” x 1” L
•T is 5/8” x 11/2” L
•Includes nut with star washer
•Sold in pairs

DS‑189953
2401‑0201

2401‑0128



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1766

PART # DESCRIPTION SUG. RETAIL
2401‑0125 Air cleaner cover 

mounting screws $6.95
 

S&S AIR CLEANER COVER 
MOUNTING SCREW KIT
•Chrome-plated custom button-
head countersunk Allen screws 
mount cover on S&S air cleaners

•Three screws per kit
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
FOR 96‑07 MODELS
2401‑0289 Torx $19.95
2401‑0290 OEM‑style 18.95
2401‑0301 Polished 15.95
 

CHROME HANDLEBAR  
LEVER, SWITCH  
HOUSING AND MASTER  
CYLINDER KITS
•Made in the U.S.A.

2401-0290

PART # DESCRIPTION SUG. RETAIL
2401‑0600 Windshield fastener kit (6‑pk.) $7.95
 

WINDSCREEN FASTENERS
•Designed to minimize shock and firmly hold your windscreen in place
•Each kit includes six M5 low-profile Allen bolts and our specially designed 
compression nuts

•Also includes nylon washers to protect bodywork from scratches during installation
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2404‑0669 Windshield fastener  

well nuts (50‑pk.) $29.95
 

WINDSCREEN FASTENER 
RUBBER WELL NUTS
•M5 rubber well nuts sold in  
bags of 50PART # DESCRIPTION SUG. RETAIL

FOR 97‑13 FLT/​FLHT MODELS
2404‑0620 Fairing insert repair kit $23.95
2404‑0619 Repl. inserts (9‑pk.) (Repl. OEM #16585‑96) 18.95
 

FAIRING INSERT REPAIR KIT
•Repairs stripped inserts
•Includes installation tool and  
three 1/4”-20 inserts

•Additional replacement inserts 
available separately

•Made in the U.S.A.

2401-0396 2401-0220

PART # DESCRIPTION SUG. RETAIL
FOR 07-16 FLHT/​FLHR SCREAMIN’ EAGLE MODELS
2401-0268 Original Equipment style $356.95
2401-0397 12-Point 484.95
FOR 07-16 FLHT/​FLHR/​FLHX/​FLTR MODELS (EXCEPT SCREAMIN’ EAGLE)
2401-0221 Original Equipment style 333.95
2401-0396 12-Point 439.95
FOR 99-06 FLHT/​FLHR/​FLHX/​FLTR MODELS
2401-0217 Original Equipment style 319.95
2401-0398 12-Point 478.95
FOR 07-15 SOFTAIL MODELS (EXCEPT SCREAMIN’ EAGLE)
2401-0220 Original Equipment style 334.95
2401-0842 12-Point 643.95
 

PART # DESCRIPTION SUG. RETAIL
FOR 00-06 SOFTAIL MODELS
2401-0218 Original Equipment style $312.95
2401-0400 12-Point 545.95
FOR 96-99 SOFTAIL MODELS
2401-0215 Original Equipment style 293.95
FOR 06-15 DYNA MODELS (EXCEPT SCREAMIN’ EAGLE)
2401-0219 Original Equipment style 329.95
2401-0401 12-Point 481.95
FOR 99-05 DYNA MODELS  (EXCEPT SCREAMIN’ EAGLE)
2401-0844 Original Equipment style 333.95
2401-0843 12-Point 511.95
FOR 04-17 XL MODELS
2401-0271 Original Equipment style 247.95
 

12-POINT AND OEM-STYLE,  
POLISHED STAINLESS STEEL  
CUSTOM TRANSFORMATION KITS
•Customize a bike without having to  
completely disassemble it

•A dozen groups of polished stainless steel fasteners 
covering the engine, transmission and the most visible 
areas of the motorcycle

•Kits add detail and a custom look with ease
•Kits include fasteners for primary, inspections and inner 
primary; cam and points; oil pump or oil line cover, filter 
mount and sensors (Dyna and Twin Cam FLHT) or oil filter 
plugs and sensors (Softail Twin Cam); lifter blocks; rocker 
box; coil and circuit breaker covers (Dyna); transmission 
side cover; oil filler (FLHT models); transmission top 
cover; handlebar clamp, switch housings and master 
cylinder; front fender or front fender trim and fuel tank 
(FLHT models); rear fender rail or swingarm pivot blocks 
and rear floorboard brackets (FLHT models)

•Made in the U.S.A.

2404‑0619

2404‑0620

PART # DESCRIPTION SUG. RETAIL
1014‑0031 For S&S air cleaners $6.95
 

AIR CLEANER BOLT KIT
•OEM-style fasteners made from 
stainless steel with a polished finish

•Manufactured from only the best 
materials that are certified SDF 
(Seamless and Defect Free),  
and then the threads are rolled  
to a UNJ3A spec

•Made in the U.S.A.



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1767

PART # DESCRIPTION SUG. RETAIL
2401-0809 Case bolts for 99-17 Twin Cam A motors $69.95
2401-0810 Case bolts for 00-17 Twin Cam B motors 79.95
2401-0811 Lifter block, cam cover, oil filter adapter, sensor kit 

for 99-17 Twin Cam (22 pieces) 89.95
 

PART # DESCRIPTION SUG. RETAIL
2401-0874 Lifter block only bolts for 99-17 Twin Cam (8 pieces) $29.95
2401-0812 Rocker cover kit 99-17 Twin Cam 59.95
 

DRESS UP FASTENER KITS
•Feuling® Dress-up fastener kits for Twin Cam® engines 
•Quality 12-point hardened stainless steel bolts with a “SHOW” corrosion-resistant finish 
•Feature precision-rolled threads for optimum engagement, to prevent galling and promote 
more consistent torque loading 

•Wide underhead flange design provides even load distribution for optimum sealing of 
surfaces – preventing leaks 

•Top engine builders demand quality fasteners! Secure your engine with  
complete confidence 

•Eliminates thread problems associated with chromed hardware 
•Tensile strength rated @ 170,000 psi; superior and stronger than OEM and stronger than 
grade 8 fasteners 

•Manufactured by ARP® to Feuling’s® exact specifications 
•Kits include moly assembly lubricant for installation 
•Made in the U.S.A.

2401-0809

2401-0812

2401-0874

PART # DESCRIPTION SUG. RETAIL
2401-0813 Cam/​pinion shaft kit includes bolts, hardened washers, camshaft retaining ring for 99-17 Twin Cam $39.95
2401-0814 Rocker housing fastener kit includes; support, breather and rocker box housing bolts and washers  

for 99–00 Dyna/​FLT models and 00–01 Softail models 89.95
2401-0815 Includes internal engine fasteners, rocker supports, breathers, rocker housings and moly lube (qty. 24)  

for 01-17 Dyna, 01-16 FLT models and 02-17 Softail models) 89.95
2401-0816 Exhaust studs/​lock nuts kit for 99-17 Twin Cam and 84-99 Evolution Big Twin and 86-17 XL 49.95
 

12 POINT ENGINE FASTENER KITS
•Top engine builders demand quality fasteners! Secure 
your engine with complete confidence

•Quality 12-point heat-treated 8740 chrome moly steel 
bolts with black oxide finish

•Feature precision-rolled threads for optimum 
engagement, to prevent galling and promote more 
consistent torque loading

•Wide underhead flange design provides even load distribution for optimum 
sealing of surfaces, preventing leaks

•Tensile strength rated @ 170,000 psi; superior and stronger than OEM and 
stronger than grade 8 fasteners

•Manufactured by ARP® to Feuling’s® exact specifications
•All kits include moly assembly lubricant for installation
•Made in the U.S.A.

2401‑0814

2401‑0813 2401‑0816

PART # DESCRIPTION SUG. RETAIL
FOR 07-16 FLHT/​FLHX/​FLHR/​FLTR MODELS
2401-0250 12-point $279.95
2401-0262 OEM-style 184.95
FOR 99-06 FLHT/​FLHX/​FLHR/​FLTR MODELS
2401-0143 12-point 267.95
2401-0261 OEM-style 172.95
FOR 07-17 SOFTAIL MODELS (EXCEPT FXCW/C, FXSB/SE)
2401-0248 12-point 272.95
2401-0265 OEM-style 174.95
FOR 00-06 SOFTAIL MODELS
2401-0131 12-point 266.95
2401-0264 OEM-style 174.95
FOR 92-99 SOFTAIL MODELS
2401-0137 12-point 247.95
2401-0841 OEM-style 134.95
 

PART # DESCRIPTION SUG. RETAIL
FOR 06-17 FXD MODELS
2401-0248 12-point $272.95
2401-0265 OEM-style 174.95
FOR 99-05 FXD MODELS
2401-0144 12-point 273.95
2401-0840 OEM-style 172.95
FOR 91-98 FXD MODELS
2401-0137 12-point 247.95
2401-0841 OEM-style 134.95
FOR 04-17 XL MODELS
2401-0846 12-point 289.95
2401-0267 OEM-style 167.95
FOR 91-03 XL MODELS
2401-0845 12-point 248.95
2401-0266 OEM-style 172.95
 

12-POINT AND OEM-STYLE POLISHED STAINLESS ENGINE KITS
•Hand-polished stainless steel engine kits are designed to provide a custom and detailed look with easy installation
•Five groups of fasteners will detail all your engine covers with a lasting shine
•Diamond Engineering’s special hex flange rocker box bolts are included for Twin Cam models
•Includes fasteners for primary, inspections and inner primary; cam and points; oil pump or oil line cover, filter mount and sensors 
(Dyna and Touring models) or oil filter plugs and sensors (Softail Twin Cam); lifter blocks; and rocker boxes

•Made in the U.S.A.

2401‑0262 2401‑01312401‑0250



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1768

PART # DESCRIPTION SUG. RETAIL
CAM AND POINT COVER KITS
2401-0149 For 00-17 Softail models (except 08-11 FXCW models, 

09 FXSTSSE), 06-17 Dyna models, 07-15 Touring models 
(includes oil filter plugs and sensors) $59.95

CRANKCASE BOLT KITS
2401-0228 For 99-15 FLHT/​FXD models 68.95
2401-0232 For 00-15 Softail models 91.95
2401-0230 For 96-99 Evolution Big Twin 69.95
2401-0229 For 84-95 Big Twin models 128.95
EXHAUST FLANGE KIT
2401-0150 For 84-17 Evo Big Twin/​Twin Cam,  

86-17 XL (studs and flange nuts) 43.95
LIFTER BLOCK KITS
2401-0186 For 99-17 Twin Cam 31.95
2401-0187 For 84-99 Evolution Big Twin 37.95
INTAKE MANIFOLD BOLT KIT
2401-0176 For 95-17 all models and 84-89 Evolution Big Twin 

(except ‘17 M-Eight) 21.95
PRIMARY KIT
2401-0188 For 00-06 Softail models and 99-05 Dyna models 97.95
PRIMARY, INSPECTION COVERS AND INNER PRIMARY KITS
2401-0245 For 07-16 FLHT models 97.95
 

PART # DESCRIPTION SUG. RETAIL
PRIMARY, INSPECTION COVERS AND INNER PRIMARY KITS (CONT)
2401-0189 For 99-06 FLHT models $86.95
2401-0238 For 06-15 Dyna models and 07-15 Softail models 96.95
ROCKER BOX KITS
2401-0191 For Twin Cam 66.95
2401-0190 For Evolution Big Twin 39.95
TRANSMISSION TOP COVER KITS
2401-0239 For 07-17 FLHT/​FLST/​FXST, 06-15 Dyna models 30.95
2401-0184 For 97-06 FLST/​FXST, Touring models 24.95
2401-0242 For 87-96 FLT, Softail and FXR models 23.95
TRANSMISSION SIDE COVER KIT
2401-0839 For 07-17 Softail models w/ exhaust brackets that 

mount to the frame 79.95
2401-0323 For 07-11 Softail models w/ exhaust systems that 

mount to the trans bearing housing, 07-17 FLSTF, 
10-13 FLSTFB, 07-17 FLSTN, 09-11 FLSTSB,  
07 FLSTSC/​FXSTD, 07-08 FXSTSSE and  
07-16 Touring models (including Screamin’ Eagles) 79.95

2401-0192 For 93-06 Softail models w/ frame-mounted exhaust, 
06 FLST, 87-06 FLSTC, 87-99 FLSTF, 93-96 FLSTN, 
87-90/99-06 FXST, 99-06 FXSTB, 87-99 FXSTC,  
87-06 FXSTS, 95-97 FXSTSB, 87-92 Touring models and 
87-94 FXR models 68.95

 

12-POINT POLISHED  
STAINLESS ENGINE BOLT KITS
•Polished to a mirror finish
•Custom 450 stainless steel
•Groove kits contain recessed flange washers
•12-Point bolts have 180,000 psi tensile, which is 20% stronger than Grade 8
•UNJ3A rolled threads
•Made in the U.S.A.

2401-0150

2401-0176
2401-0188

2401-0189

2401-0190

2401-0229 2401-0245

PART # DESCRIPTION
SUG. 

RETAIL
12-POINT FRONT CALIPER MOUNT KITS (TWO REQUIRED FOR DUAL DISC)
2401-0224 For 08-17 FLHT, 06-17 V-Rod models and H-D FL Trike $29.95
2401-0309 For 08-17 Softail and Dyna models (except Springer) 45.95
2401-0151 For 00-07 Twin Cam models (except Springer and 

06-07 V-Rod) and 00-03 XL 66.95
2401-0152 For 84-99 all models and 00-06 Springer 20.95
2401-0310 For 04-16 XL models (except XR1200/​XR1200X) 20.95
SOCKET HEAD FRONT CALIPER MOUNT KITS (TWO REQUIRED FOR DUAL DISC)
2401-0829 For 08-17 FLHT/​FLHR/​FLHX/​FLTR, 06-17 V-Rod models 

and H-D FL Trike 15.95
2401-0830 For 08-17 Softail and Dyna models (except Springer) 27.95
2401-0832 For 00-07 Twin Cam models (except Springer) 42.95
2401-0833 For 84-92 Big Twin and XL models 17.95
2401-0832 For 02-04 V-Rod 42.95
2401-0832 For 00-07 XL models 42.95
12-POINT REAR CALIPER MOUNT KITS
2401-0322 For 08-17 Softail and Dyna models 36.95
2401-0177 For 00-06 Twin Cam models (except 06 FXST models) 49.95
2401-0178 For 87-99 all models 28.95
2401-0311 For 04-17 XL models 17.95
 

PART # DESCRIPTION
SUG. 

RETAIL
SOCKET CAP REAR CALIPER MOUNT KITS
2401-0836 For 08-17 Softail and Dyna models $32.95
OEM-STYLE REAR BRAKE CALIPER MOUNT KIT
2401-0834 For 08-17 FLHT/​FLHR/​FLHX/​FLTR models 25.95
12-POINT FRONT BRAKE ROTOR KITS (TWO REQUIRED FOR DUAL DISC)
2401-0153 For all 84-17 models (except Narrow Glide,  

07-08 FLHRSE3/4, 08-11 VRSCAW, 07 VRSCX) 24.95
2401-0154 For 84-07 Narrow Glide models  

(except 06-07 FXD models w/ cast wheels) 27.95
12-POINT REAR BRAKE ROTOR KITS
2401-0181 For 92-17 Big Twin and XL, 02-16 VRSC models 27.95
12-POINT BELT/​CHAIN SPROCKET KITS
2401-0180 For 06 FLHT models, 00-06 Softail models and  

00-05 Dyna models 51.95
2401-0179 For 00-05 FLT models, 84-99 models w/ cast wheels and 

95-99 models w/ laced wheels 46.95
2401-0225 For 07-17 Softail models, 06-17 Dyna models,  

07 Touring models 54.95
 

12-POINT, SOCKET HEAD AND  
OEM-STYLE POLISHED STAINLESS  
INDIVIDUAL BRAKE AND PULLEY BOLT KITS
•Polished to a mirror finish
•Custom 450 stainless steel
•12-Point bolts have 180,000 psi tensile, which is 20% stronger than Grade 8
•UNJ3A rolled threads
•Belt/​sprocket kits are ideal for high-performance applications;  
Race Proof® belt/​sprocket bolts can withstand as much horsepower as 
you can throw at them – many Harley Top Fuel racers use these same 
bolts without fail for over a decade

•Made in the U.S.A.

2401‑0151
2401‑0178

2401‑0180

2401‑0309

2401‑0153

PART # DESCRIPTION SUG. RETAIL
2402‑0095 Metric bolt, nut and washer assortment $11.95
 

METRIC ZINC-PLATED  
BOLT-NUT-WASHER ASSORTMENT
•Deluxe 240-piece assortment of metric bolts,  
nuts and washers from 4mm to 10mm diameter

•Lengths from 12mm to 40mm
•Convenient resealable plastic case



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1769

PART # DESCRIPTION
SUG. 

RETAIL
DS‑1906001 Coarse‑thread 

hex‑head bolt 
assortment $447.95

DS‑190601 1/4”‑20 x 5/8” 14.95
DS‑190602 1/4”‑20 x 3/4” 14.95
DS‑190603 1/4”‑20 x 7/8” 14.95
DS‑190604 1/4”‑20 x 1” 14.95
DS‑190605 1/4”‑20 x 11/4” 14.95
DS‑190606 1/4”‑20 x 11/2” 15.95
DS‑190607 1/4”‑20 x 13/4” 15.95
DS‑190608 1/4”‑20 x 2” 15.95
DS‑190609 1/4”‑20 x 21/4” 15.95
DS‑190610 5/16”‑18 x 5/8” 15.95
DS‑190611 5/16”‑18 x 3/4” 15.95
DS‑190612 5/16”‑18 x 7/8” 15.95
DS‑190613 5/16”‑18 x 1” 15.95
DS‑190614 5/16”‑18 x 11/4” 15.95
DS‑190615 5/16”‑18 x 11/2” 15.95
DS‑190616 5/16”‑18 x 13/4” 15.95
DS‑190617 5/16”‑18 x 2” 15.95
DS‑190618 5/16”‑18 x 21/4” 16.95
 

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190619 3/8”‑16 x 3/4” $15.95
DS‑190620 3/8”‑16 x 1” 15.95
DS‑190621 3/8”‑16 x 11/4” 15.95
DS‑190622 3/8”‑16 x 11/2” 16.95
DS‑190623 3/8”‑16 x 13/4” 16.95
DS‑190624 3/8”‑16 x 2” 16.95
DS192335 7/16”‑14 x 1” 8.95
DS192336 7/16”‑14 x 11/4” 9.95
DS192337 7/16”‑14 x 11/2” 9.95
DS192338 7/16”‑14 x 13/4” 10.95
DS192339 7/16”‑14 x 2” 11.95
DS192340 1/2”‑13 x 3/4” 9.95
DS192341 1/2”‑13 x 1” 9.95
DS192342 1/2”‑13 x 11/4” 9.95
DS192343 1/2”‑13 x 11/2” 10.95
DS192344 1/2”‑13 x 2” 11.95
DS192345 1/2”‑13 x 21/4” 12.95
DS192346 1/2”‑13 x 21/2” 12.95
DS192347 1/2”‑13 x 23/4” 15.95
1	 Bolts 2” and longer come as 5‑pk.

COARSE-THREAD 
HEX-HEAD BOLT 
ASSORTMENT
•All bolts are heat-treated for 
strength and have a show-
chromed polished head

•Kit contains 1/4”, 5/16” and 3/8” 
bolts in a variety of lengths; 
sold in packs of 10

•7/16” and 1/2” bolts are not 
included in kit and must be 
purchased separately; sold in 
packs of five

•Replacement packs of all  
sizes and lengths can be 
purchased individually

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑1906251 Fine‑thread hex‑head bolt assortment $448.95
DS‑190626 1/4”‑28 x 5/8” 14.95
DS‑190627 1/4”‑28 x 3/4” 14.95
DS‑190628 1/4”‑28 x 7/8” 14.95
DS‑190629 1/4”‑28 x 1” 14.95
DS‑190630 1/4”‑28 x 11/4” 14.95
DS‑190631 1/4”‑28 x 11/2” 15.95
DS‑190632 1/4”‑28 x 13/4” 15.95
DS‑190633 1/4”‑28 x 2” 15.95
DS‑190634 1/4”‑28 x 21/4” 15.95
DS‑190635 5/16”‑24 x 5/8” 15.95
DS‑190636 5/16”‑24 x 3/4” 15.95
DS‑190637 5/16”‑24 x 7/8” 15.95
DS‑190638 5/16”‑24 x 1” 15.95
DS‑190639 5/16”‑24 x 11/4” 15.95
DS‑190640 5/16”‑24 x 11/2” 15.95
DS‑190641 5/16”‑24 x 13/4” 15.95
DS‑190642 5/16”‑24 x 2” 15.95
DS‑190643 5/16”‑24 x 21/4” 16.95
DS‑190644 3/8”‑24 x 3/4” 15.95
DS‑190645 3/8”‑24 x 1” 15.95
DS‑190646 3/8”‑24 x 11/4” 15.95
DS‑190647 3/8”‑24 x 11/2” 16.95
DS‑190648 3/8”‑24 x 13/4” 16.95
DS‑190649 3/8”‑24 x 2” 16.95
1	 Bolts 2” and longer come as 5‑pk.

FINE-THREAD HEX-HEAD 
BOLT ASSORTMENT
•Contains 24 sizes of 24- and 
28-thread hex-head bolts

•Each is heat-treated for strength 
and has a highly polished 
chromed head

•Sizes contained in the kit are 
also listed below and may be 
reordered in packs of 10

•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190995 Button‑head 

assortment kit $498.95
DS‑190822 8‑32 x 1/2” 15.95
DS‑190823 8‑32 x 5/8” 15.95
DS‑190824 8‑32 x 3/4” 15.95
DS‑190825 10‑24 x 1/2” 16.95
DS‑190826 10‑32 x 1/2” 16.95
DS‑190827 10‑32 x 3/4” 16.95
DS‑190828 10‑32 x 1” 16.95
DS‑190829 1/4”‑20 x 5/8” 16.95
DS‑190830 1/4”‑20 x 3/4” 16.95
DS‑190831 1/4”‑20 x 7/8” 16.95
DS‑190832 1/4”‑20 x 1” 16.95
DS192320 1/4”‑20 x 11/4” 15.95
DS192321 1/4”‑20 x 11/2” 16.95
DS192322 1/4”‑20 x 13/4” 17.95
DS192323 1/4”‑20 x 2” 20.95
DS‑190833 1/4”‑28 x 1/2” 16.95
DS‑190834 1/4”‑28 x 3/4” 16.95
DS‑190835 1/4”‑28 x 1” 16.95
DS‑190836 5/16”‑18 x 1/2” 16.95
 

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190837 5/16”‑18 x 3/4” $16.95
DS‑190838 5/16”‑18 x 1” 16.95
DS192324 5/16”‑18 x 11/4” 15.95
DS192325 5/16”‑18 x 11/2” 12.95
DS192326 5/16”‑18 x 2” 26.95
DS‑190839 5/16”‑24 x 3/8” 16.95
DS‑190840 5/16”‑24 x 1/2” 16.95
DS‑190841 5/16”‑24 x 1” 16.95
DS‑190842 3/8”‑16 x 3/4” 18.95
DS‑190843 3/8”‑16 x 1” 18.95
DS192327 3/8”‑16 x 11/4” 12.95
DS192328 3/8”‑16 x 11/2” 17.95
DS192329 3/8”‑16 x 13/4” 22.95
DS192330 3/8”‑16 x 2” 24.95
DS192331 3/8”‑16 x 21/4” 28.95
DS192332 3/8”‑16 x 21/2” 27.95
DS192333 3/8”‑16 x 23/4” 32.95
DS192334 3/8”‑16 x 3” 36.95
DS‑190844 3/8”‑24 x 3/4” 18.95
DS‑190845 3/8”‑24 x 1” 18.95
 

BUTTON-HEAD BOLT 
ASSORTMENT KIT
•Kit contains polished chrome 
button-head bolts ranging in size 
from 8-32 to 3/8”-24 in lengths up 
to 1”; sold in packs of 10

•1/4”, 5/16” and 3/8” bolts longer 
than 1” are not included, but may 
be ordered separately; sold in 
packs of five

•Replacement packs are available 
for all sizes listed

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS192348 Assortment kit $606.95
DS192349 8‑32 x 1/2” 20.95
DS192350 8‑32 x 5/8” 20.95
DS192351 8‑32 x 3/4” 20.95
DS192352 10‑24 x 1/2” 20.95
DS192353 10‑24 x 3/4” 20.95
DS192354 10‑32 x 3/8” 20.95
DS192355 10‑32 x 1/2” 20.95
DS192356 10‑32 x 3/4” 21.95
DS192357 1/4”‑20 x 1/2” 21.95
DS192358 1/4”‑20 x 5/8” 21.95
DS192359 1/4”‑20 x 3/4” 20.95
DS192360 1/4”‑20 x 1” 21.95
DS192361 1/4”‑20 x 11/4” 21.95
DS192362 5/16”‑18 x 1/2” 23.95
DS192363 5/16”‑18 x 5/8” 22.95
DS192364 5/16”‑18 x 3/4” 23.95
DS192365 5/16”‑18 x 1” 23.95
DS192366 5/16”‑18 x 11/4” 24.95
DS192367 5/16”‑24 x 5/8” 25.95
DS192368 5/16”‑24 x 3/4” 25.95
DS192369 5/16”‑24 x 1” 25.95
DS192298 3/8”‑16 x 3/4” 26.95
DS192297 3/8”‑16 x 1” 27.95
 

COUNTERSUNK 
SOCKET-HEAD BOLT 
ASSORTMENT
•Kit contains 24 sizes of bolts 
ranging from 8-32 to 3/8”-16

•All bolt heads are highly polished, 
then chrome-plated

•Sizes contained in the kit 
are listed below and may be 
reordered in packs of 10

•Made in the U.S.A.

DS192348DS‑190995

DS‑190625

DS‑190600



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1770

DESCRIPTION KNURLED PART # SUG. RETAIL SMOOTH PART # SUG. RETAIL
Complete kit DS‑190558 $424.95 DS‑190558S $517.95
1/4”‑28 x 5/8” DS‑190559 12.95 DS‑190559S 20.95
1/4”‑28 x 3/4” DS‑190560 12.95 DS‑190560S 20.95
1/4”‑28 x 7/8” DS‑190561 12.95 DS‑190561S 20.95
1/4”‑28 x 1” DS‑190562 13.95 DS‑190562S 21.95
1/4”‑28 x 11/4” DS‑190563 13.95 DS‑190563S 21.95
1/4”‑28 x 11/2” DS‑190564 13.95 DS‑190564S 22.95
1/4”‑28 x 13/4” DS‑190565 13.95 DS‑190565S 22.95
1/4”‑28 x 2” DS‑190566 14.95 DS‑190566S 22.95
1/4”‑28 x 21/4” DS‑190567 15.95 DS‑190567S 23.95
5/16”‑24 x 5/8” DS‑190568 12.95 DS‑190568S 20.95
5/16”‑24 x 3/4” DS‑190569 13.95 DS‑190569S 21.95
5/16”‑24 x 7/8” DS‑190570 13.95 DS‑190570S 21.95
5/16”‑24 x 1” DS‑190571 13.95 DS‑190571S 22.95
5/16”‑24 x 11/4” DS‑190572 15.95 DS‑190572S 23.95
5/16”‑24 x 11/2” DS‑190573 15.95 DS‑190573S 23.95
5/16”‑24 x 13/4” DS‑190574 15.95 DS‑190574S 23.95
5/16”‑24 x 2” DS‑190575 16.95 DS‑190575S 24.95
5/16”‑24 x 21/4” DS‑190576 18.95 DS‑190576S 26.95
3/8”‑24 x 3/4” DS‑190577 14.95 DS‑190577S 22.95
3/8”‑24 x 1” DS‑190578 15.95 DS‑190578S 23.95
3/8”‑24 x 11/4” DS‑190579 15.95 DS‑190579S 23.95
3/8”‑24 x 11/2” DS‑190580 16.95 DS‑190580S 24.95
3/8”‑24 x 13/4” DS‑190581 17.95 DS‑190581S 25.95
3/8”‑24 x 2” DS‑190582 18.95 DS‑190582S 26.95
 

FINE-THREAD SOCKET-HEAD 
BOLT ASSORTMENTS
•Kits contain 24 sizes of fine-thread 
chrome socket-head bolts ranging in 
size from 1/4” to 3/8”

•Available in either knurled or smooth 
polished head style

•Sizes contained in the kits are listed 
below and may be reordered in 
packs of 10

•Made in the U.S.A.

NOTE: �Bolts included in kit over  
2” long are 5-packs only.

DESCRIPTION KNURLED PART # SUG. RETAIL SMOOTH PART # SUG. RETAIL
Complete kit DS‑190583 $256.95 DS‑190583S $394.95
8‑32 x 1/2” DS‑190584 9.95 DS‑190584S 17.95
8‑32 x 7/8” DS‑190585 10.95 DS‑190585S 17.95
10‑24 x 3/8” DS‑190586 9.95 DS‑190586S 17.95
10‑24 x 1/2” DS‑190587 9.95 DS‑190587S 17.95
10‑24 x 5/8” DS‑190588 10.95 DS‑190588S 17.95
10‑24 x 3/4” DS‑190589 10.95 DS‑190589S 17.95
10‑24 x 1” DS‑190590 10.95 DS‑190590S 18.95
10‑24 x 11/4” DS‑190591 11.95 DS‑190591S 18.95
10‑24 x 11/2” DS‑190592 11.95 DS‑190592S 18.95
10‑24 x 13/4” DS‑190593 11.95 DS‑190593S 18.95
10‑24 x 2” DS‑190594 11.95 DS‑190594S 18.95
10‑32 x 1/2” DS‑190595 9.95 DS‑190595S 17.95
10‑32 x 5/8” DS‑190596 10.95 DS‑190596S 17.95
10‑32 x 3/4” DS‑190597 10.95 DS‑190597S 17.95
10‑32 x 7/8” DS‑190598 10.95 DS‑190598S 17.95
10‑32 x 1” DS‑190599 10.95 DS‑190599S 18.95
 

#8 AND #10 FINE- AND  
COARSE-THREAD SOCKET-HEAD 
BOLT ASSORTMENT
•Kits contain 18 sizes of fine- and coarse-
thread #8 and #10 chrome socket-head bolts

•Available in either knurled or smooth 
polished head style

•Sizes contained in the kit are listed below 
and may be reordered in packs of 10

•Made in the U.S.A.

DESCRIPTION 7/16” PART # SUG. RETAIL 1/2” PART # SUG. RETAIL
Complete kits DS192370 $307.95 DS192371 $315.95
3/4” DS192300 16.95 DS192309 17.95
1” DS192301 16.95 DS192310 17.95
11/4” DS192302 17.95 DS192311 18.95
11/2” DS192303 17.95 DS192312 18.95
13/4” DS192299 20.95 DS192313 21.95
2” DS192304 21.95 DS192314 22.95
21/4” DS192305 22.95 DS192315 23.95
21/2” DS192306 23.95 DS192316 24.95
23/4” DS192307 26.95 DS192317 25.95
3” DS192308 28.95 DS192318 28.95
31/4” ‑ ‑ DS192319 32.95
 

7/16” AND 1/2”  
COARSE-THREAD  
SOCKET-HEAD BOLT KIT
•All socket-head bolts are chrome-
plated with smooth polished heads

•Kits are available in 7/16” or 1/2” and 
include one 5-pack of each length 
of bolt listed below

•Replacement bolts are available; 
sold in packs of five

•Made in the U.S.A.

DESCRIPTION KNURLED PART # SUG. RETAIL SMOOTH PART # SUG. RETAIL
Complete kit DS‑190533 $427.95 DS‑190533S $524.95
1/4”‑20 x 5/8” DS‑190534 12.95 DS‑190534S 20.95
1/4”‑20 x 3/4” DS‑190535 12.95 DS‑190535S 20.95
1/4”‑20 x 7/8” DS‑190536 12.95 DS‑190536S 20.95
1/4”‑20 x 1” DS‑190537 13.95 DS‑190537S 21.95
1/4”‑20 x 11/4” DS‑190538 13.95 DS‑190538S 21.95
1/4”‑20 x 11/2” DS‑190539 13.95 DS‑190539S 22.95
1/4”‑20 x 13/4” DS‑190540 13.95 DS‑190540S 22.95
1/4”‑20 x 2” DS‑1905411 14.95 DS‑190541S1 22.95
1/4”‑20 x 21/4” DS‑1905421 15.95 DS‑190542S1 23.95
5/16”‑18 x 5/8” DS‑190543 12.95 DS‑190543S 20.95
5/16”‑18 x 3/4” DS‑190544 13.95 DS‑190544S 21.95
5/16”‑18 x 7/8” DS‑190545 13.95 DS‑190545S 21.95
5/16”‑18 x 1” DS‑190546 13.95 DS‑190546S 22.95
5/16”‑18 x 11/4” DS‑190547 15.95 DS‑190547S 23.95
5/16”‑18 x 11/2” DS‑190548 15.95 DS‑190548S 23.95
5/16”‑18 x 13/4” DS‑190549 15.95 DS‑190549S 23.95
5/16”‑18 x 2” DS‑1905501 16.95 DS‑190550S1 24.95
5/16”‑18 x 21/4” DS‑1905511 18.95 DS‑190551S1 26.95
3/8”‑16 x 3/4” DS‑190552 14.95 DS‑190552S 22.95
3/8”‑16 x 1” DS‑190553 15.95 DS‑190553S 23.95
3/8”‑16 x 11/4” DS‑190554 15.95 DS‑190554S 23.95
3/8”‑16 x 11/2” DS‑190555 16.95 DS‑190555S 24.95
3/8”‑16 x 13/4” DS‑190556 17.95 DS‑190556S 25.95
3/8”‑16 x 2” DS‑1905571 18.95 DS‑190557S1 26.95
1	 Bolts 2” and longer come as 5‑pk.

COARSE-THREAD SOCKET-
HEAD BOLT ASSORTMENT
•Kits contain 24 sizes of coarse-thread 
chrome socket-head bolts ranging in 
size from 1/4” to 3/8”

•Available in either a knurled or 
a smooth polished head style

•Sizes contained in the kits are listed 
below and may be reordered in 
packs of 10

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190650 Assortment $569.95
DS‑190651 1/4” lock washers 36.95
DS‑190652 5/16” lock washers 36.95
DS‑190653 3/8” lock washers 36.95
DS‑190654 1/4” flat washers 36.95
DS‑190655 5/16” flat washers 36.95
DS‑190656 3/8” flat washers 36.95
DS‑190657 1/4”‑20 hex nuts 37.95
DS‑190658 1/4”‑28 hex nuts 37.95
DS‑190659 5/16”‑18 hex nuts 42.95
DS‑190660 5/16”‑24 hex nuts 42.95
DS‑190661 3/8”‑16 hex nuts 53.95
DS‑190662 3/8”‑24 hex nuts 53.95
 

CHROME WASHER AND 
HEX NUT ASSORTMENT
•Kit contains three sizes of flat 
washers, three sizes of lock 
washers and six assorted sizes 
of standard-thread hex nuts – all 
brilliantly chromed

•Sizes contained in kit are also 
listed individually below and may 
be reordered in packs of 100

•Made in the U.S.A. DS‑190650

DS192370

DS‑190583

DS‑190533

DS‑190558



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1771

CHROME ACORN NUT 
ASSORTMENT
•Complete assortment features fine 
and coarse threads, ranging from 
size #10 to 1/2”

•Comes in a plastic case with 
separate compartments for each 
size nut

•Each size contained in kit is also 
individually listed below and 
may be reordered in packs of 10, 
except 1/2” sizes which are 5-packs

•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190850 Assortment $183.95
DS‑190851 10‑24 8.95
DS‑190852 10‑32 9.95
DS‑190853 1/4”‑20 9.95
DS‑190854 1/4”‑28 9.95
DS‑190855 5/16”‑18 9.95
DS‑190856 5/16”‑24 9.95
 

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190857 3/8”‑16 $10.95
DS‑190858 3/8”‑24 10.95
DS‑190859 7/16”‑14 12.95
DS‑190860 7/16”‑20 12.95
DS‑190861 1/2”‑13 (5‑pk.) 11.95
DS‑190862 1/2”‑20 (5‑pk.) 11.95
 

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190521 Assortment $200.95
DS‑190522 10‑24 8.95
DS‑190523 10‑32 8.95
DS‑190524 1/4”‑20 9.95
DS‑190525 1/4”‑28 9.95
DS‑190526 5/16”‑18 9.95
 

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190527 5/16”‑24 $9.95
DS‑190528 3/8”‑16 11.95
DS‑190529 3/8”‑24 11.95
DS‑190530 7/16”‑14 12.95
DS‑190531 7/16”‑20 12.95
DS‑190532 5/8”‑18 11.95
 

CHROME NYLON INSERT 
NUT ASSORTMENT
•Kit contains 11 sizes of coarse- 
and fine-thread chrome nylon 
insert nuts

•Sizes are listed below and may 
be reordered in packs of 10

•Made in the U.S.A.

THREAD SIZE PART # QTY. SUG. RETAIL
10‑32 DS‑190300 5 $5.95
1/4”‑28 DS‑190301 5 5.95
5/16”‑24 DS‑190302 4 5.95
3/8”‑24 DS‑190303 3 5.95
7/16”‑20 DS‑190304 2 5.95
1/2”‑20 DS‑190305 1 5.95
5/8”‑18 DS‑190306 1 5.95
10‑24 DS‑190320 5 5.95
1/4”‑20 DS‑190321 5 5.95
5/16”‑18 DS‑190322 4 5.95
3/8”‑16 DS‑190323 3 5.95
7/16”‑14 DS‑190324 2 5.95
1/2”‑13 DS‑190325 1 5.95
 

“CHROME WARE”  
ACORN NUTS
•Neatly packaged 
chrome acorn nuts in 
standard sizes

•One size per package
•Packaged quantities vary according to the 
thread size

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2404‑0543 6‑32 bolt size; 

repl. OEM # 5210 $13.95
2404‑0544 10‑24 bolt size; 

repl. OEM # 8098 14.95
2404‑0545 10‑32 bolt size; 

repl. OEM # 5027 14.95
2404‑0546 1/4”‑20 bolt size; 

repl. OEM # 8099 15.95
 

WELL NUTS
•Available in four sizes
•Can also be used in custom applications
•Sold in 10-pk PART # SIZE SUG. RETAIL (ea.)

COARSE THREAD
DS‑190038 1/4”‑20 $.95
DS‑190040 5/16”‑18 .95
DS‑190042 3/8”‑16 1.25
DS‑190047 1/2”‑13 1.50
FINE THREAD
DS‑190041 5/16”‑24 1.25
DS‑190043 3/8”‑24 1.25
DS‑190048 1/2”‑20 1.95
 

CHROME FLANGE NUTS
•Available in 1/4” through 1/2” 
sizes in coarse or fine threads

•Sold in 10-pack
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑189859 For 84‑86 Big Twins $24.95
 

CHROME CAP NUT KIT
•Individual chrome cap nut set for transmission kicker cover
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
OEM‑STYLE EXHAUST FLANGE NUTS
2402‑0087 5/16”‑24; repl.  

OEM #7593 (50‑pk.) $2.95 (ea.)
 

PART # DESCRIPTION SUG. RETAIL
THIN NYLON JAM LOCKNUTS
2402‑0088 1/2”‑20 (10‑pk.) $2.95 (ea.)
 

PART # DESCRIPTION SUG. RETAIL
SIDE COVER WASHERS
2402‑0089 Repl. OEM #6099 (100‑pk.) $.45 (ea.)
 

POLISHED STAINLESS STEEL SPECIALTY BULK FASTENERS
•Polished to a mirror finish
•Stainless flange nuts PART #2402-0087 are a must for every exhaust installation; conveniently packaged in bags of 50
•Custom shock installations are now made easy with these jam nylocks PART #2402-0088 – whether it’s a clearance issue or 
clean looks you’re after, these thin locknuts will finish the job

•Polished stainless side cover washers PART #2402-0089 are for all 1/4” bolts on Harleys
•Made in the U.S.A.

2402‑0087 2402‑0088

2402‑0089

Coarse 
thread

Fine
thread

2404‑0543

DS‑190302

DS‑190850 DS‑190521



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1772

PART # DESCRIPTION SUG. RETAIL
2404‑0490 1/4” x .750” (4‑pk.) $14.95
2404‑0491 1/4” x 1.00” (2‑pk.) 8.95
2404‑0492 5/16” x .812” (4‑pk.) 15.95
2404‑0493 5/16” x 1.00” (2‑pk.) 8.95
 

PART # DESCRIPTION SUG. RETAIL
2404‑0494 3/8” x .812” (4‑pk.) $15.95
2404‑0495 3/8” x .875” (4‑pk.) 15.95
2404‑0496 7/16” x 1.062” (2‑pk.) 9.95
 

PART # DESCRIPTION SUG. RETAIL
2404‑0497 7/16” x 1.062” (5‑pk.) $23.95
2404‑0498 1/4” x .750” (2‑pk.) 7.95
2404‑0499 5/16” x 8.12” (2‑pk.) 15.95
 

POLISHED STAINLESS STEEL FLANGE WASHER SYSTEM
•This system cleans up the stamped flat edge and stepped look of standard 
flat washers when used with Race Proof™ 12 Point flange bolt

•Every washer is specifically engineered for each size bolt with several key design features
•A precision counterbored hole is CNC-machined for the bolt to sit down inside of the washer – 
when the bolt is installed in the washer the two flanges meet for an almost seamless look

•All washers also feature a tight tolerance hole with an i.d. chamfer to clear the large under-head 
radius on Race Proof™ bolts

•To achieve a highly reflective finish a large radius is machined on the edge of each washer – 
a radius will “shine” and reflect more light than a square edge

•Finally each washer is polished, by hand, to a perfect mirror finish
•Washers are available for the entire range of bolt sizes from 1/4” through 7/16” in a variety of 
diameters; conveniently packaged two or four to a pack with 7/16” x 1.062” washers also packaged 
in a 5-pack for belt sprocket applications

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
ASSORTMENT W/ TRAY
2402‑0096 Assortment w/ 1/4”‑20 x 1/2” through 21/2”, 5/16”‑18 x 

1/2” through 21/2” and 3/8”‑16 x 1/2” through 21/2” $812.95
REFILL PACKS
2404‑0123 1/4”‑20 x 1/2” (10‑pk.) 4.95 (ea.)
2404‑0124 1/4”‑20 x 3/4” (10‑pk.) 4.95 (ea.)
2404‑0125 1/4”‑20 x 7/8” (10‑pk.) 4.95 (ea.)
2404‑0126 1/4”‑20 x 1” (10‑pk.) 4.95 (ea.)
2404‑0127 1/4”‑20 x 11/4” (10‑pk.) 4.95 (ea.)
2404‑0128 1/4”‑20 x 11/2” (10‑pk.) 5.95 (ea.)
2404‑0129 1/4”‑20 x 13/4” (10‑pk.) 5.95 (ea.)
2404‑0130 1/4”‑20 x 2” (10‑pk.) 5.95 (ea.)
2404‑0152 1/4”‑20 x 23/4” (5‑pk.) 6.95 (ea.)
2404‑0153 1/4”‑20 x 3” (5‑pk.) 5.95 (ea.)
2404‑0154 1/4”‑20 x 31/4” (5‑pk.) 6.95 (ea.)
2404‑0155 1/4”‑20 x 31/2” (5‑pk.) 6.95 (ea.)
2404‑0156 1/4”‑20 x 33/4” (5‑pk.) 6.95 (ea.)
2404‑0157 1/4”‑20 x 4” (5‑pk.) 7.95 (ea.)
2404‑0131 1/4”‑20 x 21/4” (10‑pk.) 5.95 (ea.)
2404‑0132 1/4”‑20 x 21/2” (10‑pk.) 5.95 (ea.)
2404‑0133 5/16”‑18 x 1/2” (10‑pk.) 4.95 (ea.)
2404‑0134 5/16”‑18 x 3/4” (10‑pk.) 4.95 (ea.)
2404‑0135 5/16”‑18 x 7/8” (10‑pk.) 4.95 (ea.)
2404‑0136 5/16”‑18 x 1” (10‑pk.) 4.95 (ea.)
2404‑0137 5/16”‑18 x 11/4” (10‑pk.) 4.95 (ea.)
2404‑0138 5/16”‑18 x 11/2” (10‑pk.) 6.95 (ea.)
2404‑0139 5/16”‑18 x 13/4” (10‑pk.) 6.95 (ea.)
2404‑0140 5/16”‑18 x 2” (10‑pk.) 6.95 (ea.)
2404‑0141 5/16”‑18 x 21/4” (10‑pk.) 6.95 (ea.)
2404‑0142 5/16”‑18 x 21/2” (10‑pk.) 7.95 (ea.)
 

PART # DESCRIPTION SUG. RETAIL
REFILL PACKS (CONT)
2404‑0158 5/16”‑18 x 23/4” (5‑pk.) $7.95 (ea.)
2404‑0159 5/16”‑18 x 3” (5‑pk.) 7.95 (ea.)
2404‑0160 5/16”‑18 x 31/4” (5‑pk.) 7.95 (ea.)
2404‑0161 5/16”‑18 x 31/2” (5‑pk.) 7.95 (ea.)
2404‑0162 5/16”‑18 x 33/4” (5‑pk.) 7.95 (ea.)
2404‑0163 5/16”‑18 x 4” (5‑pk.) 7.95 (ea.)
2404‑0143 3/8”‑16 x 1/2” (10‑pk.) 4.95 (ea.)
2404‑0144 3/8”‑16 x 3/4” (10‑pk.) 4.95 (ea.)
2404‑0145 3/8”‑16 x 1” (10‑pk.) 5.95 (ea.)
2404‑0146 3/8”‑16 x 11/4” (10‑pk.) 5.95 (ea.)
2404‑0147 3/8”‑16 x 11/2” (10‑pk.) 6.95 (ea.)
2404‑0148 3/8”‑16 x 13/4” (10‑pk.) 7.95 (ea.)
2404‑0149 3/8”‑16 x 2” (10‑pk.) 7.95 (ea.)
2404‑0150 3/8”‑16 x 21/4” (10‑pk.) 7.95 (ea.)
2404‑0151 3/8”‑16 x 21/2” (10‑pk.) 7.95 (ea.)
2404‑0164 3/8”‑16 x 23/4” (5‑pk.) 8.95 (ea.)
2404‑0165 3/8”‑16 x 3” (5‑pk.) 8.95 (ea.)
2404‑0166 3/8”‑16 x 31/4” (5‑pk.) 8.95 (ea.)
2404‑0167 3/8”‑16 x 31/2” (5‑pk.) 8.95 (ea.)
2404‑0168 3/8”‑16 x 33/4” (5‑pk.) 8.95 (ea.)
2404‑0169 3/8”‑16 x 4” (5‑pk.) 9.95 (ea.)
2404‑0170 7/16”‑14 x 1” (5‑pk.) 6.95 (ea.)
2404‑0171 7/16”‑14 x 11/4” (5‑pk.) 7.95 (ea.)
2404‑0172 7/16”‑14 x 11/2” (5‑pk.) 7.95 (ea.)
2404‑0173 7/16”‑14 x 13/4” (5‑pk.) 7.95 (ea.)
2404‑0174 7/16”‑14 x 2” (5‑pk.) 8.95 (ea.)
2404‑0175 7/16”‑14 x 21/4” (5‑pk.) 8.95 (ea.)
2404‑0176 7/16”‑14 x 21/2” (5‑pk.) 9.95 (ea.)
 

12-POINT POLISHED STAINLESS STEEL COARSE  
THREAD BOLT ASSORTMENTS
•PART #2402-0096 includes 29 sizes – 145 pieces – five of each size of 1/4”-20 x 1/2” 
through 21/2”, 5/16”-18 x 1/2” through 21/2” and 3/8”-16 x 1/2” through 21/2”

•Custom 450 stainless steel, polished to a mirror finish
•180,000 psi tensile
•20% stronger than Grade 8
•UNJ3A rolled threads
•Includes a 32-compartment labeled tray
•Refill packs are sold in 5-packs or 10-packs
•Made in the U.S.A.

2402‑0096



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1773

PART # DESCRIPTION SUG. RETAIL
2401‑0868 10mm $16.95
 

PART # DESCRIPTION SUG. RETAIL
2401‑0869 12mm $16.95
 

PART # DESCRIPTION SUG. RETAIL
2401‑0870 14mm $16.95
 

SPARK PLUG INDEXING WASHERS
•Achieve maximum performance by indexing spark plug electrode gap towards the intake valve
•Each kit includes 15 washers: five .040” thick washers, five .050” thick washers and five 
.060” thick washers for precise fitment

•Kits available to fit 10mm, 12mm or 14mm spark plug threads
•Made in the U.S.A.

SPECIALTY CHROME WASHERS
•AN washers have an outside diameter approximately 1/64” larger 
than the assembly bolt

•Flat washers are designed for custom applications where a desired 
inner diameter/​outer diameter and thickness are required

•Made in the U.S.A.

PART # ID OD THICKNESS SUG. RETAIL
FLAT WASHERS
DS192387 15/32” 29/32” 1/8” $31.95
DS192390 15/32” 15/16” 5/64” 23.95
DS192391 17/32” 1” 1/16” 23.95
DS192392 17/32” 1” 11/64” 31.95
DS192393 13/32” 7/8” 1/8” 31.95
DS192394 11/32” 1” 5/64” 31.95
DS192395 7/16” 11/16” 5/16” 31.95
 

PART # DESCRIPTION SUG. RETAIL
USS WASHERS
DS192381 #10 (25‑pk.) $20.95
DS192382 1/4” (25‑pk.) 20.95
DS192383 5/16” (25‑pk.) 20.95
DS192384 3/8” (25‑pk.) 20.95
DS192385 7/16” (25‑pk.) 21.95
DS192386 1/2” (25‑pk.) 24.95
 

PART # DESCRIPTION SUG. RETAIL
AN WASHERS
DS192372 1/4” (50‑pk.) $57.95
DS192373 5/16” (50‑pk.) 57.95
DS192374 3/8” (50‑pk.) 57.95
 

PART # DESCRIPTION SUG. RETAIL
0920‑0055 Drain plug washer assortment $67.95
0920‑0056 M6 (1/4”)  drain plug washers (10‑pk.) 4.95
0920‑0057 M8 (5/16”) drain plug washers (10‑pk.) 4.95
0920‑0058 M10x18 (3/8”) drain plug washers (10‑pk.) 4.95
0920‑0059 M12 (7/16”) drain plug washers (10‑pk.) 4.95
0920‑0060 M14 (9/16”) drain plug washers (10‑pk.) 4.95
0920‑0061 M10 (3/8”) banjo washers (10‑pk.) 4.95
 

DRAIN PLUG/​BANJO BOLT WASHER ASSORTMENT
•Soft tempered aluminum drain plug crush washers designed to 
seal in fluids

•Most OEMs recommend replacement at each oil or coolant change
•PART #0920-0055 includes a set of 50 of each size listed in a clear 
organizer; refills available for each size in bags of 10

PART # DESCRIPTION SUG. RETAIL
ASSORTMENT KIT
2402‑0009 Assortment kit w/ tray (435‑pc.) $312.95
REPLACEMENT MACHINE WASHERS
2402‑0010 1/4” machine washers (50‑pk.) .75 (ea.)
2402‑0011 5/16” machine washers (50‑pk.) .75 (ea.)
2402‑0012 3/8” machine washers (50‑pk.) .75 (ea.)
2402‑0013 7/16” machine washers (50‑pk.) .75 (ea.)
2402‑0014 1/2” machine washers (20‑pk.) .75 (ea.)
2402‑0015 5/8” machine washers (10‑pk.) 2.65 (ea.)
REPLACEMENT AN WASHERS
2402‑0017 3/16” AN washers (30‑pk.) .75 (ea.)
2402‑0018 1/4” AN washers (30‑pk.) .85 (ea.)
2402‑0019 5/16” AN washers (30‑pk.) .85 (ea.)
2402‑0020 3/8” AN washers (20‑pk.) .95 (ea.)
2402‑0021 7/16” AN washers (20‑pk.) .95 (ea.)
2402‑0022 1/2” AN washers (20‑pk.) .95 (ea.)
2402‑0024 5/8” AN washers (10‑pk.) 1.25 (ea.)
2402‑0025 3/4” AN washers (5‑pk.) 1.50 (ea.)
 

CHROMED MACHINE/ 
AN WASHERS
•Machine washers are thicker than 
regular washers; available in sizes 
from 1/4” to 5/8” ID

•AN washers have a smaller OD than 
regular washers; available in sizes  
from .0157” to 3/4” i.d.

•Kit includes a 16-compartment steel tray 
with a 435-piece assortment of washers

•Replacement packs sold separately
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190502 Assortment (kit) $188.95
DS‑190505 #10/3/16” (50‑pk.) 18.95
DS‑190506 1/4” (50‑pk.) 18.95
DS‑190507 5/16” (50‑pk.) 21.95
DS‑190508 3/8” (50‑pk.) 21.95
 

CHROME INSIDE 
STAR WASHER 
ASSORTMENT
•A complete assortment 
of chrome inside star 
washers in a handy tray

•Kit contains 10 sizes 
totaling 400 pieces

•Refill parts also available
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190715 1/4” ID washer set $9.95
 

CHROME 7/8” OD WASHERS
•Tumbled, chrome-plated washers can be installed 
under luggage rack legs, saddlebag lid rails or 
anywhere else you need extra support

•Use to dress-up scratched or cracked areas due to drilling
•Sold in 4-pack
•Made in the U.S.A.

USS washer

AN washer

Flat washer

DS‑190502

2402‑0009

0920‑00560920‑0055



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1774

PART # DESCRIPTION SUG. RETAIL
2401‑0871 For 1/4” Allen bolts (10‑pk.) $7.99
2401‑0872 For 5/16” Allen bolts (7‑pk.) 5.99
 

PART # DESCRIPTION SUG. RETAIL
2401‑0873 For 3/8” Allen bolts (6‑pk.) $5.99
 

CUSTOM HOT SPOTS™ END PLUGS FOR ALLEN HEAD BOLTS
•Give your Allen head a smooth look while protecting from rust damage
•Chrome finish

PART # DESCRIPTION SUG. RETAIL
DS‑190979 Chrome end plug assortment kit $163.95
DS‑190989 1/4” refill bag of 100 59.95
DS‑190992 5/16” refill bag of 100 59.95
DS‑190993 3/8” refill bag of 100 59.95
 

PART # DESCRIPTION SUG. RETAIL
DS‑190998 1/4” chrome end plugs (10‑pk.) $8.95
DS‑190999 5/16” chrome end plugs (10‑pk.) 8.95
DS‑191000 3/8” chrome end plugs (10‑pk.) 8.95
DS‑191009 7/16”‑1/2” chrome end plugs (10‑pk.) 11.95
 

CHROME STEEL END PLUGS FOR  
ALLEN-HEAD BOLTS
•Made of steel, these won’t fall out or come loose like plastic or 
aluminum with O-rings

•Fit tightly and add that special finishing touch to the top of an 
Allen bolt

•Assortment kit includes a convenient tray with 100 each of the 
1/4”, 5/16” and 3/8” size chrome plugs, plus three sample Allen 
bolts with plugs installed as sales tools

•10-pack is display packaged with a poly bag for individual sale
•100-pack refill bags available to keep your assortment kit  
fully stocked

•Made in the U.S.A.

NOTE: �Sizes given are the thread size of the bolt – not the  
Allen wrench area.

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190000 Chrome steel 

spacer kit (5‑pk. 
of each size) $276.95

DS‑190001 1/4” x 1/8” (5‑pk.) 8.95
DS‑190002 1/4” x 1/4” (5‑pk.) 9.95
DS‑190003 1/4” x 3/8” (5‑pk.) 9.95
DS‑190004 1/4” x 1/2” (5‑pk.) 12.95
DS‑190005 1/4” x 3/4” (5‑pk.) 12.95
DS‑190006 1/4” x 1” (5‑pk.) 13.95
DS‑190007 5/16” x 1/8” (5‑pk.) 8.95
DS‑190008 5/16” x 1/4” (5‑pk.) 9.95
 

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190009 5/16” x 3/8” (5‑pk.) $9.95
DS‑190010 5/16” x 1/2” (5‑pk.) 12.95
DS‑190011 5/16” x 3/4” (5‑pk.) 12.95
DS‑190012 5/16” x 1” (5‑pk.) 13.95
DS‑190013 3/8” x 1/8” (5‑pk.) 9.95
DS‑190014 3/8” x 1/4” (5‑pk.) 9.95
DS‑190015 3/8” x 3/8” (5‑pk.) 10.95
DS‑190016 3/8” x 1/2” (5‑pk.) 13.95
DS‑190017 3/8” x 3/4” (5‑pk.) 14.95
DS‑190018 3/8” x 1” (5‑pk.) 15.95
 

CHROME STEEL SPACER KIT
•Precut, chromed spacers in 1/8”, 1/4”, 

3/8”, 1/2”, 3/4” and 1” lengths
•Designed to be used with 1/4”, 5/16” and 

3/8” bolts
•Spacers with 1/4” and 5/16” bolt holes 
have .650” outer diameter

•Spacers with 3/8” bolt hole have  
.750” outer diameter

•Replacement packs  
available separately

•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
2402‑0086 Complete kit  

(90‑pk.) $234.95
2404‑0041 1/4” x 1/8” 9.95
2404‑0042 1/4” x 1/4” 10.95
2404‑0043 1/4” x 3/8” 10.95
2404‑0044 1/4” x 1/2” 14.95
2404‑0045 1/4” x 3/4” 14.95
2404‑0046 1/4” x 1” 15.95
2404‑0047 5/16” x 1/8” 9.95
2404‑0048 5/16” x 1/4” 10.95
 

PART # DESCRIPTION
SUG. 

RETAIL
2404‑0049 5/16” x 3/8” $10.95
2404‑0050 5/16” x 1/2” 14.95
2404‑0051 5/16” x 3/4” 14.95
2404‑0052 5/16” x 1” 15.95
2404‑0053 3/8” x 1/8” 10.95
2404‑0054 3/8” x 1/4” 11.95
2404‑0055 3/8” x 3/8” 11.95
2404‑0056 3/8” x 1/2” 15.95
2404‑0057 3/8” x 3/4” 15.95
2404‑0058 3/8” x 1” 16.95
 

CHROME-PLATED SPACERS
•Chrome-plated steel spacers
•Available in a 90-piece assortment 
on a satchel-style tray, or in 
individual 5-packs

•Designed to fit snug on 1/4”, 5/16” or 
3/8” bolts

•Made in the U.S.A.

2402‑0086

DS‑190000

DS‑190979 DS‑190998

PART # DESCRIPTION SUG. RETAIL
2404‑0579 Black powder‑coated $24.95
 

PART # DESCRIPTION SUG. RETAIL
2404‑0580 Chrome $24.95
 

5/16” PAINT SAVER WASHERS
•Machined T-6061 billet aluminum construction with black powder-coated or chrome finish
•Use wherever a 5/16” flat-head bolt is needed to be secured on a painted surface:  
tank mounts, fender mounts, etc.

•Sold in 5-pack
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190793 For E84, dry clutch  

Big Twin models $2.95
 

CLUTCH 
PRESSURE 
PLATE 
REMOVAL 
WASHER
•Zinc finish
•Sold individually
•Made in the U.S.A.PART # DESCRIPTION SUG. RETAIL

DS‑190500 Lock washer kit (36‑pcs.) $14.95
DS‑190501 SAE flat washer kit (35‑pcs.) 14.95
DS192378 7/16” SAE flat washer 46.95
 

PART # DESCRIPTION SUG. RETAIL
DS192379 1/2” SAE flat washer $58.95
DS192380 9/16” SAE flat washer 24.95
 

CHROME WASHERS
•Lock washer kit includes 1/4” (10), 5/16” (10), 3/8” (10), 7/16” (2),  

1/2” (2) and 5/8” (2), totaling 36 pieces
•Flat washer kit includes 1/4” (15), 5/16” (10) and 3/8” (10), totaling 35 pieces
•Made in the U.S.A.

DS‑190500

DS‑190501

2404‑0579 2404‑0580

2401‑0872



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1775

PART # DESCRIPTION SUG. RETAIL
SMALL DRAWERS AND RACK
DS189002 Small rack $231.90
DS189003 12‑compartment drawer 42.95
DS189004 16‑compartment drawer 42.95
DS189005 20‑compartment drawer 42.95
 

PART # DESCRIPTION SUG. RETAIL
SMALL DRAWERS AND RACK (CONT)
DS189006 24‑compartment drawer $42.95
LARGE DRAWERS AND RACK
DS189007 Large rack 234.95
DS189008 12‑compartment drawer 53.95
 

PART # DESCRIPTION SUG. RETAIL
LARGE DRAWERS AND RACK (CONT)
DS189009 16‑compartment drawer $54.95
DS189011 24‑compartment drawer 54.95
 

STORAGE DRAWERS  
AND RACKS
•Storage drawers are available in 
two sizes and four layouts

•Small drawers measure  
133/8” W x 2” H x 91/4” D; large 
drawers measure 18” W x 3” H x 121/2” D

•Drawers are available with 12, 16, 20 and  
24 compartments

•Small rack holds six small drawers and measures 
151/4” W x 161/4” H x 113/4” D

•Large rack holds four large drawers and measures 
201/4” W x 15” H x 121/2” D

•Drawers and racks sold separately
•Made in the U.S.A.

DS189008

DS189009
DS189011

DS189007

DS189005 DS189006

DS189004
DS189003

DS189002

PART # DESCRIPTION SUG. RETAIL
2402‑0148 125‑pc. rubber grommet plug assortment $12.95
 

RUBBER GROMMET AND 
PLUG ASSORTMENT
•125-piece rubber grommet plug 
assortment to insulate wires and 
plumbing, as well as for sealing 
various holes

•Contains 18 various popular sizes
•Includes convenient resealable 
plastic case

PART # DESCRIPTION SUG. RETAIL
2402‑0147 80‑piece vacuum cap assortment $14.95
 

VACUUM CAP ASSORTMENT
•80-piece nitrile butadiene rubber 
(NBR) assortment for use in  
most applications

•Includes 20 each of 3/16”, 5/32” and 
7/32”; 10 each of 1/4”; five each of  
5/16” and 3/8” sizes

•Includes convenient resealable  
plastic case

PART # DESCRIPTION SUG. RETAIL
2402‑0093 O‑ring assortment $19.95
 

O-RING ASSORTMENT
•Deluxe assortment of 32 different  
sized O-rings

•Contains 407 total pieces from  
1/8” to 2” in a 101/2” L x 61/4” W x 13/4” H 
plastic storage box

PART # DESCRIPTION SUG. RETAIL
2402‑0138 Spring assortment $11.95
 

200-PIECE SPRING ASSORTMENT
•Kit contains 20 popular sizes; eight sizes of compression springs and 
12 sizes of extension springs

•Includes plastic organizing case with dividers

PART # DESCRIPTION SUG. RETAIL
2402‑0109 Cotter pin assortment $15.95
 

1,000-PIECE COTTER  
PIN ASSORTMENT
•Made of steel with a cadmium 
plate finish

•Comes in a convenient  
resealable plastic case

•Hardware kit contains six of the 
most popular sizes of cotter pins: 1/16” x 1” (380), 3/32” x 1” (240), 
3/32” x 11/2” (140), 1/8” x 11/4” (115),  
1/8” x 2” (75) and 5/32” x 21/2” (50)

•Great for shop or home use

PART # DESCRIPTION SUG. RETAIL
2402‑0092 Hitch pin assortment $11.95
 

HITCH PIN ASSORTMENT
•Kit contains 150 hitch pins from 
13/16” to 215/16” long

•Convenient resealable  
plastic case



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1776

PART # DESCRIPTION SUG. RETAIL
2402‑0094 Snap ring assortment $11.95
 

SNAP RING ASSORTMENT
•Contains 300 assorted snap rings in 
16 sizes ranging from 1/8” to 11/4”

•Convenient, resealable plastic case

PART # DESCRIPTION SUG. RETAIL
2402‑0091 E‑clip assortment $11.95
 

E-CLIP KIT
•Contains 300 assorted E-clips in nine sizes ranging from 1/16” to 7/8”
•Resealable plastic case

PART # OEM # DESCRIPTION FITS MODEL
SUG. RETAIL 

(ea.)
1106-0082 10991 Main drive gear 06-17 Twin Cam $.95
1132-0286 10998 Clutch ramp 5-speed 87-16 Big Twin .95
1132-0270 11000 Release finger 84 Big Twin .55
DS-188008 11007 Pinion shaft bearing  

and cages 85-86 Big Twin 1.55
DS-188012 11016 Shifter lever pin 5-speed 84-01 Big Twin .55
DS-188013 11019 Clutch lever stud 84-99 Big Twin, 

91-03 XL .55
DS-188016 11031 Shifter drum 91-03 XL .55
DS-188018 11036 Shifter fork shaft 85-86 Big Twin, 

86-90 XL .55
DS-188027 11046 Clutch adj. screw 86-06 XL .95
1106-0081 11061A Main drive gear 06-17 Twin Cam .95
DS-188022 11067 Main and countershafts 

5-speed
84-05 Big Twin, 
91-05 XL 1.55

DS-188023 11083 Shifter cam 5-speed 84-99 Big Twin .55
DS-188029 11096 Clutch push rod (3/4 ring) 

4- and 5-speed 84-16 Big Twin .55
DS-188031 11143 H/​bar lever pivot pin 

(brake and clutch)
84-06 Big Twin, 
86-03 XL .55

DS-188032 11150 Magnetti-Marelli fuel line, 
shifter rod lever 5-speed 84-16 Big Twin .55

0632-0334 11155 Throttle screw 84-17 Big Twin, 
86-17 XL .55

DS-188036 11161 M/S ball bearing  
5-speed (5-pk.)

84-09 Big Twin, 
91-09 XL 4.95

DS-188037 11164 Clutch hub bearing 86-90 XL 1.55
DS-188039 11177 Pinion shaft 87-93 Big Twin, 

87-94 XL .95
 

PART # OEM # DESCRIPTION FITS MODEL
SUG. RETAIL 

(ea.)
DS-188044 11248 Starter shaft coupling 94-98 XL $.95
0925-0283 11494 Outer cam bearing 99-06 Twin Cam .55
DS-188030 11096A Clutch push rod (full ring) 

4- and 5-speed 84-16 Big Twin .55
DS-188051 26348-36 Oil pump shaft 84-99 Big Twin .55
1106-0018 34040-52 Shifter cam 4-speed 85-86 Big Twin, 

86-90 XL .55
DS-188057 35021-89 Access door C/S 5-speed 91-05 XL 1.95
1106-0029 35087-99A Access door 99-10 Big Twin 1.95
0950-0222 35114-02 Main bearing, right side 03-17 Big Twin 1.55
0950-0223 35115-99 Main bearing, right side 99-02 Twin Cam 

Big Twin 1.55
1106-0025 35118-03 Main bearing 04-17 XL .95
DS-188067 35337-36 M/S third gear 4-speed 85-86 Big Twin .95
DS-188069 35810-36 C/S second gear 4-speed 85-86 Big Twin 1.55
1132-0278 36797-84 Clutch pressure plate 86-90 XL 2.55
DS-188073 37904-84 Clutch bearing 84-89 Big Twin 1.55
1132-0280 37904-90 Clutch bearing  

5-speed (5-pk.)
90-10 Big Twin, 
91-99 XL 3.95

1132-0281 37905-00 Clutch bearing (5-pk.) 00-10 Big Twin 3.95
1132-0284 37905-90 Clutch bearing  

5-speed (5-pk.) 90-99 Big Twin 3.95
DS-188075 37907-84 Pressure plate 5-speed 84-89 Big Twin 1.95
1132-0282 37908-90 Pressure plate (5-pk.) 90-97 Big Twin, 

91-17 XL 3.95
1132-0283 37909-90 Pressure plate (5-pk.) 90-16 Big Twin, 

91-17 XL 3.95
0404-0304 45847-84 Fork seal retainer (41mm) 84-96 Big Twin 2.55
DS-188082 60678-85 Inner primary cover 85-06 Big Twin 1.55
 

SNAP RINGS/​
RETAINING RINGS
FOR BIG TWIN AND XL
•High-quality OEM 
replacement components

•Each part number is sold in 
10-pack (unless noted)

PART # DESCRIPTION SUG. RETAIL
0950‑0529 .125” x .310” L; repl. OEM #16430‑76 (25‑pk.) $.55 (ea.)
0920‑0088 .251” x .496” L; repl. OEM #358 (10‑pk.) 1.55 (ea.)
0920‑0087 .313” x .748” L; repl. OEM #215 (10‑pk.) .95 (ea.)
0920‑0090 .374” x .400” L; repl. OEM #16599‑99A (10‑pk.) 1.95 (ea.)
0920‑0089 .394” x .375” L; repl. OEM #16583‑00A (10‑pk.) 1.95 (ea.)
0920‑0123 434’ x .500” L; repl. OEM #24754‑75A (10‑pk.) 1.55 (ea.)
 

DOWEL PINS
•Replacement dowel pins in 
a variety of sizes

•Sold in packages as listed

0920‑0088 0920‑0123

0950‑0529

1132‑0270

1106‑0018

DS‑188013 DS‑188023

0404‑0304 DS‑188082



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1777

TRANSMISSION PLUG
•Chrome-plated hex-style  
fill plug

•For 4-speed  
transmission models

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190896 1/2”‑13 hex‑head drain plug w/ brass gasket (for Big Twin transmissions and XL transmissions, oil tanks and motor cases) $9.95
DS‑190899 1/2”‑20 hex‑head oil tank drain plug 11.95
2401‑0438 1/2”‑20 hex‑head chrome‑plated magnetic oil tank drain plug for 00‑17 Big Twins 9.95
2401‑0439 1/2”‑20 hex‑head zinc‑plated magnetic oil tank drain plug for 00‑17 Big Twins 6.95
DS‑190900 9/16”‑18 oversize drain plug and tap kit 47.95
DS‑190919 9/16”‑18 repl. oversize chrome drain plug only 9.95
 

DRAIN PLUGS
•High quality, chrome-plated standard, 
magnetic and oversize drain plugs

•Fit a variety of models and applications
•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
DS‑190924 For 85‑86  

Big Twin $15.95
 

PART # DESCRIPTION SUG. RETAIL
DS‑245262 Chrome hex head drain plug $2.95
 

CHROME HEX  
DRAIN PLUG
•1/8” NPT drain plug fits custom oil tank  
PART #DS-310231 and other  
custom applications

•Sold each
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑190782 For 85‑86 Big Twin 4‑speed models $22.95
 

TRANSMISSION OIL 
FILL PLUG
•Easy-to-use, chrome-plated 
filler plug

•Designed to be removed 
with a socket-head wrench 
from the side

•Made in the U.S.A.
PART # DESCRIPTION SUG. RETAIL
1107‑0326 1/8” NPT; repl. OEM #739A $9.95
1107‑0339 5/16” ‑18; repl. OEM #60391‑04 10.95
1107‑0340 1/2” ‑20; repl. OEM #60328‑98B 9.95
 

MAGNETIC DRAIN PLUG
•Available for a wide variety of applications
•Zinc finish
•PART #s 1107-0339 and 1107-0340 include O-ring
•Sold each

PART # DESCRIPTION SUG. RETAIL
1105‑0091 1/2”‑20 magnetic hex head; repl. OEM #60348‑65B $7.95
 

MAGNETIC DRAIN PLUG
•Zinc finish
•Includes OEM #11105 O-ring
•Sold each
•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
FOR 84‑95 BIG TWIN/86‑95 XL MODELS
DS‑190892 5/8”‑18 cap‑style plug  

(may also be used as an oil tank drain plug) $7.95
DS‑190893 5/8”‑18 hex‑style plug  

(may also be used as an oil tank drain plug) 9.95
DS‑193711 5/8”‑18 hex‑style for models w/o recessed timing  

hole plug; repl. OEM #704 8.95
DS‑190894 Acorn‑style plug w/ oversize threads and special tap;  

fits all Harley® timing holes 47.95
DS‑189853 11/16”‑16 hex‑style oversize plug 8.95
 

TIMING PLUGS
•Chrome-plated timing plugs in a variety of styles and fitments
•Include kit for stripped timing plug holes

PART # DESCRIPTION SUG. RETAIL
DS‑190785 Chrome socket‑head timing plug $10.95
 

CHROME TIMING PLUG/​OIL TANK  
DRAIN PLUG
•Chromed timing plug with socket head for most models
•Also fits oil tank drains on some models
•Size is 5/8”-18
•Made in the U.S.A.

CHROME OIL PUMP PLUGS AND KITS
•Complete set of chrome-plated hex-head or Allen-head 
plugs for tappet oil screen, check valve and relief valve

•Plugs also available separately
•Complete with washers (or O-rings if required)
•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
HEX‑HEAD STYLE
DS‑190731 Oil pump plug kit (3‑pc.) $24.95
DS‑189909 Tappet oil screen, oil pump  

check valve and relief valve plug 
(except Twin Cam 88) (ea.) 10.95

ALLEN‑HEAD STYLE
2401‑0107 Oil pump plug (ea.);  

repl. OEM #26263‑80 10.95
 

PART # DESCRIPTION
SUG. 

RETAIL
ALLEN‑HEAD STYLE (CONT)
2401‑0108 Tappet oil screen, oil pump check 

valve and relief valve plug kit (3‑pc.) $27.95
SLOTTED‑HEAD STYLE
0932‑0056 Oil pump plug w/ O‑ring, chrome; 

repl. OEM #26263‑80 10.95
0932‑0057 Oil pump plug w/ O‑ring, Cad;  

repl. OEM #26263‑80 7.95
 

FOR 84-99 EVOLUTION BIG TWIN

PART # DESCRIPTION SUG. RETAIL
0920‑0141 1/2”‑20 magnetic hex head; repl. OEM #60348‑65B $10.95
 

MAGNETIC OIL 
DRAIN PLUG
•Sold each
•Made in the U.S.A.

DS‑190900DS‑190896

1107‑0326 1107‑0339 1107‑0340

DS‑190892

DS‑189853

0932‑0056

DS‑190731



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1778

PART # DESCRIPTION
SUG. 

RETAIL
ENGINE KITS
2401‑0696 For 04‑17 XL, chrome $34.95
2401‑0697 For all Twin Cam  

models, chrome 49.95
DELUXE KITS
2401‑0694 For 09‑10 FLHT/​FLHR/​FLHX/ 

​FLTR chrome 79.95
2401‑0695 For 99‑08 FLHT/​FLHR/​FLHX/​ 

FLTR chrome 99.95
2401‑0691 For 09‑11 FLSTSB, chrome 74.95
2401‑0692 For 09‑17 FXST/​FLST chrome 89.95
2401‑0693 For 00‑08 FXST/​FLST chrome 129.95
2401‑0690 For 09‑11 FXCW, chrome 74.95
2401‑0689 For 06‑17 FXD, chrome 109.95
2401‑0688 For 04‑17 XL, chrome 74.95
STANDARD KITS
2401‑0698 For 09‑10 FLHT/​FLHR/​FLHX/​ 

FLTR chrome 74.95
2401‑0699 For 09‑10 FLHT/​FLHR/​FLHX/​

FLTR black 54.95
2401‑0700 For 07‑08 FLHT/​FLHR/​FLHX/​ 

FLTR chrome 44.95
2401‑0701 For 07‑08 FLHT/​FLHR/​FLHX/​

FLTR black 31.95
2401‑0702 For 99‑06 FLHT/​FLHR/​FLHX/ 

​FLTR chrome 59.95
2401‑0703 For 99‑06 FLHT/​FLHR/​FLHX/​

FLTR black 49.95
2401‑0708 For 07‑10 FXST/​FLST chrome 54.95
2401‑0709 For 07‑10 FXST/​FLST black 39.95
2401‑0710 For 00‑06 FXST/​FLST chrome 54.95
2401‑0711 For 00‑06 FXST/​FLST black 44.95
2401‑0704 For 06‑17 FXD, chrome 49.95
2401‑0705 For 06‑17 FXD, black 39.95
2401‑0706 For 99‑05 FXD, chrome 54.95
 

PART # DESCRIPTION
SUG. 

RETAIL
STANDARD KITS (CONT)
2401‑0707 For 99‑05 FXD, black $44.95
2401‑0712 For 04‑17 XL, chrome 49.95
2401‑0713 For 04‑17 XL, black 34.95
2401‑0714 For 86‑03 XL, chrome 49.95
2401‑0715 For 86‑03 XL, black 34.95
INDIVIDUAL CHROME COVERS (10‑PKS.)
2402‑0111 1/4” Allen head bolt  

(3/16” wrench size) 9.95
2402‑0112 5/16” Allen head bolt  

(1/4” wrench size) 9.95
2402‑0113 5/16” Allen head bolt  

(1/4” wrench size; top cover only) 9.95
2402‑0114 3/8” Allen head bolt  

(5/16” wrench size) 12.95
2402‑0115 1/2” Allen head bolt  

(3/8” wrench size) 13.95
2402‑0116 1/4” hex bolt/​nut  

(7/16” wrench size) 12.95
2402‑0117 5/16” hex bolt/​nut  

(1/2” wrench size) 12.95
2402‑0118 3/8” hex bolt/​nut  

(9/16” wrench size; .275” deep) 12.95
2402‑0119 3/8” hex bolt/​nut (deep  

9/16” wrench size; .620” deep) 19.95
2402‑0120 7/16” hex bolt/​nut  

(5/8” wrench size) 13.95
2402‑0121 1/2” hex bolt/​nut (3/4” wrench size) 13.95
2402‑0122 1/2” shouldered hex bolt/​nut 

(15/16” hex bolt covers/ 
3/4” wrench size; .675” deep) 15.95

2402‑0123 1/2” shouldered hex bolt/​nut 
(deep 15/16” hex bolt covers/ 
3/4” wrench size; .8125” deep) 15.95

2402‑0124 1/4” 12‑point bolt  
(1/4” 12‑point wrench) 7.95

 

PART # DESCRIPTION
SUG. 

RETAIL
INDIVIDUAL CHROME COVERS (10‑PKS.) (CONT)
2402‑0125 1/4” Torx bolt  

(T25 Torx wrench size) $10.95
2402‑0126 5/16” Torx bolt (1/4” wrench size) 10.95
2402‑0127 3/8” Torx bolt (5/16” wrench size) 12.95
2402‑0129 6mm flange hex bolt (large 

10mm wrench size; .420” deep) 12.95
2402‑0130 7/16” hex bolt nut w/  

1.2” washer (5/8” wrench size) 15.95
2402‑0131 5/16” buttonhead/​Allen‑hex 

head bolt (3/16” wrench size; 
side‑cut style) 12.95

INDIVIDUAL BLACK COVERS (10‑PKS.)
2402‑0150 1/4” Allen head bolt  

(3/16” wrench size) 9.95
2402‑0151 5/16” Allen head bolt  

(1/4” wrench size) 9.95
2402‑0153 5/16” Allen head bolt (1/4” 

wrench size; top cover only) 9.95
2402‑0155 3/8” Allen head bolt  

(5/16” wrench size) 12.95
2402‑0158 1/2” Allen head bolt  

(3/8” wrench size) 13.95
2402‑0152 1/4” hex bolt/​nut  

(7/16” wrench size) 12.95
2402‑0156 5/16” hex bolt/​nut (1/2” wrench size) 12.95
2402‑0160 3/8” hex bolt/​nut  

(9/16” wrench size; .275” deep) 12.95
2402‑0161 3/8” hex bolt/​nut (deep  

9/16” wrench size; .620” deep) 18.95
2402‑0159 7/16” hex bolt/​nut  

(5/8” wrench size) 13.95
2402‑0157 1/2” hex bolt/​nut (3/4” wrench size) 13.95
2402‑0154 5/16” buttonhead/​Allen‑hex 

head bolt (3/16” wrench size; 
side‑cut style) 12.95

 

BOLT COVER KITS
•Beautifully designed pieces to cover the raw OEM bolt 
heads on your engine, transmission, primary and more

•Easy to install with included detailed installation instructions
•Made from ABS material, fasten with silicone; sold separately
•Available in chrome or black finishes
•Engine kits include motor bolt covers only
•Deluxe kits include motor/​transmission/​primary and select chassis bolt covers
•Standard kits include motor/​transmission/​primary bolt covers
•Individual covers are available for a wide variety of bolt and nut styles

CHROME PLASTIC FASTENERS
•Each kit contains two round-headed bolts with nuts
•Bolts are 1/4” diameter by 1/2” L
•Can be used on a variety of applications

NOTE: �For decorative purposes only;  
not intended to replace  
fastening/​locking nuts.

PART # DESCRIPTION SUG. RETAIL
DS‑190512 Chrome w/ 6mm stud $16.95
 

CHROME KROMMETS
•Bullet-shaped fasteners with 
6mm studs and nut

•Sold in 12-pack PART # DESCRIPTION
SUG. 

RETAIL
1611‑1147 21mm/.827”  

head fastener $5.95
 

PART # DESCRIPTION SUG. RETAIL
DS‑190485 Skull with red eyes $4.95
 

SKULL KROMETT
•Chrome skull kromett with 
red jewelled colored eyes

•Feature a removable stud with nut and washers
•1/4”-20 stud (1” L x 5/8” w/ skull)
•Sold each

NOTE: �For decorative purposes only; not intended to 
replace fastening/​locking nuts.PART # DESCRIPTION SUG. RETAIL

MC‑581 1/2” or 13mm max. head size (10‑pk.) $18.95
MC‑582 5/8” or 16mm max. head size (6‑pk.) 12.95
 

CHROME SNAP CAPS
•Cover up ugly bolt and screw heads with 
decorative chrome snap caps

•Two-piece units that not only hide bolts, 
but protect them from the weather, too

PART # DESCRIPTION SUG. RETAIL
FOR 93‑17 FXST/​FLST, 93‑17 FXD/​FXDWG, 99‑08 FLT/​FLHT AND 04‑17 XL MODELS
1201‑0597 Chrome $45.95
1201‑0598 Black 45.95
 

REAR PULLEY BOLT COVERS
•Die-cast aluminum construction in  
chrome or a gloss black finish

•Attach with included spring clips
•Designed for use with the OEM 7/16” hex bolts
•Sold in a five pack

PART # DESCRIPTION SUG. RETAIL
2402‑0070 1/4” socket head cap screw cover (10‑pk.) $42.95
 

SOCKET HEAD CAP SCREW COVERS
•Quality chrome-plated steel bolt covers
•Polished and buffed to a mirror-like finish
•Made in the U.S.A.

1201‑0597 1201‑0598

MC‑581

2401‑0708 2401‑0709

2402‑0119

2402‑0120



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1779

PART # DESCRIPTION SUG. RETAIL
2402‑0211 1/4” Allen head bolt covers $8.99
2402‑0212 1/4” Torx head bolt covers 9.99
 

KOOL KAPS
•Sold in 10-pks

2402‑0212

2402‑0211

PART # DESCRIPTION SUG. RETAIL
2402‑0187 1/4” hollow point sleeve and Hot Spot Kit $16.99
2404‑0578 Hot Sleeves only (10‑pk.) 7.99
 

HOLLOW POINT SLEEVE AND HOT SPOT KIT
•Works great on all 1/4” socket head cap screw
•Available in packs of 10; two packs will cover both sides of the motor

PART # DESCRIPTION
SUG. 

RETAIL
2401‑0857 Evolution and Twin Cam engines (kit) $49.99
2402‑0182 For 1/2” hex head (uses 3/4” wrench) (10‑pk.) 11.99
2402‑0185 For 1/2” hex head (uses 3/4” wrench) (pr.) 2.99
2402‑0177 For 1/4” socket head (uses 3/16” Allen wrench) (10‑pk.) 5.99
2402‑0178 For 5/16” socket head (uses 1/4” Allen wrench) (10‑pk.) 5.99
2402‑0180 For 3/8” socket head (uses 5/16” Allen wrench) (10‑pk.) 6.99
2402‑0179 For 1/4” hex head (uses 7/16” wrench) (10‑pk.) 9.99
2402‑0181 For 5/16” hex head (uses 1/2” wrench) (10‑pk.) 9.99
2402‑0183 For 3/8” hex or Torx head (uses 9/16” wrench or T30 Torx) (10‑pk.) 11.99
2402‑0184 For 3/8” hex or Torx head (uses 9/16” wrench or T30 Torx) (10‑pk.) 9.99
 

KOOL KAPS
•Cover those bolt ends  
with chrome

•ABS construction
•Sold in 10-pack

PART # DESCRIPTION SUG. RETAIL
ROCKER BOX BOLT CAP SET FOR 99‑17 TWIN CAM (6‑PC.)
2404‑0633 Chrome/​black $39.95
2404‑0632 Chrome 39.95
1/4” AND 5/16” ENGINE BOLT CAP SET
2404‑0626 Diamond‑cut crown, chrome/​black 114.95
2404‑0628 Diamond‑cut crown, chrome 72.95
2404‑0630 Diamond‑cut crown, black chrome 83.95
2404‑0627 Fluted spike, chrome/​black 114.95
2404‑0629 Fluted spike, chrome 72.95
2404‑0631 Fluted spike, black chrome 83.95
1/4” ADD‑ON ENGINE BOLT CAP SET (10‑PC.)
2404‑0634 Diamond‑cut crown, chrome/​black 20.95
2404‑0645 Diamond‑cut crown, chrome 14.95
 

PART # DESCRIPTION SUG. RETAIL
1/4” ADD‑ON ENGINE BOLT CAP SET (10‑PC.) (CONT)
2404‑0640 Diamond‑cut crown, black chrome $14.95
2404‑0636 Fluted spike, chrome/​black 20.95
2404‑0638 Fluted spike, chrome 14.95
2404‑0642 Fluted spike, black chrome 14.95
5/16” ADD‑ON ENGINE BOLT CAP SET (6‑PC.)
2404‑0635 Diamond‑cut crown, chrome/​black 20.95
2404‑0644 Diamond‑cut crown, chrome 14.95
2404‑0641 Diamond‑cut crown, black chrome 14.95
2404‑0637 Fluted spike, chrome/​black 20.95
2404‑0639 Fluted spike, chrome 14.95
2404‑0643 Fluted spike, black chrome 14.95
 

BOLT CAP SETS
•Cover up old, dull or 
rusty bolts

•Precision fit  
and simple  
press-on installation

•Available in chrome, black 
chrome or a clean and 
sharp contrasting black and 
chrome finish

•Patent pending

2404‑0627

2404‑0626

2404‑0631

2404‑0638

2401‑0857
2404‑0578

2402‑0187

PART # DESCRIPTION SUG. RETAIL
2404‑0650 Ratchette fastener $3.95
 

1/4” RATCHETTE FASTENER
•Used for 1/4” diameter hole-panel range .025”- .365”
•Sold in 10 packs
•Made in the U.S.A



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1780

CABLE, HOSE AND WIRE  
DRESS-UP KIT
•A dynamic covering that contours surfaces for a smooth, 
custom look

•Cover your wire harnesses, handlebar wiring, brake lines, 
throttle lines and fuel hose

•Will easily expand to fit over ends with a snug fit
•Easy to install and provides long-lasting protection
•Includes 6’ of 1/2”, 20’ of 3/8”, 8’ of 1/4” diameter  
expandable covering

•Chrome kit includes six chrome zip ties
•Black kit comes with black shrink tubing
•Carbon fiber kit comes with clear shrink tubing
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0659‑0009 Chrome $39.95
 

PART # DESCRIPTION SUG. RETAIL
0659‑0011 Black $25.95
 

PART # DESCRIPTION SUG. RETAIL
0659‑0012 Carbon fiber $25.95
 

PART # DESCRIPTION SUG. RETAIL
2120‑0371 1/8” i.d. $4.95
2120‑0372 1/4” i.d. 7.95
2120‑0373 3/8” i.d. 11.95
 

PART # DESCRIPTION SUG. RETAIL
2120‑0374 1/2” i.d. $14.95
2120‑0375 3/4” i.d. 18.95
 

UNIVERSAL BLACK WIRE COVER
•Available in five sizes
•Sold in 25’ rolls 
•For various OEM or custom applications
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2120‑0219 3/4” ID copper cover $84.95
 

UNIVERSAL  
COPPER COVER
•25’ roll of noncoated copper
•For various OEM or  
custom applications

•Made in the U.S.A.

0659‑0011

0659‑0012

0659‑0009

AfterBefore

2120‑0371

HIGH-TEMPERATURE SLEEVING KITS
•Protect against abrasion, resist oil, gasoline and most chemicals
•Heat range of -40° to 200+°F
•UV light resistant
•Easy to cut with scissors and is easy to clean with soap and water
•Kits include 10 ft. of 1/4” sleeving, 10 ft. of 3/8” sleeving and 5 ft. of 

1/2” sleeving and heat-shrink termination tubing
•Available in black, red or blue

PART # DESCRIPTION SUG. RETAIL
2120‑0080 Black $35.10
2120‑0081 Red 35.10
 

PART # DESCRIPTION SUG. RETAIL
2120‑0082 Blue $35.10
 

2120‑0080

2120‑0081

2120‑0082

PART # DESCRIPTION SUG. RETAIL
LCT4 4” $5.95
LCT5 5.5” 7.95
LCT7 7.5” 9.95
 

PART # DESCRIPTION SUG. RETAIL
LCT11 11” $15.95
LCT15 15” 19.95
 

BULK CABLE TIES
•Top-quality ties now available in bulk quantities
•Built strong with the highest tensile-strength nylon
•Bulk packs include 100 polybagged ties
•Five lengths available
•Available in black

PART # DESCRIPTION SUG. RETAIL
1861‑0671 8” $11.95
1861‑0670 14” 13.95
 

STAINLESS STEEL 
CABLE TIES
•Great for  
high-temperature areas

•Ball bearing and barb fastening assembly
•Locks tightly and will not slip
•Secure any place an extra strength tie 
is needed

•Comes in 8” or 14” lengths
•Sold in pack of five
•Made in the U.S.A.



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1781

PROTECTIVE  
TAPE KIT
•Many luggage items 
(magnetic tank bags, saddlebags, 
etc.) come in contact with your bike’s 
bodywork; protect your paint with this clear, protective tape kit

•Paint-safe adhesive backing makes this kit easy to apply to gas tank, tail 
section or fender, etc.

•Clear tape is almost invisible when installed
•Kit includes one 6” x 12” panel

HEAT SHRINK TUBING
•120 assorted sizes and colors 
of heat shrink tubing in 
divided container

•Includes five colors of 5/32”, 
3/16”, 9/32” and 5/16” diameter 
heat shrink

•100% polyolefin  
construction and UL listed

•Rated for continuous use with temperatures between -60°-275°F

BLACK  
SHRINK 
TUBING
•Available in 5-foot 
and 10-foot lengths

•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
2120‑0305 5/16” x 25 ft. $78.95
2120‑0306 1/2” x 25 ft. 83.95
 

PART # DESCRIPTION
SUG. 

RETAIL
2120‑0307 3/4” x 25 ft. $105.95
 

WIRE WRAPS
•A self-wrapping,  
lightweight oversleeve

•Reduce chafing, cutting and 
abrading of wires and hoses

•Easy to install and remove for assembly 
and/or maintenance

•Do not require special tools
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
2402‑0145 120‑pc. heat shrink tubing set $9.95
 

PART # DESCRIPTION SUG. RETAIL
2402‑0146 106‑pc. heavy‑duty heat shrink set $46.95
 

HEAVY-DUTY  
HEAT SHRINK TUBING
•106-piece weather-resistant 
and waterproof assortment 
of heat shrink tubing for 
demanding applications

•Includes black and red colors 
in 1/8”, 3/16”, 1/4”, 5/16”, 3/8” and 
1/2” diameters

•3:1 shrink ratio with a maximum electrical rating of 600 volts
•Includes convenient resealable plastic case

PART # DESCRIPTION
SUG.  

RETAIL
2120‑0670 1/4” dia. $9.99
2120‑0671 3/8” dia. 9.99
 

PART # DESCRIPTION
SUG.  

RETAIL
2120‑0672 1/2” dia. $9.99
 

ROUNDIT WIRE WRAP
•Made of tubular-shaped memory 
material, wires can be added or 
joined to an existing harness with 
no cutting or fishing required

•Adds protection and a finished, professional look
•Sold in 6’ lengths
•Black 

PART # DESCRIPTION
SUG. 

RETAIL
5’ LENGTH
DS‑305190 .1875” shrink  

to .052” $4.95
DS‑305191 .250” shrink to .125” 4.95
DS‑305193 .375” shrink to .188” 4.95
DS‑305195 .500” shrink to .250” 6.95
DS‑305220 .750” shrink to .375” 8.95
 

PART # DESCRIPTION
SUG. 

RETAIL
25’ LENGTH
DS‑305192 .250” shrink to .125” $23.95
DS‑305194 .375” shrink to .188” 28.95
DS‑305196 .500” shrink to .250” 42.95
DS‑305221 .750” shrink to .375” 43.95
 

BLACK SHRINK TUBING
•Available in five sizes and  
two lengths

DS‑305190

PART # DESCRIPTION SUG. RETAIL
2120‑0500 3/32” i.d. $17.95
2120‑0501 1/8” i.d. 17.95
 

PART # DESCRIPTION SUG. RETAIL
2120‑0502 3/16” i.d. $17.95
2120‑0503 1/4” i.d. 17.95
 

PART # DESCRIPTION SUG. RETAIL
2120‑0504 3/8” i.d. $17.95
2120‑0505 1/2” i.d. 17.95
 

SHRINK TUBING
•Used to cover cables and wiring
•Protects paint and chrome
•Available in black in six sizes
•Sold in 25’ rolls
•Made in the U.S.A.

2120‑0500

2120‑0505

PART # DESCRIPTION SUG. RETAIL
4320‑0807 Protective tape kit $11.00
 

PART # DESCRIPTION SUG. RETAIL
2404‑0621 1/4” $10.95
2404‑0622 5/8” 12.95
2404‑0623 11/32” 8.95
2404‑0624 3/8” 11.95
2404‑0625 1/2” 11.95
 

PUSH-TYPE  
WIRE CLIPS
•Clips can be used almost  
anywhere wires need to be secured

•Available in sizes listed
•Sold in 20-pk.
•Made in the U.S.A.

2404‑0621

2404‑0623

PART # DESCRIPTION
SUG. 

RETAIL
5’ LENGTHS
2120‑0097 1/2” diameter $6.95
2120‑0098 3/4” diameter 7.95
2120‑0099 1” diameter 10.95
 

PART # DESCRIPTION
SUG. 

RETAIL
10’ LENGTHS
2120‑0095 1/8” diameter $6.95
2120‑0296 3/16” diameter 7.95
2120‑0100 1/4” diameter 7.95
2120‑0096 3/8” diameter 9.95
 

2120‑0670



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1782

MOTORCYCLE COVERS
•Made of durable 300 x 300 black 
urethane-coated polyester fabric; 
all seams are double stitched for 
added strength

•Standard covers feature a plush 
fabric liner over the handlebar area 
for added protection to mirrors, fairings and windshields

•Chopper covers are lined down the center for added paint protection
•All covers are vented with a small signature Drag Specialties logo on the vent flap
•Heat-resistant lower panels for protection from exhaust
•Elasticized bottom perimeter for a snug fit and lower grommets in the cover for additional security (chopper covers also have adjustable side 
tethers to ensure a snug fit)

•Cover is marked at rear for ease of installation
•Include a 11” x 19” bag for storage
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
1701‑1001 Chopper cover for custom high neck models w/ extended forks and no sissy bar; up to 111” wheelbase $119.95
1701‑1002 Medium cover for XL and Buell models 104.95
1701‑1003 Large cover for Softail, Dyna and custom models (w/o high neck frame) 114.95
1701‑1004 Extra‑large cover for Dresser models (w/ or w/o Tour Pak) 114.95
 

PART # DESCRIPTION SUG. RETAIL
NAVY/​SILVER ‑ MC‑902
MC902M Medium $39.95
MC902L Large 45.95
MC902XL X‑large 47.95
MC902XXL XX‑large 52.95
BURGUNDY/​SILVER ‑ MC‑903
MC903M Medium 39.95
MC903L Large 45.95
 

PART # DESCRIPTION SUG. RETAIL
BURGUNDY/​SILVER ‑ MC‑903 (CONT)
MC903XL X‑large $47.95
MC903XXL XX‑large 52.95
BLACK/​SILVER ‑ MC‑904
MC904M Medium 39.95
MC904L Large 45.95
MC904XL X‑large 47.95
MC904XXL XX‑large 52.95
 

PART # DESCRIPTION SUG. RETAIL
HI‑VISIBILITY YELLOW ‑ MC‑905
4001‑0138 Medium $39.95
4001‑0139 Large 45.95
4001‑0140 X‑large 47.95
4001‑0141 XX‑large 52.95
 

MC902/3/4/5 DELUXE ALL-SEASON COVERS
•Made from a water-resistant, lighter weight,  
UV-treated Tri-Max® polyester

•Ventilation system minimizes condensation  
buildup and allows constant air circulation

•Silver heat-resistant lower panels
•Snug elastic bottom with one-inch grommets at center and front wheel
•Soft windshield liner helps protect against scratching and hazing
•Packed in free compression bag for the ultimate in compact storage
•Available in navy/​silver, burgundy/​silver, black/​silver and  
Hi-visibility yellow

•Ideal for light/​mild outdoor weather conditions and traveling
•Use for temporary storage or in open carports or similar structures
•Sizes to fit every model; sizes M, L, XL and XXL
•Not intended for trailering

1701‑1001
1701‑1003

Compression bag

Burgandy/Silver Black/Silver

Hi-Visibility Yellow

Navy/Silver



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1783

DEFENDER®  
400 AND 500
•The Defender® is guaranteed 
100% waterproof

•Made from a medium-weight,  
top-quality, UV-treated Tri-Max® polyester

•All seams are electronically heat sealed with silver heat-resistant lower panels
•Soft windshield panel protector
•Perma-Venting® system prevents condensation buildup and allows constant air circulation
•Snug elastic bottom with 1” grommets at center and front wheel
•Packed in free compression bag for the ultimate in compact storage
•Silver heat-resistant lower panels
•Available in black/​silver 400 and gray/​silver 500

DEFENDER® BLACK/​SILVER 2000
•Guaranteed 100% waterproof
•Made from full-strength UV-treated Tri-Max® polyester
•All seams are electronically heat sealed and silver lower 
panels are heat resistant

•Perma-Venting® system prevents condensation buildup
•Soft windshield panel protector
•Snug-fitting elasticized bottom with 1” grommets at 
center and front wheel

•Packed in free compression bag for the ultimate in 
compact storage

•Silver heat-resistant lower panel
•Available in M, L, XL and XXL

PART # DESCRIPTION SUG. RETAIL
D2‑500 Medium $74.95
D2‑750 Large 79.95
 

PART # DESCRIPTION SUG. RETAIL
D2‑1000 X‑large $84.95
D2‑15001 XX‑large 89.95
1	 Includes optional antenna grommet kit.

PART # DESCRIPTION SUG. RETAIL
BLACK/​SILVER 400
D4‑200 Medium $59.95
D4‑300 Large 64.95
 

PART # DESCRIPTION SUG. RETAIL
BLACK/​SILVER 400 (CONT)
D4‑400 X‑large $69.95
D4‑500 XX‑large 74.95
 

PART # DESCRIPTION SUG. RETAIL
GRAY/​SILVER 500
D5‑200 Medium $59.95
D5‑300 Large 64.95
 

PART # DESCRIPTION SUG. RETAIL
GRAY/​SILVER 500 (CONT)
D5‑400 X‑large $69.95
D5‑500 XX‑large 74.95
 

PART # DESCRIPTION SUG. RETAIL
GRAPHITE BLACK ‑ MC‑900
MC900L Large $18.95
MC900XL X‑large 19.95
MC900XXL XX‑large 21.95
 

PART # DESCRIPTION SUG. RETAIL
SONIC GRAY ‑ MC‑901
MC901L Large $18.95
MC901XL X‑large 19.95
MC901XXL XX‑large 21.95
 

MC-900/MC-901  
ECONO COVERS
•Guaranteed to be 100% waterproof
•Made from ripstop-designed soft PVC
•Front, middle and rear grommets for 
safety tie-downs

•Fully ventilated using the exclusive 
Cool-Vent system

•Sized to fit most models
•Available in graphite black or sonic gray
•Not intended for trailering

PART # DESCRIPTION SUG. RETAIL
4001‑0127 Large $24.95
4001‑0128 X‑large 27.95
4001‑0129 XX‑large 29.95
 

DC-505 DUST COVER
•Protect your bike from dust and spills when garaged 
•Made from an all-new lightweight water-resistant and breathable 
non-scratch material 

•Soft brushed finish to help protect your bike’s paint work 
•Custom fit to follow the contour of your bike 
•Folds easily for storage 
•Available in light gray 
•For indoor use only

Graphite  
Black

Sonic 
Gray

Gray/Silver

Black/Silver

Compression bag

Compression bag D2‑1000



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1784

PART # DESCRIPTION SUG. RETAIL
4001‑0010 TRK‑350D trike cover (fits models w/ rear width up to 58” W) $49.95
4001‑0165 Extra‑large trike dust cover (fits models w/ rear width up to 65” W) 54.95
 

TRIKE DUST COVERS
•Protect your trike from dust and spills when garaged
•Made from a breathable, soft, non-scratch brushed poly/​cotton
•For indoor use only
•Two sizes available to fit most models

PART # DESCRIPTION SUG. RETAIL
UV2000M Medium $29.95
 

PART # DESCRIPTION SUG. RETAIL
UV2000L Large $34.95
 

PART # DESCRIPTION SUG. RETAIL
UV2000XL X‑large $38.95
 

UV2000 1/2 COVER
•Specially treated UV protector nylon
•Blocks out over 99% of sun’s harmful rays
•100% waterproof and protects against all natural elements
•All seams are electronically heat sealed
•Sewn-in elastic bungees for universal mounting
•Comes in its own fanny pack
•When folded, fits into almost any storage compartment
•Not intended for trailering
•Sizes M, L and XL to fit most models

PART # DESCRIPTION SUG. RETAIL
TRK‑350 Trike cover (fits models w/ rear width up to 58” W) $109.95
4001‑0164 Extra‑large trike cover (fits models w/ rear width up to 65” W) 119.95
 

TRK-350 
TRIKE COVERS
•Made of medium-weight Tri-Max® polyester, this is  
the only trike cover guaranteed to be 100% waterproof

•All seams are electronically heat sealed and have silver heat-
resistant lower panels

•Exclusive Perma-Venting® system prevents condensation buildup by allowing constant air circulation
•50” rear zipper gives access to trunk without cover removal
•Snug-fitting, elasticized bottom has 1” grommets in center and at front wheel
•Packed in included compression bag for the ultimate in compact storage
•Available in black with rear silver heat-resistant panel
•Two sizes available to fit most models

Compression 
bag



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1785

IMPROVED GUARDIAN® WEATHERALL™ PLUS 
MOTORCYCLE COVERS
•Feature four built-in alarm sleeves so you can make your bike 
more secure by adding Secure Alarm Systems to your cover

•Alarms sold separately
•Fabricated from heavy polyester with waterproof undercoating 
and Moisture-Guard™ ventilation system

•Heat shields allow immediate use after riding
•Interior liner protects windshield
•Waterproof, with heat-sealed, taped seams
•Reinforced grommets for cable or bar locks and elastic bottom rim for snug fit
•Black with silver side panels; storage bag included
•See Dowco application chart on page 1787

PART # DESCRIPTION SUG. RETAIL
50020‑00 X‑large $135.99
 

PART # DESCRIPTION SUG. RETAIL
50021‑00 XX‑large $139.99
 

PART # DESCRIPTION SUG. RETAIL
50022‑00 XXX‑large $145.99
 

GUARDIAN® EZ ZIP MOTORCYCLE COVER
•Eliminates hassles associated with putting a cover  
on a bike or removing it

•A zipper located at the rear of the cover makes installation 
and removal fast, easy and convenient

•Constructed of heavy-duty polyester material for  
long-lasting durability

•ClimaShield™ Plus fabric coatings ensure water repellency 
and UV stability and retard the growth of mildew

•Exclusive Moisture-Guard™ venting system prevents the 
accumulation of unwanted moisture under the cover

•Scorch-resistant aluminized heat shield panel allows the 
cover to be put on the bike before the pipes have cooled

•Unique locking grommets facilitate the use of a cable lock  
to secure your motorcycle

•Elastic cord sewn into the hem of the cover ensures a snug fit
•Special soft cover liner in the area of the motorcycle  
windshield protects against possible scratching

•EZ On and EZ Off zipper makes installation and removal  
of the cover hassle-free

•Includes convenient storage bag
•See Dowco application chart on page 1787

PART # DESCRIPTION SUG. RETAIL
4001‑0054 Medium $88.99
4001‑0050 Large 98.99
 

PART # DESCRIPTION SUG. RETAIL
4001‑0051 X‑large $108.99
4001‑0052 XX‑large 118.99
 

PART # DESCRIPTION SUG. RETAIL
4001‑0053 XXX‑large $128.99
4001‑0055 Sportbike 108.99
 

PART # DESCRIPTION SUG. RETAIL
4001‑0005 For choppers up to 109” $122.99
4001‑0006 For intermediate choppers up to 96” 116.99
 

PART # DESCRIPTION SUG. RETAIL
4001‑0059 For choppers up to 124” $135.99
 

GUARDIAN® CUSTOM BIKE INDOOR COVER
•Specially designed to fit your custom bike
•Constructed of breathable cotton with a napped interior 
to provide protection from scratches

•Sewn-in shock cord on bottom hem ensures a snug fit
•Reinforced grommets allow the use of a cable lock; cable 
lock not included

•See Dowco application chart on page 1787

4001‑0005

Storage bag

4001‑00554001‑0050

50020‑00



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1786

GUARDIAN® INDOOR 
DUST COVERS
•Motorcycle covers ideal 
for indoor usage only

•Made of 100% cotton, 
they are ideal to 
keep off the dust and 
provide a layer of 
defense against  
light scratches

•Breathable fabric 
allows moisture  
to escape

•Shock cord hem
•See DOWCO application chart on page 1787
•Made in the U.S.A.

GUARDIAN® 
WEATHERALL
•Water-repellent 
urethane-coated 
polyester material 
with aluminized 
panels to cover hot 
engine and exhaust pipes

•Flannel panel protects windshield 
from scratches (large, X-large 
and XX-large only)

•Reinforced grommets for 
cable or bar locks and elastic 
bottom rim for snug fit

•Five sizes fit all motorcycles
•Moisture-guard vent system 
lets moisture escape

•Convenient storage bag
•See DOWCO application chart on page 1787

PART # DESCRIPTION SUG. RETAIL
4001‑0158 For large cruiser/​small touring motorcycles $93.99
4001‑0159 For vintage/​sport motorcycles 98.99
 

PART # DESCRIPTION SUG. RETAIL
4001‑0160 For large touring motorcycles $123.99
 

PART # DESCRIPTION SUG. RETAIL
PX‑50 Medium, sport/​custom $81.99
PX‑100 Large, full‑dress 87.99
PX‑125 X‑large, small touring/​full‑dress 92.99
 

PART # DESCRIPTION SUG. RETAIL
PX‑150 XX‑large, large touring/​full‑dress $97.99
PX‑200 XXX‑large, large touring 102.99
 

PART # DESCRIPTION SUG. RETAIL
4001‑0056 Medium, sport bikes, small cruisers w/o windshields $54.99
4001‑0057 Large, cruisers, touring/​sport touring 59.99
4001‑0058 X‑large, large touring 63.99
 

GUARDIAN® ULTRALITE™  
PLUS MOTORCYCLE COVER
•Small, compact design is ideal for longer rides;  
stores easily anywhere

•Lightweight rip-stop polyester fabric construction  
for enhanced tear and abrasion resistance

•Combined UV and water-repellent coating provides 
protection from dirt, pollution and harsh sunlight; two  
vent flaps expel moisture

•Sewn-in storage bag on the cover’s interior is a place for storing 
gloves, sunglasses and other small items

•Features full-perimeter elastic on bottom, underbelly straps for 
a secure fit, soft interior lining to protect windshields and lockable 
grommets for added security

•See DOWCO application chart on page 1787

PART # DESCRIPTION SUG. RETAIL
LEG03 Traveler motorcycle cover $45.99
 

GUARDIAN® TRAVELER™  
MOTORCYCLE COVER
•Protect your bike on the road when you don’t have 
room for a full-size cover

•Traveler covers the essentials, then folds compactly 
for storage

•Tough, lightweight urethane-coated polyester 
construction; water repellant and quick drying

•Will enclose fairing, seat and rear trunk
•Includes shock cord hem and footpeg straps
•Available in gray only
•XL size for dressers
•See DOWCO application chart on page 1787

Storage bag

PX‑200

PX‑50

4001‑0158

4001‑0159



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1787

PART # DESCRIPTION SUG. RETAIL
GRAY/​SILVER
4001‑0034 Large, cruisers/​touring $44.99
LEG‑02 X‑large, small touring/​full‑dress 49.99
 

GUARDIAN® ULTRA LITE
•Lightweight polyester material is waterproof to protect your bike 
from moisture

•Reinforced grommets for cable or bar locks and elastic bottom rim for 
snug fit

•Storage bag included
•Sewn-in vent flap lets moisture escape
•Three sizes provide great protection for most motorcycles
•See Dowco application chart below

PART # DESCRIPTION SUG. RETAIL
4001‑0003 Angled front, small to medium cruisers 

w/ windshield, sissy bar and saddlebags $98.99
G‑175 Trike cover 111.99
 

GUARDIAN® WEATHERALL™ PLUS COVERS
•Fabricated from heavy polyester with waterproof undercoating and 
Moisture-Guard™ ventilation system

•Reinforced grommets for cable or bar locks and elastic bottom rim for 
snug fit

•Excellent for all-weather protection or inside storage
•Protect windshield with a layer of scratch-resistant lining bonded to 
the inside of the cover

•PART #G-175 fits conversions from Lehman, Motor Trike, Trike Shop and 
most others

PART # DESCRIPTION SUG. RETAIL
4001‑0172 Black $94.99
 

GUARDIAN PREMIUM HALF COVER
•Compact motorcycle cover is ideal for traveling; takes up far less space 
than full cover

•Covers seat, windshield and front of bike from rain and adverse 
weather conditions

•Equipped with footpeg straps for easy attachment
•Antenna pass-through access in the rear of cover
•Made of 100% microfiber
•Universal fit for large cruisers

PART # DESCRIPTION SUG. RETAIL
4020‑0030 Secure motorcycle alarm $24.99
 

GUARDIAN® SECURE ALARM
•Added security for the Weatherall™ Plus cover
•Pin-pull alarm emits an ultra-loud 130 dB tone when activated by 
unauthorized movement of the cover

•Battery-powered alarm (battery not included) requires no special 
wiring and installs in minutes; 9V battery required

•For all Guardian® Weatherall covers with sewn-in alarm sleeves

FITS MODEL SIZE
BUELL
All models M
EXCELSIOR‑HENDERSON
Super‑X L
HARLEY‑DAVIDSON
All Sportsters M
Dyna Super Glide T‑Sport LG
FXDS Dyna Convertible LG
FXDX Dyna Super Glide Sport M
FLSTF Fat Boy LG
FLHS Electra Glide Sport XL
FLHT Electra Glide Standard XL
FLHTC Electra Glide Classic XL
FLHTC Ultra Classic Electra Glide XL
 

FITS MODEL SIZE
HARLEY‑DAVIDSON (CONT)
FLSTC  Heritage Softail Classic XL
FLSTN Heritage Softail Special/​Deluxe LG
FLTC Ultra Classic Tour Glide XL
FXD Dyna Super Glide M
FXDB Dyna Daytona M
FXDC Dyna Glide Custom M
FXDL Dyna Low Rider M
FXDS Dyna Convertible XL
FXDWG Dyna Wide Glide LG
FXR Low Rider/​FXR Super Glide M
FXRS Super Glide II M
FXRT Sport Glide LG
FXST Softail M
 

FITS MODEL SIZE
HARLEY‑DAVIDSON (CONT)
FXSTS Springer Softail M
FXSTSB Bad Boy LG
FLSTS Heritage Springer LG
FXSTB Night Train LG
FLTR Road Glide XL
FLHR Road King/​Classic XL
FXSTD Softail Deuce LG
VRSCA V‑Rod M
INDIAN
Scout, Spirit L
Chief w/o windshield L
Chief w/ windshield XL
Chief Roadmaster XL
 

DOWCO COVER APPLICATION CHART

G‑175



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1788

PART # DESCRIPTION SUG. RETAIL
4001‑0097 Medium (up to 95”), for small cruisers and 400cc‑600cc sportbikes $64.95
4001‑0098 Large (up to 100”), for cruisers, sport touring and over 600cc sportbikes 64.95
4001‑0099 X‑large (up to 104”), for large touring and large cruisers 69.95
 

PREMIUM MOTORCYCLE COVERS
•Heavy-duty 600-denier polyester construction with polyurethane 
coating for UV-protection and water-resistance

•Vent guard system allows cover to breathe, reducing moisture buildup
•Aluminum-coated heat shields allow cover to be used on hot pipes
•Windshield area is made of non-abrasive material to prevent scratching
•Elastic hems and web tie-down
•X-large features hook-and-loop slot in the rear for easy access to 
luggage and accommodation of dual antennas

PART # DESCRIPTION SUG. RETAIL
ZCML Opt. 30” security cable and lock $8.95
 

PART # DESCRIPTION SUG. RETAIL
XM‑100 For FLHTC/​FLHTCU/​FLTC/​FLTCU $117.95
XM‑101X For FLSTN/​FXDS/​FXRT/​FXRS‑Conv. 113.95
XM‑104X For XL/​XLCH/​XLH/​XLS 93.95
 

READY-FIT MOTORCYCLE COVERS
•Covers give a custom-tailored fit, excellent protection and have a rich, 
deep color that resists fading

•Waterproof, dustproof urethane-coated polyester fabrics reflect heat 
and protect from the sun, dust, bird and tree droppings, industrial 
pollutants and even salt air

•Heat-shield aluminized inner lining protects cover from hot pipes  
and engine

•Windshields and rear fenders are protected from scratches by a soft 
fabric inner lining

•Screened air vent lets condensation and heat escape to further 
protect bike

•Overlapped, double-stitched seams for strength and water resistance
•Cover tucks into sewn-in bag for easy storage and transportation
•Theft-resistant, hardened-steel cable reinforced grommets
•Elastic in front and rear hems to hold cover in place
•Great packaging with features and benefits right on the box

PART # DESCRIPTION SUG. RETAIL
4001‑0091 Charcoal/​black $74.95
 

PART # DESCRIPTION SUG. RETAIL
4001‑0114 Black/​charcoal $74.95
 

ULTRAGARD® FULL DRESSER 
CLASSIC COVERS
•Water-resistant, lightweight, polyurethane-
coated polyester construction

•UV stability prevents material breakdown 
and fading

•Scorch-resistant exhaust protection
•Elastic hem and bungee cord for tie down
•SoftTek windshield protection
•Ultragard® vent system
•High-visibility logo and piping

PART # DESCRIPTION SUG. RETAIL
4001‑0089 Black $39.95
 

PART # DESCRIPTION SUG. RETAIL
4001‑0090 Gray $39.95
 

HALF COVER
•Compact motorcycle cover is ideal for 
traveling; takes up far less storage space 
than full cover

•Covers seat, windshield and front of bike
•Expandable windshield pocket
•Universal fit

4001‑0089 4001‑0090

ZCML

4001‑0091
4001‑0114

XM‑101X



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1789

PART # DESCRIPTION SUG. RETAIL
4020‑0088 Ride SmartLINK $449.95
 

RIDE SmartLINK
•The ultimate add-on for your 
Harley-Davidson factory  
security system

•Designed to fit your Haley-
Davidson factory security 
system, the SmartLINK is a GPS-
enabled device that will send 
cellular notifications directly to 
your smartphone for any alert 
generated by the Harley-Davidson 
security system

•Installation is simple with the 
included harness that will connect 
directly to the factory alarm siren 
plug (prior to installation, a factory 
Harley-Davidson security system  
is required)

•Always-on GPS, telematics and 
security in one: simply connect 
to your Harley-Davidson Factory 
Alarm plug using the supplied connector

•Employs a cloud-based server-to-device architecture so that you can securely access your rides and data from any device, anywhere
•Records rides, access previous ride stats, and monitors your bike remotely (available on Android, iOS and PC) 
•Cellular notifications: All notifications are sent directly to your phone via the Ride app, SMS or email, giving you virtually unlimited 
monitoring range

•Real-Time GPS Tracking: Monitor and track your bike’s rides and location at all times
•Power Interruption Sensor and Backup Battery: Receive an alert when the power has been cut to the security device
•Emergency Mode: Allow law enforcement to temporarily access your stolen bike’s location
•Anti-theft Geofencing Sensors: Receive an alert when the bike leaves a specific geographic location
•Ride Segments: Easily access and analyze your ride segments. Segments capture the elapsed time, speed and route
•Ride Playback: Relive your favorite rides by activating your 3D Ride Playback through Google Earth
•Share with friends: Add photos to your segments, and share your rides via social media

PART # DESCRIPTION SUG. RETAIL
4020‑0052 SR‑i900R RFID/​two‑way FM security system $439.95
 

SR-i900R RFID MOTORCYCLE 
SECURITY SYSTEM
•The SR-i900R is a latest-generation 
two-way FM security system offering 
hands-free RFID technology

•Simply walk towards or away from 
your bike, and the remote transceiver 
will automatically communicate an 
arm or disarm command using its 
proximity recognition system

•This unique auto-arm and hands- 
free disarm operation provides  
the highest standard of security  
and convenience

•Standard features include:
•RF-ID for hands-free operation
•Programmable auto or manual 
arming and disarming

•Long-range FM transceiver (up to 
a 1/2 mile)

•Range and signal status display
•Compact design (311/16” x 23/4” x 7/8”)
•Dual-axis accelerometer for detecting 
impact/​inclination

•Built-in 120 dB multi-tone siren with soft chirp
•Sensor violation display
•Audible/​vibrating alert
•Remote motorcycle finder/​panic alarm
•Programmable perimeter sensor with warn away that detects motion around the bike, protecting saddlebags, luggage and accessories
•Built-in battery backup system allows the pager to operate even if wires are cut or circumvented
•Ignition disable feature allows the user to remotely cut off the engine in case of hijack
•Includes charging cord for remote receiver
•Factory connector kits allow the alarm system to be integrated into the OEM-style harness without any cutting or splicing (sold separately; 
see page 1790)

NOTE: �Includes module, mounting kit and hardwire kit (not shown).



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1790

PART # DESCRIPTION SUG. RETAIL
4020‑0076 SR‑i800S RFID security system $149.95
 

SR-i800S RFID MOTORCYCLE  
SECURITY SYSTEM
•Easy-to-use system provides the convenience of hands-free 
operation and the security of shock, tilt and ignition sensors

•RFID hands-free technology eliminates reaching for the 
remote to protect the motorcycle

•Standard features include single-button, waterproof  
remote transceiver

•RFID for hands-free operation
•Auto or manual arming and disarming
•Soft chirp arming
•Flashing lights with trigger memory display
•Ignition circuit sensor
•Compact design (311/16” x 23/4” x 7/8”)
•Dual-axis accelerometer for detecting impact/​inclination
•Built-in 120 dB multi-tone siren with soft chirp
•Sensor violation display
•Smart Battery Safeguard with sleep mode
•Remote motorcycle finder/​panic alarm
•Built-in battery backup system allows the siren to operate even if wires are cut or circumvented
•Optional programmable multi-stage perimeter sensor detects motion around the motorcycle (sold separately; PART #SN-4)
•Optional ignition disable allows disabling of the motorcycle’s electrical system and prevents “hot wiring” (sold separately; PART #4020-0007)
•Optional Factory Connector Kits: The SR-i800S is universal and will install on any motorcycle; optional OEM-compatible factory connector kits are 
model-specific and plug directly into the factory harness, making installation fast, clean and easy (sold separately; see below)

PART # DESCRIPTION
SUG. 

RETAIL
FACTORY CONNECTOR KITS
4020‑0084 For 10‑11 FLHT, FLHR, FLHX, FLTR and H‑D FL Trike models $29.95
4020‑0054 For 07‑09 FLHT, FLHR, FLHX, FLTR 24.95
HD‑1 For 97‑03 XL, 97‑09 FXST/​FLST, Dyna,  

97‑06 FLHT, FLHR, FLHX, FLTR 24.95
4020‑0022 For 04‑09 XL 24.95
 

PART # DESCRIPTION
SUG. 

RETAIL
FACTORY CONNECTOR KITS (CONT)
4020‑0071 For 04‑09 VRSC/​VRSCD $29.95
ACCESSORIES
4020‑0007 Ignition disabler/​anti‑hijack kit for  

PART #S 4020‑0076, 4020‑0077 29.95
SN‑4 Perimeter sensor for PART #S 4020‑0076, 4020‑0077 49.95
 

ACCESSORIES AND FACTORY CONNECTOR KITS
•Connector kits allow all Scorpio alarms to be integrated into the  
OEM-style harness without any cutting or splicing

•Made in the U.S.A.

4020-0007

4020‑0022

4020‑0071

HD‑1

SN-4

SR-i900 RFID/​TWO-WAY FM 
SECURITY SYSTEM
•SR-i900 provides the convenience of hands-
free operation combined with a compact 
two-way FM paging security system designed 
specifically for the motorcycle industry

•Standard features include two-way FM  
remote transceiver

•RFID for hands-free operation
•Auto or manual arming and disarming
•Ignition circuit sensor
•Long-range FM transceiver (up to a 1/2 mile)
•Range and signal status display
•Compact design (311/16” x 23/4” x 7/8”)
•Dual-axis accelerometer for detecting  
impact/​inclination

•Built-in 120 dB multi-tone siren with soft chirp
•Sensor violation display
•Audible/​vibrating alert
•Smart Battery Safeguard with sleep mode
•Motorcycle battery voltage display
•Remote motorcycle finder/​panic alarm
•Includes charging cord for remote receiver
•Optional programmable multi-stage perimeter sensor detects motion around the motorcycle (sold separately; PART #SN-4) 
•Optional ignition disable/​anti-hijack allows disabling of the motorcycle’s electrical system and prevents “hot wiring” (sold separately;  
PART #4020-0007)

•Optional Factory Connector Kits: The SR-i900 system is universal and will install on any motorcycle; optional OEM-compatible factory connector 
kits are model-specific and plug directly into the factory harness making installation fast, clean and easy (sold separately; see below)

PART # DESCRIPTION SUG. RETAIL
4020-0077 SR-i900 RFID/​two-way FM security system $329.95
 



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1791

PART # DESCRIPTION SUG. RETAIL
FOR 14-17 FLHT MODELS (EXCEPT TWIN COOLED™)
2350-0426 Fairing door set $149.99
2350-0427 Optional drink holder 39.99
 

PART # DESCRIPTION SUG. RETAIL
FOR 14-17 FLHT MODELS (EXCEPT TWIN COOLED™) (CONT)
2350-0428 Optional chrome challenge coin holder 

(coins not included) $49.99
2350-0429 Optional black challenge coin holder 

(coins not included) 39.99
 

LOWER FAIRING DOOR SET  
AND ACCESSORIES
•Made from heavy-duty black powder-coated 
cast aluminum

•Foam gasket seal prevents moisture from 
getting into enclosure

•Options for cup holder or coin storage
•No tools required for accessory installation
•Key lock

2350-0426
2350-0427

2350-0428

2350-0429

PART # DESCRIPTION SUG. RETAIL
0636-0013 Chrome $44.95
 

PART # DESCRIPTION SUG. RETAIL
0636-0014 Black $44.95
 

CUP HOLDERS
•Can be removed or attached to the mount in 
seconds without tools

•Fit all Harley-Davidson motorcycles, and  
most others, on either left or right side 
switch housing

•Simple to remove or keep in place with the 
secure locking mechanism

•Feature an insulated foam liner
•Stainless steel hardware
•Available in black powder-coated or chrome-
plated steel

PART # DESCRIPTION SUG. RETAIL
0636-0078 For 14-17 Tour-Pak® w/ or w/o speaker $79.95
 

PART # DESCRIPTION SUG. RETAIL
0822-0182 For 97-13 Tour-Pak® w/ or w/o speakers $79.95
 

PASSENGER DRINK HOLDER FOR TOUR-PAK®

•Innovative design, made for passenger convenience and comfort that’s easy to install
•CNC-cut and machined from high-quality steel
•Drink holder rotates to the side and is hidden under the Tour-Pak® armrest pad when not in use
•Accepts tapered cups and most plastic bottles/​cans with use of the supplied foam Koozie
•Made in the U.S.A.

0636‑0078

0822‑0182



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1792

ROADRUNNER 
DRINK HOLDERS
•All Leader hardware is 
machined aluminum and chrome-plated;  
available in chrome finish or black

•Leader hardware features a patented slot-and-lug  
design that makes all parts interchangeable

•Ring features faceted lug to allow six different angles
•”Cup” kits include newly redesigned mug that will not spill 
and keeps drinks hot or cold

•”Insert” Kits include canvas “Ultra-Snap” insert with special 
gripping bands for cans, water bottles, coffee cups, etc.

•Universal versions or for left side or right side of all  
96-17 Harley-Davidson handlebar controls with 11/2” screw spacing

•Made in the U.S.A.

PART # DESCRIPTION
SUG. 

RETAIL
0636-0018 No mount, chrome $45.95
0636-0093 No mount, black 45.95
0636-0028 W/ mount to fit most 84-17 H-D® clutch or brake  

perch, chrome 69.95
0636-0083 W/ mount to fit most 82-17 H-D® clutch or brake perch, black 69.95
0636-0029 W/ mount to fit most 84-17 H-D® clutch or brake perch, 

black/​chrome 69.95
0636-0030 W/ 7/8” and 1” handlebar mount, chrome 59.95
0636-0085 W/ 7/8” and 1” handlebar mount, black 59.95
0636-0031 W/ 7/8” and 1” handlebar mount, black/​chrome 59.95
0636-0032 W/ 11/4” handlebar mount, chrome 59.95
0636-0087 W/ 11/4” handlebar mount, black 59.95
0636-0033 W/ 11/4” handlebar mount, black/​chrome 59.95
0636-0034 W/ Mirror mount for all models without hydraulic clutch 

reservoirs (except models w/ fairing mounted  
mirror), chrome 69.95

 

CUP HOLDERS
•Brushed stainless-steel insulated cup
•Rubber-lined ring keeps cup from vibrating
•Infinite adjustment with Ciro ball-mount design

PART # DESCRIPTION
SUG. 

RETAIL
0636-0017 No mount, chrome $45.95
0636-0092 No mount, black 45.95
0636-0019 W/ mount to fit most 84-17 H-D® clutch or  

brake perch, chrome 69.95
0636-0082 W/ mount to fit most 82-17 H-D® clutch or brake perch, black 69.95
0636-0020 W/ mount to fit most 84-17 H-D® clutch or brake perch, 

black/​chrome 69.95
0636-0021 W/ 7/8” and 1” handlebar mount, chrome 59.95
0636-0084 W/ 7/8” and 1” handlebar mount, black 59.95
0636-0022 W/ 7/8” and 1” handlebar mount, black/​chrome 59.95
0636-0023 W/ 11/4” handlebar mount, chrome 59.95
0636-0086 W/ 11/4” handlebar mount, black 59.95
0636-0024 W/ 11/4” handlebar mount, black/​chrome 59.95
0636-0025 W/ Mirror mount for all models without hydraulic clutch 

reservoirs (except models w/ fairing mounted mirror), 
black/​chrome 69.95

 

DRINK HOLDERS
•Hold virtually any can, bottle or cup secure with 
a contoured rubber net

•Infinite adjustment with a Ciro ball-mount design
•Rubber-lined ring keeps your can or bottle from vibrating
•Soft rubber net won’t scratch if it comes in contact with paint

PASSENGER CUP HOLDERS
•Brushed stainless steel insulated cup
•Rubber-lined ring keeps cup  
from vibrating

•Infinite adjustment with Ciro ball 
mount design

PASSENGER  
DRINK HOLDERS
•Hold your drink secure with 
a contoured rubber net

•Infinite adjustment with Ciro 
ball mount design

•Rubber-lined ring keeps your 
can or bottle from vibrating

•Soft rubber net won’t scratch if it comes 
in contact with paint

•Patent pending

NOTE: �Will fit 98-13 FLHTC if equipped with 
H-D accessory rear speaker kit.

PART # DESCRIPTION
SUG. 

RETAIL
0603-0549 16 oz. stainless 

steel mug $20.95
 

STAINLESS STEEL MUG
•Stainless steel for that classic look
•Insulated to keep drinks hot/​cold
•Holds 16 ounces
•Won’t spill
•Shatter resistant
•Easy open with one hand/ 
​one click

•Leak-proof lid
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
INSERT KITS
0603‑0272 Ultra‑Snap insert only $20.95
 

CHROME 
PART #

SUG. 
RETAIL

BLACK 
PART #

SUG. 
RETAIL DESCRIPTION

UNIVERSAL CUP KITS
0636‑0066 $80.95 0636‑0067 $75.95 Roadrunner PLUS w/ Travel mug for 1” to 11/4” handlebars
0636‑0068 65.95 0636‑0069 60.95 Roadrunner PLUS w/ Travel mug for brake/​clutch mounting
UNIVERSAL INSERT KITS
0636‑0070 85.95 0636‑0071 80.95 Roadrunner PLUS w/ ultra snap drink holder for 1” to 11/4” handlebars
0636‑0072 70.95 0636‑0073 65.95 Roadrunner PLUS w/ ultra snap drink holder for brake/​clutch mounting
 

0636‑0017
0636‑0019

0636‑0022

0636‑0069

0636‑0070

0636‑0029

0636‑0031

0636‑0036 0636‑0026

PART # DESCRIPTION SUG. RETAIL
0636-0036 For 14-16 FLHTCU/ FLHTK/​FLHTKSE,  

15-17 FLTRU/​FLTRUSE/​FLHTCUTG, chrome $79.95
0636-0089 For 14-16 FLHTCU/ FLHTK/​FLHTKSE,  

15-17 FLTRU/​FLTRUSE/​FLHTCUTG, black 79.95
0636-0035 For 98-13 FLTCU, 10-13 FLHTK, 08-13 FLHTCUSE, 

09-13 FLHTCUTG, chrome 79.95
0636-0091 For 98-13 FLTCU, 10-13 FLHTK, 08-13 FLHTCUSE, 

09-13 FLHTCUTG, black 79.95
 

PART # DESCRIPTION SUG. RETAIL
0636-0027 For 14-17 FLHTCU/ FLHTK/​FLHTKSE,  

15-17 FLTRU/​FLTRUSE/​FLHTCUTG, chrome $79.95
0636-0088 For 14-17 FLHTCU/ FLHTK/​FLHTKSE,  

15-17 FLTRU/​FLTRUSE/​FLHTCUTG, black 79.95
0636-0026 For 98-13 FLTCU, 10-13 FLHTK,  

08-13 FLHTCUSE, 09-13 FLHTCUTG, chrome 79.95
0636-0090 For 98-13 FLTCU, 10-13 FLHTK,  

08-13 FLHTCUSE, 09-13 FLHTCUTG, black 79.95
 



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1793

PART # DESCRIPTION SUG. RETAIL
WITH BASKET
0603-0400 W/ 1” dia. handlebar clamp $59.99
0603-0514 W/ 11/4” dia. handlebar clamp 59.99
0603-0522 For most 84-17 H-D clutch or brake perch mounts 69.99
WITH STAINLESS STEEL MUG
0603-0403 W/ 1” dia. handlebar clamp 59.99
0603-0406 W/ 11/4” dia. handlebar clamp 59.99
0603-0402 W/ mount for most 84-16 H-D clutch or brake perch mounts 69.99
0603-0405 Repl. 12 oz. stainless steel mug 18.99
 

UNIVERSAL  
DRINK HOLDERS
•Clamps to the handlebar 
or the clutch/​brake perch 
and holds an average-size 
cup, can, bottle or mug

•Quick-detach mount 
leaves a simple clamp 
when not in use

•Clamp allows beverage to 
swivel when needed

•Choose either universal 
basket holder style or 
stainless steel mug with 
mounting ring

PART # DESCRIPTION SUG. RETAIL
0603‑0360 W/ stainless steel mug $39.99
 

PART # DESCRIPTION SUG. RETAIL
0603‑0361 W/ basket $39.99
 

SNAP-AND-GO DRINK HOLDER
•Quick, easy, secure way to ride with your 
favorite beverage

•Secure, quick-release snap mount leaves only 
an unobtrusive stud on the handlebar when 
the mug or basket is removed

•Mounts to clutch or brake perch on most 
84-17 H-D models, or to a 1” diameter 
handlebar using universal clamp

•Available with stainless steel mug or mesh 
basket drink holder

PART # DESCRIPTION SUG. RETAIL
SNAP-N-GO BEVERAGE CARRIER WITH MOUNT
0603-0414 W/ mount to fit clutch or brake perch on most 84-17 H-D models $59.99
0603-0411 W/ 1” dia. handlebar mount 49.99
0603-0412 W/ 11/4” dia. handlebar mount 49.99
SNAP-N-GO BEVERAGE CARRIER ONLY (DOES NOT INCLUDE MOUNT)
0603-0401 Snap-N-Go pouch and drink ring only (works with Küryakyn Universal Perch mount or 1” diameter handlebar mount) 35.99
0603-0451 Snap-N-Go pouch only 9.99
 

BEVERAGE CARRIERS
•Easy on/​off snap design
•Made from PVC leather
•Drink pouch is collapsible for storage
•Beverage carrier only allows you to update any ring-style Kuryakyn drink holder with the Snap-n-Go drink carrier

PART # DESCRIPTION SUG. RETAIL
0603‑0454 W/ beverage carrier $59.99
0603‑0517 W/ basket 69.99
 

PART # DESCRIPTION SUG. RETAIL
0603‑0518 W/ stainless steel mug $69.99
 

MIRROR-MOUNTED  
DRINK HOLDERS
•Mount to left-side mirror for  
easy access

•Easily mounts under mirror stem 

NOTE: �Fit all models with a cable 
clutch with mirror mount 
(except Street Glides or others 
with fairing-mounted mirrors).

0603‑0454 0603‑0517 0603‑0518

0603‑0414 0603‑0411

0603‑0401

0603‑0451

0603‑03610603‑0360

0603‑04020603‑04030603‑0400



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1794

PART # DESCRIPTION SUG. RETAIL
0603‑0288 Passenger drink holder w/ basket $69.99
0603‑0289 Passenger drink holder w/ stainless steel mug 69.99
 

PASSENGER DRINK HOLDERS
•Fasten securely to the passenger grab rails on Touring models
•Two styles are available: a mounting ring with stainless mug or 
a basket that will hold just about any can, bottle or cup

•The clamp fastens securely to the 1/2” diameter passenger grab rails 
found on FLHT and FLHR models or can be mounted universally on any 
1/2”, 5/8” or 3/4” tubing

PART # DESCRIPTION SUG. RETAIL
FOR 98‑13 FLHTCU, 10‑13 FLHTK, 08‑13 FLHTCUSE, 09‑13 FLHTCUTG
0603‑0362 W/ stainless steel travel mug $79.99
0603‑0410 W/ drink holder basket (right side) 79.99
0603‑0516 W/ drink holder basket (left side) 79.99
 

PASSENGER DRINK HOLDERS
•Non-intrusive, easy-to-reach design
•Chrome finish looks great and lasts
•Easy bolt-on installation
•Available with stainless steel mug or 
universal basket

•Holder with mug mounts to right side

NOTE: �Will fit 98-13 FLHTC if equipped with 
H-D accessory rear speaker kit.

PART # DESCRIPTION SUG. RETAIL
0822-0217 For 14-17 FLHTCU/​FLHTK/​FLHTKSE/​FLHTCUTG $79.99
 

RIGHT-SIDE PASSENGER DRINK HOLDER
•Featuring durable chrome plating that is made to last, this passenger drink holder 
looks as good as it works

•Includes all necessary mounting hardware

0603‑0362 0603‑0410

0603‑02890603‑0288

PART # DESCRIPTION SUG. RETAIL
2040‑1790 “LightStick” cycle stick $19.95
 

“LIGHTSTICK” CYCLE STICK
•Electronic LED flare that can be seen from a mile away
•Mounts to the lid of tour packs to provide exceptional lighting
•Available in a chrome finish
•Sold each
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0603‑0099 Handlebar mount clock $48.95
 

HANDLEBAR MOUNT CLOCK
•Chrome housing
•Clamp fits 7/8” and 1” diameter handlebars
•Includes all necessary mounting hardware

NOTE: �Uses SR626SW battery.

PART # DESCRIPTION SUG. RETAIL
FOR 7/8” AND 1” HANDLEBARS
2212‑0429 Clock $54.95
2212‑0428 Thermometer 54.95
 

PART # DESCRIPTION SUG. RETAIL
FOR 11/4” HANDLEBARS
2212‑0431 Clock $54.95
2212‑0430 Thermometer 54.95
 

HANDLEBAR MOUNT CLOCKS AND THERMOMETERS
•Feature brushed aluminum/​black faces
•Bezel and mount are chrome-plated
•Gauge faces can be rotated to any position to give the proper  
viewing angle

•Measure approximately 11/2” in diameter x 13/4” long 
•Available for 7/8”, 1” and 11/4” handlebars
•Sold each

2212‑0429 2212‑0430



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1795

PART # DESCRIPTION
SUG. 

RETAIL
6” x 9”
USA-FLG American $11.95
DIX-FLG Dixie 11.95
POW-FLG POW-MIA 11.95
0521-0440 Jolly Roger 11.95
0521-0972 Air Force 11.95
0521-0973 Army 11.95
0521-0974 Navy 11.95
0521-0975 Marine Corps 11.95
0521-0976 Firefighter 11.95
0521-0983 Coast Guard 11.95
0521-1016 Don’t Tread On Me 11.95
0521-1017 Christian 11.95
0521-1084 Police Thin Blue Line 11.95
0521-1227 Air Force (wings) 11.95
0521-1228 Pink Ribbon 11.95
0521-1229 Shriner 11.95
0521-1230 Navy Jack 11.95
0521-1231 Blue Star 11.95
0521-1232 Gold Star 11.95
0521-1233 EMS “Star of Life” 11.95
0521-1383 All Gave Some, Some Gave All 11.95
 

PART # DESCRIPTION
SUG. 

RETAIL
6” x 9” (CONT)
0521-1384 Killed in Action,  

Wounded in Action $11.95
0521-1385 Retired U.S. Air Force 11.95
0521-1386 Retired U.S. Marine Corps 11.95
0521-1387 U.S. Army Ranger 11.95
0521-1388 Retired U.S. Army 11.95
0521-1389 Retired U.S. Coast Guard 11.95
0521-1390 Retired U.S. Navy 11.95
0521-1452 Come And Take 11.95
0521-1453 United We Stand 11.95
0521-1478 Second Amendment 11.95
0521-1479 911 Never Forget 11.95
0521-1480 Second Amendment 

Homeland Security 11.95
0521-1481 Support Our Troops 11.95
10” x 15”
0521-0026 American 15.95
0521-0027 POW-MIA 15.95
0521-0441 Jolly Roger 15.95
0521-0977 Air Force 15.95
0521-0978 Army 15.95
0521-0979 Navy 15.95
 

PART # DESCRIPTION
SUG. 

RETAIL
10” x 15” (CONT)
0521-0980 Marine Corps $15.95
0521-0981 Firefighter 15.95
0521-0984 Coast Guard 15.95
0521-1018 Dixie 15.95
0521-1019 Don’t Tread 15.95
0521-1085 Police line 15.95
0521-1391 All Gave Some, Some Gave All 15.95
0521-1392 Killed in Action,  

Wounded in Action 15.95
0521-1393 Retired U.S. Air Force 15.95
0521-1394 Retired U.S. Marine Corps 15.95
0521-1395 U.S. Army Ranger 15.95
0521-1396 Retired U.S. Army 15.95
0521-1397 Retired U.S. Coast Guard 15.95
0521-1398 Retired U.S. Navy 15.95
0521-1454 Come And Take 15.95
0521-1455 United We Stand 15.95
0521-1482 Second Amendment 15.95
0521-1483 Never Forget 15.95
0521-1484 Second Amendment 

Homeland Security 15.95
0521-1485 Support Our Troops 15.95
 

FLAGS
•Double-sided flags hold up to  
highway speeds

•Woven polyester fabric and double 
stitched seams for long lasting durability

•Made to go over a 3/8” pole
•Choose from 6” x 9” or 10” x 15” flags
•Made in the U.S.A.

0521‑1393 0521‑13980521‑14810521‑1480

0521‑14790521‑14780521‑14530521‑14520521‑1389

0521‑1383 0521‑1384 0521‑1386 0521‑1387 0521‑1388

0521‑1229 0521‑1230 0521‑1231 0521‑1232 0521‑1233

0521‑1016 0521‑1017 0521‑1084 0521‑1227 0521‑1228

0521‑0440 0521‑0972POW-FLGDIX-FLGUSA-FLG

0521‑0973 0521‑0974 0521‑0975 0521‑0976 0521‑0983



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1796

PART # DESCRIPTION
SUG. 

RETAIL
HORIZONTAL BAR MOUNTS
0521‑1078 3/8” fixed mount $46.95
0521‑1077 1/2” fixed mount 46.95
0521‑1081 1/2” folding mount 66.95
0521‑1079 5/8” fixed mount 46.95
0521‑1075 3/4” fixed mount 46.95
0521‑1076 7/8” fixed mount 46.95
 

PART # DESCRIPTION
SUG. 

RETAIL
VERTICAL BAR MOUNTS
0521‑1083 1/2” round bar $56.95
0521‑1082 5/8” round bar 46.95
0521‑1073 5/8” square bar 36.95
0521‑1074 .6” square bar 36.95
 

PART # DESCRIPTION
SUG. 

RETAIL
LICENSE PLATE MOUNT
0521‑10801 23/4” spacing between 

mounting holes $46.95
EXTENDED BASE FOR HORIZONTAL TOUR PACK OR 
AIR WING RACK
0521‑1381 1/2” round bar 46.95
0521‑1382 5/8” round bar 46.95
1	 Will not fit MN, NY or AK plates.

FLAG MOUNT BASES
•Made from high-quality 303 stainless steel
•Hand polished to a mirror finish
•Allow for easy customization between flag 
mounts, flag size, flag design, pole size and pole topper design

•Designed to be used with Pro Pad flags, poles and flag toppers
•Four mounting styles to choose from: license plate mount, horizontal bar mounts, 
vertical bar mounts and extended base style for the 1/2” or 5/8” round bar commonly 
found on the Tour Pack luggage rack or the detachable Air Wing rack

•Easy installation (includes mounting tools)
•Sold each
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0521‑0028 13” pole $16.95
 

PART # DESCRIPTION SUG. RETAIL
0521‑1086 9” pole $12.95
 

STAINLESS FLAG POLES
•Replacement 3/8” diameter stainless steel pole is interchangeable with all existing flag mounts
•Fit the larger flags (10 x 15)
•Available in 13” and 9” pole sizes
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0521‑1065 Air Force $19.95
0521‑1066 Army Crest 19.95
0521‑1067 Army Star 19.95
0521‑1068 Fire 19.95
 

PART # DESCRIPTION SUG. RETAIL
0521‑1069 Eagle $19.95
0521‑1070 Marine 19.95
0521‑1071 Navy 19.95
0521‑1072 POW 19.95
 

PART # DESCRIPTION SUG. RETAIL
0521‑1456 Lodge $19.95
0521‑1457 Police 19.95
0521‑1458 Shriner 19.95
 

PART # DESCRIPTION SUG. RETAIL
0521‑1486 Coast Guard $19.95
0521‑1399 Red LED 74.95
 

FLAG POLE TOPPERS
•Highly polished stainless steel with double-sided, full-color round emblems or an LED cluster
•Screw onto most flag poles 1/2” deep with 1/4”-20 threads
•LED Topper PART #0521-1399 features a Custom Dynamics LED cluster and a disconnect pigtail with Positaps®

•Sold each
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
13”
0521‑1006 Air Force $33.95
0521‑1007 Army star 33.95
0521‑1008 Fire 33.95
0521‑1009 Marine 33.95
 

PART # DESCRIPTION SUG. RETAIL
13” (CONT)
0521‑1010 Air Navy $33.95
0521‑1011 POW 33.95
0521‑1027 Army crest 33.95
0521‑1088 Eagle 33.95
 

PART # DESCRIPTION SUG. RETAIL
9”
0521‑1020 Air Force $29.95
0521‑1021 Army star 29.95
0521‑1022 Army crest 29.95
0521‑1023 Fire Fighter 29.95
 

PART # DESCRIPTION SUG. RETAIL
9” (CONT)
0521‑1024 Marine $29.95
0521‑1025 Navy 29.95
0521‑1026 POW 29.95
0521‑1087 Eagle 29.95
 

FLAG POLES WITH TOPPER
•Replacement stainless steel pole with full-color round emblem
•Available in 9” and 13” pole lengths
•Will fit any flag mount with a 3/8” diameter mounting hole
•Sold each
•Made in the U.S.A.

0521‑1080

0521‑1082
0521‑1075

0521‑1071

0521‑1065 0521‑1066 0521‑1067 0521‑1068 0521‑1069 0521‑1070

0521‑1072 0521‑13990521‑1456 0521‑1457 0521‑1458 0521‑1486

0521‑1020 0521‑1021 0521‑1022 0521‑1023 0521‑1024 0521‑1025 0521‑1026 0521‑1087

0521‑0028



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1797

SADDLEBAG BAR FLAG MOUNTS 
WITH FLAG
•Bolts to 3/4” saddlebag bars found on 
larger Harley-Davidson bikes; bore fitting 
makes a strong hold without cracking 
chrome on the bag bar

•Made of polished stainless steel
•Includes an American flag
•Other flags  
also available; 
sold separately

•Available with 6” 
x 9” flag or 10” x 15” flag

•Made in the U.S.A.

AIR WING® RACK FLAG 
MOUNTS WITH FLAG
•Rear flag mount attaches to 
vertical mounting bar of the Air Wing® 
Harley-Davidson luggage rack

•Allows use of entire rack for luggage
•Includes American flag
•Other flags also available; sold separately
•Made in the U.S.A.

TOUR PACK RACK 
FOLDING FLAG 
MOUNTS WITH FLAG
•Bolts directly to bar on 
Harley-Davidson Tour Pack 
racks on most classics

•Folds down easily to avoid poking 
a hole in bike cover;  
push-button places mount in folded 
position, solid stainless pin locks 
mount in upright position

•Made of polished  
stainless steel

•Includes an  
American flag

•Other flags  
also available,  
sold separately

•Made in the U.S.A.

EXTENDED-STYLE 
LUGGAGE RACK FLAG 
MOUNTS WITH FLAG
•High-quality solid 303 stainless  
steel construction

•Fit 1/2” or 5/8” horizontal round bars 
commonly found on the Tour Pack luggage 
rack or detachable air wing rack

•Mounts extend outward from racks to make 
a little more room for bags

•9” pole with standard cone topper
•Choice of 6” x 9” or 10” x 15” American flag
•Sold each
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0521‑0223 POW‑MIA $18.95
 

PART # DESCRIPTION SUG. RETAIL
0521‑0224 American $18.95
 

PART # DESCRIPTION SUG. RETAIL
0521‑0225 Dixie $18.95
 

ANTENNA FLAG MOUNT 
KITS WITH FLAG
•Easily and securely mounts flags 
to antennas

•Will not work its way up antenna 
at highway speeds

•Heavy-duty nylon rod and nylon 
clamps keep mount securely 
attached to your antenna

•Choice of American, POW-MIA 
and Dixie flag

•Flags measure 6” x 9”
•Other flags also available;  
sold separately

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
EXTENDED STYLE 1/2” ROUND BAR LUGGAGE RACK MOUNTS
0521‑1258 W/ 6” x 9” flag $59.95
0521‑1259 W/ 10” x 15” flag 74.95
EXTENDED STYLE 5/8” ROUND BAR LUGGAGE RACK MOUNTS
0521‑1379 W/ 6” x 9” flag 59.95
0521‑1380 W/ 10” x 15” flag 74.95
 

PART # DESCRIPTION SUG. RETAIL
FOR SOFTAIL, SPORTSTER AND DYNA GLIDE
RFMSQ W/ 6” x 9” flag $49.95
0521‑0022 W/ 10” x 15” flag 64.95
 

SQUARE RACK FLAG 
MOUNTS WITH FLAG
•Polished 304 stainless steel 
mount bolts directly to 
the square 5/8” sport racks 
on Softail, Sportster and 
Dyna Glide

•Mount, as well as pole, can 
be easily detached  
via a small setscrew

•Includes an American flag
•Other flags also available; 
sold separately

•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0521‑0883 W/ 6” x 9” flag $69.95
0521‑0952 W/ 10” x 15” flag 84.95
 

PART # DESCRIPTION SUG. RETAIL
RFMFXD2 W/ 6” x 9” flag $63.95
0521‑0025 W/ 10” x 15” flag 74.95
 

FIXED FLAG MOUNTS  
WITH FLAG
•Polished 304 stainless steel flag mounts 
bolt to 7/8” bars for the license plate 
frame on Road Kings, Road Glides  
and Classics

•Small setscrew secures pole in 
mount and can be easily removed for 
changing flags

•Bore fitting for a strong hold without 
cracking the chrome of your bar

•Includes an American flag
•Other flags also available;  
sold separately

•Made in the U.S.A.
PART # DESCRIPTION SUG. RETAIL
RFMPL W/ 6” x 9” flag $59.95
0521‑0024 W/ 10” x 15” flag 74.95
 

RFMFXD2

0521‑0223 0521‑0224 0521‑0225

Mount

0521‑0023

0521‑0952

0521‑0024

0521‑0022

0521‑1258

PART # DESCRIPTION SUG. RETAIL
9” WITH 6” X 9” FLAG
RFMFLD For 1/2” bars $79.95
0521‑0422 For 5/8” bars 84.95
 

PART # DESCRIPTION SUG. RETAIL
13” WITH 10” X 15” FLAG
0521‑0023 For 1/2” bars $95.95
0521‑0431 For 5/8” bars 101.95
 



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1798

PART # DESCRIPTION SUG. RETAIL
0521‑1012 W/ 6” x 9” flag $59.95
0521‑1014 W/ 10” x 15” flag 74.95
 

LICENSE PLATE FLAG MOUNTS WITH FLAG
•Fit most license plates (23/4” between mounting holes) 
(will not fit MN, NY, or AK)

•Can be mounted on either side
•All stainless steel
•Come with flag, pole and mounting hardware
•Other flags also available; sold separately
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
FOR 1/2” SQUARE SISSY BARS
RFMSQSB W/ 6” x 9” flag $49.95
0521‑0196 W/ 10” x 15” flag 64.95
FOR 5/8” ROUND SISSY BARS
0521‑0778 W/ 6” x 9” highway flag 59.95
0521‑0779 W/ 10” x 15” parade flag 74.95
 

SIDE MOUNT SISSY BAR  
FLAG MOUNTS WITH FLAG
•Polished 304 stainless steel flag mount bolts directly to 
the square 1/2” and 5/8” round sissy bars on most Softails, 
Sportsters and Dynas

•Mount, as well as pole, can be easily detached via a small setscrew
•Includes an American flag
•Other flags also available; sold separately
•Available with 6” x 9” flag or 10” x 15” flag
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
WITH 6” X 9” FLAG
0521‑0226 For 1/2” bars $59.95
0521‑0425 For 3/8” bars 59.95
0521‑0428 For 5/8” bars 59.95
 

PART # DESCRIPTION SUG. RETAIL
WITH 10” X 15” FLAG
0521‑0227 For 1/2” bars $74.95
0521‑0434 For 3/8” bars 74.95
0521‑0437 For 5/8” bars 74.95
 

TOUR PACK SOLID FLAG MOUNTS WITH FLAG
•Excellent alternative to plastic flags that mount on the side of the pack
•Made of hand-polished stainless steel
•Pole is removable to easily change flags or put away for storage
•Includes an American flag
•Other flags also available; sold separately
•Includes Allen keys for easy installation
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0521‑0996 For standard saddlebag rails on FLHTC and FLHTCU, and optional H‑D saddlebag rails on FLHR, FLTR and standard FLHT models $109.99
 

SADDLEBAG RAIL FLAG 
MOUNT WITH FLAGS
•Machined aluminum flag mount 
for strength

•Single bolt tightens the two 
mount clamp halves around the 
saddlebag guard

•Includes 12” and 18” flagpoles,  
9” x 14” Crossbones, American 
and POW flags

•Sold as a kit

PART # DESCRIPTION SUG. RETAIL
0521‑0916 Luggage rack flag mount $79.99
 

LUGGAGE RACK FLAG MOUNT WITH FLAG
•One-piece design for added durability
•Improved, reinforced ratcheting system allows you to adjust the angle of the flag without tools
•Includes 4” x 9” American flag
•Flagpole is 12” L
•Fits 1/2” diameter round tubing
•Sold each

0521‑0428

0521‑0196

0521‑0778

0521‑1012



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1799

FLAGS
•Double-sided, heavy-duty polyester flags
•Fit 3/8” poles; include O-ring
•PART #9001-0003 measures 51/2” H x 8” W; PART #9001-0004 measures 6” H x 9” W

HARD BAG 
MOUNTED SINGLE 
FLAG HOLDER KIT
•This high-quality flag 
holder has a polished 
stainless steel pole and 
is chrome-plated

•Made to be mounted 
on Harley style hard bags without interfering 
with the Tour Pak, and features a more 
upright pole angle from the base and finial

•Superstrong adhesive stick-on design, with 
optional through-bag stud, guaranteed to 
stay put

•Remains sturdy at highway speeds
•Accommodates 6” x 9” flags and includes clips 
to keep flag in place (flag not included)

LICENSE PLATE MOUNTED  
DOUBLE FLAG HOLDER KIT
•Designed specifically for Street Glides/​Road Glides 
that have the “lay-down” style license plate

•Won’t ever rust or tarnish and will last a lifetime
•Won’t bend or flex, easily mounts to all license plate holders while 
remaining sturdy at highway speeds 

•Made from stainless steel and hand-polished to a brilliant finish
•The two poles are topped with chrome finials, will accommodate 6” x 9” 
flags and include clips to keep flags in place at the top of the poles

•Flag not included
•Made in the U.S.A.

TELESCOPING FLAG POLE AND ACCESSORIES
•Telescoping flag pole extends from 18” to 6 feet tall  
in seconds

•Uses positive twist-locks in each section
•Collapses small enough to fit in most saddlebags
•The bottom section is 11/4” in diameter and slides snugly into all of Rivco’s parade flag holders
•Made from lightweight and strong aircraft aluminum tubing
•Silver anodized finish, quick-release flag mounting clips, topped off  
with gold-tone finial

NOTE: �Meant for parade use only, maximum speed of 25 mph.
OPTIONAL TRIPLE CHROME-PLATED ADD-ON FLAG HOLDER SOCKET
•Bolts on optional Tri Glide flag holder mounting plates (PART #0521-1171)
•Sockets hold up to 11/4” poles, are machined at a 15° angle to their bases, and can be rotated 
and tightened to display flags – angled to the rear, sides, diagonally or any combination

•Accents Rivco Harley® Tri Glide bumper
•Sold each (can use one or two with set of Rivco Tri Glide flag holder mounting plates 
(PART #0521-1171))

•Compatible with Telescoping flag pole (PART #0521-1173)

OPTIONAL FLAG MOUNTING BUMPER PLATES
•Optional plate set for flag mounting
•Bolt on to Rivco’s H-D Tri Glide bumper, PART #0530-1327; see page 1638
•Triple-chrome-plated billet aluminum
•Work with PART #0521-1172
•Sold as pair, can use one or both

LED TAIL AND BRAKE LIGHT SET
•LED tail and brake light set for the Rivco Harley tri-glide bumper
•Extremely bright LED tail and brake lights provide additional safety
•Each light contains 16 LEDs in triple-chrome-plated waterproof 
housings with polished stainless steel brackets

•Includes wiring and easy to follow instructions
•Bolts to provided holes on Rivco tri-glide bumper (PART #0530-1327)
•Factory bumper requires drilling

ANTENNA FLAG  
MOUNT WITH FLAG
•Kit allows you to quickly and 
securely install a 6” x 8” flag 
to your bike’s antenna

•Includes American flag and 
blank white flag you can  
customize with your own design

PART # DESCRIPTION SUG. RETAIL
0521‑0946 Antenna mount kit $19.99
 

PART # DESCRIPTION SUG. RETAIL
0521‑0947 Vertical flag mount $69.99
 

VERTICAL FLAG  
MOUNT WITH FLAG
•Mount fits most luggage  
racks or any 1/2” diameter 
round tubing

•Angle of flag pole is vertical 
(non-adjustable) 

•Includes 6” x 11” American flag

PART # DESCRIPTION
SUG. 

RETAIL
0521‑0862 3/4” vertical flag 

mount kit $69.99
 

FLAG, POLE AND HOLDER
•Fly the flag with pride
•Stylized holder with adjustable 
angle clamps sturdily onto any 
3/4” diameter tubing

•Includes 1/2” diameter flagpole 
for a blended, one-piece look, 
or insert your own flagpole – 
tapered holder will secure 1/4” to 
3/8” diameter flagpole

•Includes 11” x 6”  
American flag

PART # DESCRIPTION SUG. RETAIL
9001‑0003 POW/​MIA $6.95
 

PART # DESCRIPTION SUG. RETAIL
9001‑0004 U.S.A. $6.95
 

PART # DESCRIPTION SUG. RETAIL
0521‑1173 Telescoping flag pole $44.95
0521‑1171 Optional flag mounting bumper plates 89.95
0521‑1172 Optional add‑on flag holder socket 47.95
2010‑1249 LED tail and brake light set 129.95
 

2010‑1249

0521‑1171

0521‑1172

PART # DESCRIPTION SUG. RETAIL
0521‑1174 Fits Harley models with 

hard saddlebags $44.95
 

PART # DESCRIPTION SUG. RETAIL
2030-0810 For 10-17 FLHX/​FLTRX models $59.95
 

PART # DESCRIPTION SUG. RETAIL
2030‑0515 License plate mounted double flag holder $49.95
 

LICENSE PLATE MOUNTED  
DOUBLE FLAG HOLDER
•High-quality flag holder and poles made from 
stainless steel that has been hand-polished to 
a brilliant shine; will never rust or tarnish

•Easily mounts to all license plate holders and will remain sturdy even 
at highway speeds

•Accommodates 6” x 9” flags (not included)
•Includes clips to keep flags in place at pole tops
•Made in the U.S.A.

9001‑00049001‑0003

0521‑1173



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1800

PART # DESCRIPTION SUG. RETAIL
1901‑0122 Diamond $48.95
 

PART # DESCRIPTION SUG. RETAIL
1901‑0123 Honeycomb $48.95
 

PART # DESCRIPTION SUG. RETAIL
1901‑0153 Round $48.95
 

AIR FLOW MESH KITS
•Easy to install, do-it-yourself kit
•Large 18” x 18” mesh is enough to cover radiators and bodywork vents
•Lightweight aluminum mesh in diamond, honeycomb and round
•Stylish and functional
•Can be polished, painted or powder-coated to achieve many different looks while adding style and protection
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
0618‑0002 Small Zombie emblems $18.99
 

PART # DESCRIPTION SUG. RETAIL
3550‑0154 Large Zombie emblems $19.99
 

ZOMBIE MEDALLIONS
•Put them anywhere – peel-and-stick application
•Large medallions require 2” of flat surface for installation;  
are direct replacement emblems for Zombie saddlebag latch emblems

•Small medallions require 1” of flat surface for installation; are direct  
replacement emblems for Zombie levers, windshield trim, footpegs and floorboards

•Sold in pairs

PART # DESCRIPTION SUG. RETAIL
DS‑110910 Leather and chrome conchos $29.95
 

LEATHER/​CHROME CONCHOS
•Quality leather and chrome conchos make ideal trim for 
saddlebags, seats, jackets, chaps and vests

•Easy mounting; just tie on
•Sold in packs of five
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
BADGES WITH LOGO
4320‑1449 Brass $7.95
4320‑1451 Black Ops 7.95
 

PART # DESCRIPTION SUG. RETAIL
BADGES WITH LOGO (CONT)
4320‑1453 Contrast Cut $7.95
 

PART # DESCRIPTION SUG. RETAIL
BADGES WITHOUT LOGO
4320‑1450 Brass $7.95
4320‑1452 Black Ops 7.95
 

RSD BADGES
•Stick on badges to fit RSD products
•RSD Branded and Covert (non-branded) badges
•Available in Black Ops™, Contrast Cut™ and brass
•Sold in 6-pks; gas caps not included
•Made in the U.S.A.

1901‑0122

1901‑0153

1901‑0123

4320‑1449

4320‑1450

4320‑1451

4320‑1452

4320‑1453

3550-0154

0618‑0002



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1801

STICK-ON EMBLEMS
•Polyresin construction
•Emblems sold as each 
measure 3” W x 3.75” L 
x .5” D; emblems sold in 
pairs have a right and left 
side and measure 2.7” W x 
7.5” L x .3” D

•Easy peel-and-stick installation
•Versatile interior/​exterior use

PART # DESCRIPTION SUG. RETAIL
4320‑1532 Piston Skulls, ea. $14.99
4320‑1533 Eagle, ea. 12.99
4320‑1535 Iron Cross Skulls, ea. 12.99
 

PART # DESCRIPTION SUG. RETAIL
4320‑1536 Eyeball Skull, ea. $12.99
4320‑1537 Retro Biker Skull, ea. 12.99
4320‑1538 Tribal Skull, 2‑pk. 19.99
 

PART # DESCRIPTION SUG. RETAIL
4320‑1539 Flaming Skull, 2‑pk. $19.99
4320‑1540 Flaming Eagle Skull, 2‑pk. 19.99
 

PART # DESCRIPTION SUG. RETAIL
12” X 12” DECAL SHEETS
4320‑1247 Gray Flame Skull set $10.99
4320‑1249 Butterfly set 10.99
6” X 18” DECAL SHEETS
4320‑1259 Feathered Eagle Set 10.99
3” X 10” DECALS
4320‑1263 Mechanic Girl 5.99
4320‑1267 Pinstripe Devil Babe 5.99
4320‑1268 Pinstripe MC Babe 5.99
4320‑1269 Pinstripe Jester 5.99
4320‑1271 Angel Babe 5.99
 

PART # DESCRIPTION SUG. RETAIL
3” X 10” DECALS (CONT)
4320‑1272 Devil Babe $5.99
4320‑1274 Skull Bite 5.99
4320‑1276 Biker Babe Bandana 5.99
4320‑1277 USA Flag Set 5.99
4320‑1279 USA Eagle Left 5.99
4320‑1283 Skull N Roses 5.99
4320‑1285 Pink Flames Right 5.99
4320‑1286 Pink Flames Left 5.99
4320‑1294 Race Reaper set 5.99
4320‑1295 Flaming Skulls Right 5.99
 

PART # DESCRIPTION SUG. RETAIL
6” X 8” DECALS
4320‑1297 Bombs Away set $5.99
4320‑1299 Spark Plug Girl set 5.99
4320‑1300 USA Pinup Girl set 5.99
4320‑1308 Spade Pinup 5.99
4320‑1309 Peek A Boo Skull 5.99
4320‑1316 Biker From Hell 5.99
4320‑1320 Helmet Skull set 5.99
4320‑1321 Racing Skull 5.99
4320‑1322 Jack in the Box set 5.99
4320‑1323 Pinstripe Pinup 5.99
 

DECALS
•High-quality decals are available in a size and 
design perfect for any application

4320‑1532 4320‑1533 4320‑1535 4320‑1536 4320‑1537 4320‑1538 4320‑1539 4320‑1540

4320‑1247 4320‑1249

4320‑1259 4320‑1263 4320‑1267 4320‑1268 4320‑1269 4320‑1271

4320‑1272 4320‑1274 4320‑1276 4320‑1277 4320‑1279 4320‑1283 4320‑1285 4320‑1286 4320‑1294 4320‑1295

4320‑1297 4320‑1299 4320‑1300 4320‑1308 4320‑1309 4320‑1316

4320‑1320 4320‑1321 4320‑1322 4320‑1323



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1802

SINGLE- 
POCKET RACK
•Single-pocket rack allows 
manuals to be positioned 
adjacent to replacement 
parts and accessories

•Measures 9” W x 11” H x 5” D

MOTORCYCLE REPAIR MANUALS
•Whether it’s simple maintenance or complete 
restoration, don’t start work without Clymer,  
the leader in service manuals

•Save yourself time and frustration with these 
procedures and techniques used by the professionals

•Comprehensive manuals contain exploded views, 
drawings, specifications and charts to illustrate each job

•Feature shortcut repairs and high- 
performance modifications

PART # DESCRIPTION
SUG. 

RETAIL
4201‑0203 For 06‑09 FLHT/​FLT $51.95
4201‑0136 For 99‑05 FLHT/​FLT 36.95
4201‑0146 For 00‑05 FLST/​FXST 49.95
4201‑0100 For 84‑98 FLHT/​FLT/​FXR 49.95
M421 For 84‑99 FX/FL,  

FXST/​FLST 36.95
4201‑0198 For 06‑10 FLST/​ 

FXST/​FXCW 51.95
 

PART # DESCRIPTION
SUG. 

RETAIL
4201‑0174 For 91‑98 FXD $36.95
4201‑0121 For 99‑05 FXD/​FXDWG 36.95
4201‑0214 For 06‑11 FXD 51.95
4201‑0221 For 04‑13 XL 51.95
4201‑0169 For 86‑03 Sportster 49.95
4201‑0178 For 02‑14 VRSC Series 47.95
 

PART # DESCRIPTION SUG. RETAIL
C‑6 24‑manual display rack (free w/ purchase of 20 manuals) $9.95
C‑9 36‑manual display rack (free w/ purchase of 30 manuals) 12.95
 

DISPLAY 
RACKS
•Showcase your 
service and repair 
manuals for 
optimum sales

PART # DESCRIPTION SUG. RETAIL
HM‑DR18 Single‑pocket rack $4.95
 

MOTORCYCLE  
REPAIR MANUALS
•Manual is based on 
a complete teardown and 
step-by-step rebuild

•Covers everything from 
changing an oil filter to 
a complete engine rebuild

PART # DESCRIPTION SUG. RETAIL
HM‑DR1 5‑pocket rack, holds 15 manuals $12.95
 

COUNTERTOP 
FIVE-POCKET 
RACK
•Each pocket holds 
three manuals

•Measures 9” W x 22” H 
x 14” D

PART # DESCRIPTION
SUG. 

RETAIL
HM‑DR2 Freestanding rack,  

holds 32 manuals $24.95
 

PART # DESCRIPTION
HM‑DR‑36 Rotating rack, 

holds 72 manuals
 

ROTATING 
RACK
•Free-standing 
with 72 front-
facing pockets

•Each pocket holds 
two manuals

•Measures 24” L x 70” H x 24” D

PART # DESCRIPTION SUG. RETAIL
HM‑DR8 Pegboard rack, holds  

30 to 35 manuals $9.95
 

PEGBOARD RACK
•Rack attaches to pegboard and holds 
30 to 35 manuals

•Measures 24” W x 15” H x 10” D

4201‑0072

C‑6

4201‑0203

PART # DESCRIPTION
SUG. 

RETAIL
HM‑2478 Covers all 99‑10 Twin Cam $45.95
4201‑0072 Covers 70‑99 Shovelhead and Evolution 

Big Twins 45.95
4201‑0038 Covers all 70‑10 Sportsters 45.95
 

FREESTANDING 
RACK
•This freestanding  
rack has 16 front-
facing pockets

•Each pocket holds 
two manuals

•Measures 18” W x 56” H x 23” D



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1803

PART # DESCRIPTION
9903‑0286 Display unit
9903‑0287 Display mounting plates for Fats/​Slims
9903‑0288 Display mounting plates for Sportshields
9903‑0289 Display mounting plates for Batwing Fairing PART #2330‑0017
9903‑0290 Display mounting plates for Batwing Fairing PART #2330‑0023
 

TRIGGER-LOCK  
WINDSHIELD DISPLAYS
•Attention-grabbing display for 
increasing your profits on Memphis Shades windshields

•Display utilizes a genuine Trigger-Lock shield mounting 
system so customers can be shown how quick and  
easy Memphis Shades fairings and shields can be  
attached or removed

•Hangs on slatwall or gridwall
•Durable aluminum and thermoformed plastic
•Made in the U.S.A.

WHAT TO ORDER
•Order choice of display mounting plates and the display

NOTE: �Fats/​Slims, Sportshields and Batwing Fairings must be purchased separately.

9903-0286

9903-0287

PART # DESCRIPTION
MEMFAN Memphis Shades color fan
 

COLOR FAN
•Made by Memphis Shades, these 
windshield color chips are bolted 
together so you can fan them 
out and show your customers 
available color options

•Compact eye-catching sales tool 
fits in palm of hand and  
attracts attention

•Made in the U.S.A.

PART # DESCRIPTION
MEM0950 Display mannequin
 

MANNEQUIN AND 
WINDSHIELD HOLDER
•Actual size fork/​
headlight store display 
fixture for Memphis 
Shades windshields

•Hangs on slatwall  
or gridwall

•Durable aluminum 
and thermo- 
formed plastic

•Use to display or 
demonstrate windshields

•Acrylic windshield holder for 
mannequin is also available; updates the mannequin 
so you no longer need handlebars or hardware to 
display windshields

•Made in the U.S.A.

PART # DESCRIPTION
MEM0965 ABS holder
 

ABS HOLDER 
FOR WINDSHIELD 
INSTALLATION
•Convenient temporary 
holder for plastic or 
hardware installation

•Protects windshield 
from scratching  
during installation

•Made in the U.S.A.

WINDSHIELD SIZING GUIDE
•It’s like 20 windshields in one – every profile is clearly outlined so that a customer can look at every Memphis Fats/​Slim and Sportshields 
in each size available, all at once

•Take the guesswork out of fitting windshields for customers
•Hold the sizing guide above the motorcycle’s headlight and let the customer decide exactly which style of windshield they want
•All sizes and styles of Memphis Shades windshields are clearly  
marked on this fantastic sales aid

•Intended for dealer use only
•Made in the U.S.A.

PART # DESCRIPTION
9001‑0001 Sizing guide
 

9903‑0287 9903‑0288

9903‑0290



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1804

PART # DESCRIPTION SUG. RETAIL
9903‑0534 Seat material display $49.95
9903‑0535 Book of replacement material swatches 21.95
 

DRAG SEAT 
MATERIAL DISPLAY
•Display showing material 
swatches for Drag 
Specialties seats

•Book of replacement 
swatches also available; sold separately

PART # DESCRIPTION SUG. RETAIL
DS‑800108 Drag banner, 11/2’ x 4’ $15.95
DS‑800109 Drag banner, 21/2’  x 8’ 25.95
 

DRAG SPECIALTIES DEALER BANNERS
•Two-color plastic exterior banner with four eyelets
•Sold each

PART # DESCRIPTION SUG. RETAIL
DS‑900998 Bar stool $84.95
9904‑0981 Repl. seat 49.95
 

BAR STOOL
•Features a three-color Drag Specialties logo on 
the seat

•Highly polished chrome-plated pedestal
•Great for store counter or the shop
•Replacement seat available separately; measures 
91/2” across with a bolt pattern of 4/7,5”

•Some assembly required; replacement seat 
includes all mounting hardware

•Made in the U.S.A.

DRAG SPECIALTIES 
FLOORMAT
•Features a large three-color 
Drag Specialties logo

•Measures 24” W x 40” L
•Made in the U.S.A.

PART # DESCRIPTION SUG. RETAIL
DS‑800115 3” decal (50‑pk.) $15.95
DS‑800116 6” decal (50‑pk.) 34.95
DS‑800117 9” decal (10‑pk.) 27.95
DS‑800118 12” decal (10‑pk.) 27.95
DS‑800111 24” decal (ea.) 11.95
DS‑800119 42” decal (ea.) 39.95
9904‑0908 4” Drag Specialties Oil (25‑pk.) 4.95 (ea.)
 

DOOR/​TRUCK DECALS
•Show your loyalty
•Work great on windows, trailers and trucks

PART # DIMENSIONS SUG. RETAIL
9904‑0260 7” x 23.5” $39.95
 

DRAG SPECIALTIES  
METAL TACKER SIGN
•Promotional metal tacker sign
•Made from die-cut and embossed 
.025” aluminum

PART # DESCRIPTION
9901‑1957 2017 FatBook catalog
 

PART # DESCRIPTION
9901‑1760 2016‑2017 OldBook catalog
 

DRAG SPECIALTIES CATALOGS

PART # DESCRIPTION SUG. RETAIL
4201‑0266 Catalog rack $243.95
4201‑0267 Repl. 1” binder rack ‑
4201‑0268 Repl. 2” binder rack ‑
4201‑0269 Repl. 3” binder rack ‑
 

CATALOG RACK
•Organize and display your catalogs for 
easy access

•Constructed of heavy-gauge metal  
with end wings for long life

•Inclined 30° for easy viewing
•Includes three 3” sections, four 2” 
sections and three 1” sections;  
replacement sections also available separately

•Made in the U.S.A.

NOTE: �One catalog rack free with a $2,000 shippable order.  Limit one 
per order, maximum of three per dealer.

PART # DESCRIPTION SUG. RETAIL
9904‑0983 Floormat $80.00
 

4201‑0268

4201-0266

9904‑0908
DS‑800111

DS‑900998

9903‑0535

9903‑0534

PART # DESCRIPTION
9903‑0138 Drag Specialties lighted sign
 

DRAG SPECIALTIES LIGHTED SIGN
•This eye-catching, back-lit sign is screen printed 
with bright inks

•Vacuum-formed polystyrene plastic light box is 
illuminated by one 18” straight flourescent bulb 
with a styrene face panel

•Measures approximately 22” L x 12” H

PART # DESCRIPTION
9904‑0425 Drag Specialties 

re‑order inventory tags
 

RE-ORDER 
INVENTORY TAGS
•Remember what Drag 
Specialties parts you need 
to restock with these 
re-order inventory tags

PART # DESCRIPTION
9904‑0922 Hang tags
 

HANG TAGS
•Multicolor tags have 
space for color, size, 
price, PART # and 
manufacturer

•100 plastic tag  
locks included

PART # DESCRIPTION
9904‑0932 Large shopping bags
 

BAGS
•Heavy-duty, 2-mil 
plastic shopping bags

•Feature Drag colors 
and emblem,  
patch handles

•Box of 100

PART # DESCRIPTION SUG. RETAIL
9905‑0030 Wristwatch $79.95
 

DRAG SPECIALTIES 
WRISTWATCH
•Quality Japanese  
quartz movement

•Black silicone rubber band
•Includes battery (SW-626)
•Contact your Drag 
Specialties rep on how to 
get this watch at no charge



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1805

PART # DESCRIPTION
9903‑0022 Battery display rack
 

BATTERY DISPLAY RACK
•Holds a great selection of  
Drag Specialties batteries in less than 
two square feet of floor space

•Measures 241/2” L x 10” W x 47” H
•Easily assembled – no tools required
•Colorful header card included

NOTE: �Ask your Drag Specialties sales 
representative how to receive the 
battery display at no charge.

PART # DESCRIPTION
9903‑0104 Floor display
 

POP FLOOR 
DISPLAY
•The POP is 
a triangular grid  
floor display

•Each side measures 
5’ H x 2’ W

•Includes all necessary 
materials and hooks 
for assembly  
and display

PART # DESCRIPTION SUG. RETAIL
4030‑0009 10’ x 10’ Drag Specialties canopy $275.95
 

DRAG SPECIALTIES CANOPY
•10’ x 10’ Drag Specialties canopy
•The perfect item for any Drag Specialties dealer

PART # DESCRIPTION SUG. RETAIL
4030‑0014 (A) Plastic top corner fitting for std. corner leg $5.95
4030‑0015 (B) Plastic bottom fitting for std. corner leg (pull) 5.95
4030‑0016 (C) Plastic top cap for std. center pole 5.95
4030‑0017 (D) Plastic bottom fitting for std. center pole 5.95
 

PART # DESCRIPTION SUG. RETAIL
4030‑0018 (E) Plastic fitting for std. or HD crosspiece $5.95
4030‑0019 (F) Plastic foot for std. canopy leg 5.95
4030‑0020 (G) Plastic pull pin fitting for std. leg bottom collar 5.95
4030‑0021 (H) Plastic top fitting for std. center pole 5.95
 

REPLACEMENT PARTS FOR COLLAPSIBLE CANOPIES
•For Moose Racing canopy PART #4030-0007, Parts Unlimited canopy PART #4030-0008, 
Drag Specialties canopy PART #4030-0009 and Thor canopy PART #4030-0010

A

A

B

B

C

C

D DE

E

F

F

G

G

H

H

PART # DESCRIPTION
9903‑0325 Flare windshield display
 

FLARE WINDSHIELD  
“TRY IT BEFORE YOU 
BUY IT” KIT
•Kit includes four demo 
windshields and 4 
windshields to stock for sale

•Included are one each of:  
11.5” Clear Demo Flare, 8.5” Tint Demo Flare, 6.5” Dark Smoke Demo 
Flare, 3.5” Black Demo Flare, acrylic slat wall/​counter-top display,  
11.5” Tint Flare, 8.5” Tint Flare, 6.5” Dark Smoke Flare, 3.5” Black Flare 
and instructions/​selling tips sheet

•Contact your Drag Rep. for details
•Made in the U.S.A.

PART # DESCRIPTION
9905‑0016 Flare windshield display
 

FLARE WINDSHIELD 
DISPLAY  
WITH FLYER
•Eye-catching display for 
Flare Windshields

•Includes flyers
•Contact your Drag rep  
for details

PART # DESCRIPTION SUG. RETAIL
9904‑0768 Sign $21.95
 

METAL SIGN
•.025” die-cut aluminum sign
•Draw attention to display areas or window
•Measures 14” W x 17.5” H
•Made in the U.S.A.



www.dragnetweb.comSECTION 21

WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS

& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES &  
SUSPENSION

FENDERS 
& LICENSE 

PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

All part numbers in BLUE are new for 2017.
1806

PART # DESCRIPTION SUG. RETAIL
9904‑1116 Saddlemen sign $20.00
 

SADDLEMEN SIGN
•Embossed metal sign
•Features colorful Saddlemen logo
•Affix with included double-sided tape or hang with a tack

PART # DESCRIPTION
9903‑0501 Handlebar mount display
 

NPI DISPLAY HANDLE
•Allows for consumers to see  
Ram Mount Products in use

•Mounts a handle bar of your 
choosing to display

•No charge with qualifying 
purchase; see your sales  
rep for details

PART # DESCRIPTION
9903‑0424 Display legs
9903‑0425 Display base
 

PART # DESCRIPTION
9903‑0426 Display top, signs, brackets, hardware and instructions
 

VANCE & HINES SLIP-ON MUFFLER DISPLAY
•One of the best ways to put Vance & Hines Slip-On Mufflers in front of your 
customers is with these three PART #s

•PART #9903-0424 includes the eye-catching vertical legs; the heart of the display
•PART #9903-0425 is the display’s base that provides innovative tilt-n-roll mobility 
for easy placement almost anywhere

•PART #9903-0426 includes Vance & Hines literature holders along with all 
hardware and signage to display Twin Slash Round Mufflers, Monster Round 
Mufflers, Monster Oval Mufflers and Hi-Output Mufflers

•Also included are two 10-packs of the current brochures
•Contact your Drag Specialties sales rep to find out how to get this  
display at no charge

•Made in the U.S.A.

NOTE: Must order all three part #s for a complete display.

OIL FILTER WRENCH P.O.P. DISPLAY
•P.O.P. display showcasing Rivco’s oil filter wrench
•No charge with purchase of two 10-pack cards; see your  
sales rep for details (PART #3801-0166)

PART # DESCRIPTION
9904‑0864 Oil filter wrench P.O.P. display
 

PART # DESCRIPTION
9903‑0485 P.O.P. display
 

VO2 AIR INTAKE DISPLAY
•Display is perfect for counter top or shelf
•Allows customer a hands-on look at the 
high-performance VO2 air intake PART # DESCRIPTION

9903‑0486 Intake, exhaust,  
fuel mgmnt display

 

DISPLAY FOR 
INTAKE, EXHAUST 
AND FUEL 
MANAGEMENT
•Free-standing display 
makes it easy to explain 
the importance of balance 
between intake, exhaust 
and fuel management for 
ultimate performance

•Sell three products, not 
just one

9903‑0424



WINDSHIELDS 
& FAIRINGS

HANDLEBARS,
CONTROLS
& MIRRORS

CABLES

BRAKES

TANKS & 
OIL FILTERS

DASHES 
& GAUGES

FRAMES & 
SUSPENSION

FENDERS 
& LICENSE 
PLATE FRAMES

FOOTRESTS

WHEELS 
& AXLES

HARDWARE, 
COVERS & 
GENERAL

ELECTRICAL

LIGHTING

FUEL/AIR 
SYSTEMS

ENGINE

TRANSMISSION 
& DRIVELINE

GASKETS 
& SEALS

AUDIO  
& VIDEO

SADDLEBAGS 
& LUGGAGE

SEATS &  
SISSY BARS

EXHAUST

www.dragnetweb.com SECTION 21

All part numbers in BLUE are new for 2017.
1807

NGK WIRE 
DISPLAY RACK
•Holds 120 individual plug boxes and up to 12 
different part numbers

•Easy loading and dispensing
•Counter stand or slatwall mount
•Rugged steel wire rack with black 
powder-coat finish

•Measures 143/4” W x 133/4” H x 5” D

PART # DESCRIPTION
9903‑0312 Oil pump/​camplate display
9901‑0970 Repl. stickers (50‑pk.)
 

PART # DESCRIPTION
9901‑0971 Repl. flyers (50‑pk.)
 

OIL PUMP/​CAMPLATE DISPLAY
•Hand crank display demonstrating 
difference in friction between using 
a Feuling® oil pump/​cam plate and stock 
H-D oil pump/​cam plate

•Black, powder-coated with vinyl stickers
•Includes turning knob demonstration 
and brochure and sticker holders stocked 
with 50 flyers and 50 stickers; additional 50-packs of flyers and  
stickers also available (sold separately)

•See your Drag Specialties rep. on how to get this display at no charge

FLAG MOUNT 
P.O.P. DISPLAY
•Showcasing Pro Pad’s 
Flag Mounts and Flags

•No charge with 
qualifying purchase; 
see your sales rep  
for details

PART # DESCRIPTION
9903‑0154 Yuasa battery rack
 

YUASA BATTERY 
DISPLAY RACK
•Heavy duty steel 
construction with 
three large  
wire shelves

•Includes wheel-kit for 
easy mobility

•Shelf liners included
•Comes with  
removable  
application chart for 
easy updating

•Measures 37” W x  
62” H x 15” D

PART # DESCRIPTION
DIS‑506 Display rack
 

PART # DESCRIPTION
9903‑0459 Nelson‑Rigg cover display
 

COVER MERCHANDISER/​DISPLAY
•Base measures 18” x 18”; stands 5’ tall
•Informative header card includes two 
detailed product fitment charts and eye-
catching graphics

•Easy to assemble
PART # DESCRIPTION
9903‑0476 6‑hook wall‑mount 

display rack
 

DISPLAY 
RACKS
•Wall-mount 
display racks 
for DP Brakes

•Topped off by a DP Brakes header

PART # DESCRIPTION
9904‑0927 Flag mount P.O.P. display
 

PART # DESCRIPTION
9903‑0503 NGK cabinet
 

NGK 
DISPLAY 
CABINET
•Easy loading  
and dispensing;  
will hold over 600 plugs

•Convenient storage in 
door for application 
materials

•Mounts easily to any wall
•Rugged steel 
construction with gloss 
black finish

•Measures 18” W x 23” H 
x 8” D

BASSANI SIGN
•Embossed metal construction
•Predrilled holes for easy wall mounting
•18” x 101/4”

PART # DESCRIPTION SUG. RETAIL
9904‑0977 LA Choppers metal sign $34.95
 

LA CHOPPERS SIGN
•3-color LA Choppers logo
•Metal construction
•Measures 23.5” W x 
14.65” H

PART # DESCRIPTION SUG. RETAIL
9904‑1076 Bassani sign $27.95
 

PART # DESCRIPTION SUG. RETAIL
9904‑0976 Baron metal sign $28.95
 

BARON 
METAL SIGN
•3-color Baron logo
•Metal construction
•Measures 23.5” W x 5.87” H

9903‑0312


